HIWIN.

BHmESZEEMFS

Standard Single-Axis Linear Motor Stage
SSA

Technical Information

www.hiwinmikro.tw




HIWIN.

T340 RIEBH

mUERETe
Linear Motor Stage
BELIRE/ACIBIRA/
REML/EFHE5E

- BRI SE

o BRI E

o BRI S

© BRHMEAELTE

o X-YEE « BEPIRHEE

- BERESEEUTE

NIERELEREE

Torque Motor &

Direct Drive Motor

TE#

» JHEEE—TM-2/IM-2, TMRWZZ

IR/ HERA

- HEBEE—DMS, DMY, DMN, DMT
Ed]

mEREE

Linear Actuator

BEhF I mAR/ BB HHES / REFHE
R/ B S RE RS

- fRIBRENENRE — LAART

* LAMRZ

° LASK%!

* LANXF

« LACKR%

INDUSTRIE 4.0 Best Partner

R EE

Linear Motor

T B/ mERaRE/ SRR/

FHMITHE/ BRI E

o BEDTIRE—LMSA, LMSA-Z, LMFA,
LMFC, LMFP&%

o FEFOIURE —LMC, LMTHF)

ACEIAR F5Z&BREN 27
AC Servo Motor & Drive
HERER i/ TER/SMTIR A/
Bm#EEE/LCDRIE

- ERE)3Z—D1, D2T/D2T-LM, E1
* fAIAR B&3E—50W~2000W

B ERRE

Positioning

Measurement System

I E /AR T/ S AT g sUah L
- EAEEABERIRE

- RERRER

EZLIEEIN
Multi-Axis Robot
U SE /B /2T BT AL /88
HEBE/RETE/BRE
- E R TE

o EE SR T

o PRRIKRTFE

- ERE#EA

o BEIRM

c BERTHR

- HEEEEE

EEtEaR A
Single-Axis Robot
AT AR/
BB Bh1L/FPDEARIE
= KK, SK

* KS, KA

= KU, KE, KC

TRERIRIR

Ballscrew
BRIRE/EEEE

Super S %% (EDm-N{E/E&R1t)
Super T 7 ({125 /{EIRE)
U NEFREE R

E2 BRIRMBRE

R1 1208

Cool Type ERAEIRIEIRIZ

RD B DNEIREE & T
RGIEHR

Torque Motor SBE T &
Torque Motor Rotary Table
B/ RE T/ T MY/ AW

* RAB%%

* RASRI

« RCVR7I

* RCHZR%!

RSB
Linear Guideway
TEEEE/ BTG R R B
B —
HGE&FE, EGIEAALE, WERIRE,
MGH\EY, COR¥EE!
o BEL—
QHE &R, QEfRAREEE,
QWEIRE!, QRIZAEEY
o Hith—
RGEAFEY, E28ME, POEME,
SERMIHER, RCHRILE



HIWIN.

Motion Control and System Technology




Contents

BEHaxMtEEEMLTS

- SSA

HIWINE SR 1t BiEFRES 04 1B 045 5 HE < B I
BRI BA R RR TS 2 06 PR AR AE 32 A
EmEinE 08 . . .
e 12 Standard Smgle-Ax:s linear motor stage
LMSSA-08%5%! 14
LMSSA-10%7%! 22 l *
LMSSA-13%51 30 |
LMSSA-18%5 42 ’ 2 G"‘?
LMSSA-20%5%! 62 ®
80 mm 2048 N 5m/s £E =<x1pm
E BERBEE gﬂ B AR S 'I‘;l BAEE L BEERAE
EESEhas BAAC 1 P 2B 4 45 2R BH
BEAEIERES 83 SLREETS
E1&5IEEEN2S 84
D1 Z&5IEEHSS 90 -%mmﬁﬁﬁtgiﬁﬁ@%*TLﬂemmmwﬂuTZ%Eﬁ%ﬁﬁo
D2T-LMA5IEEH) 28 96 AN EESUEEEEEREEAENRAL  BESHAZARE -
AEIRA L AR 101 EREMMEETRS  BEEES
EIEIR L RAF 102

PR TR TS 2R PRI RLAI 25

RENZEGIEEE

Sl



HIWIN

MM16TC04-2202

HIWIN 5

SSA 5]

BB B REZEIAR(3.2kH 1B » B4R EMAEEIERIEREL o
R RIS S MR RSB RIRIER R E -
EHRREMERELE -

b / ~ /
‘gs-jgﬂ—’tfxff -
i .

)

I ERES R A

SRS E MhRShZE

FERRBEIEESE FER ESITIEI 223D FIEN
(—ARIRIR) (BRBEIRIR)

Standard Single-Axis Linear Motor Stage

LMSSA-13 S100-1- 800 - G53A-5-B-A0000

E@%‘rg[mm] FH@E
08 : 80 —% %
10 : 100 0000 : 1Z#
13: 135 5
18 : 185 BE
20 : 206 A KEEE
EiEEE B
S+ iy 5N
C : HEEEI0 S: fRFEE
HE S 4R ) B: E&
050, 100, 200, 300, 500, 700

. HShE
}FE= S : SHRIMNE
2: 871
1T R (mm 13 R 3 R
100~2700 A : NPN, NC
(100~1300 : 504 &/ \EE{iL& : 1300~2700 : E100AR/\EAIE) B : PNP NC
4RHESS
A : EAELSEER Hjéﬁgrglazﬁa\%ﬂl
D: iﬁt@ﬁ%ﬁ'f&t 3.3 : BIR4FIM / 4RIE2R4R 3M
E: iﬁﬁﬁﬁg Tum 5.3 : EIRAFOM / 4REESS4R 3M
G : BUUILE Tpm 7.3 : TIFAZTM [ 4REE2845 3M
K : BLfI£2 0.1um =
H : EWRARIEES (L) s
P : 4B E 0.5um (Biss-C) |, B DREE S BRI - HEASH PA-P.11 ERENE -

2. HRFESS AR A D-sub AHEIE - BH HIWIN RBENSIEREMBIERLE ©
3. RIGRIERZAIMEIER (26 P.100) » RE7E LMSSA FF&R ©
4 WIS RE ST HBAEIE - #BSHBLENREGHD 0.5m >

Bl : 42 3m->2.5m; 5m->4.5m; 7m->6.5m



HIWIN

HIWIN

MM16TC04-2202

IREIERIFZ TURRTS

e Techna

Calculation

Selection Web Mode

According the required motion condition to select the specification of the product.

>
~ , 1= —
LMSSA LM Metor AC Seive Mator Direct Dive Mitsr Reger Resistsr

Disclaimer : The real service life can be influenced by many factors, such as lubrication, assembly,envil
The above service life is only an estimation deduced from theoretical calculation.

Android apk Downloads (ssa)

Download B8

Selection PC Mode (LM Motor - Torque Motor)

Version 1.0.0.28
Specification selection software

Rescrpricn 05 : Windows 7 or above
File Size 146 ™ 2018/01/24 update
Installation =

O s=mzzrEm

1. Width of base 18 - 185mm V]

2 Number of

forerfundercre

=

5 sake o

4. Repeatability £3 um (E : Digital magnetic encoder Tum| v
pEr

1 Selecting *K- Digital optical encoder 0. 1um”, the maximun speed is-only 1.5m/s (with HIWIN drive).

4 O SIEPER
7l LMSSAERIFZT!

LMSSA-Standard Single-Axis lincar motor stage report

Stage spec : LMSSA-185200-1-1000-E5.3A-5-5-A0000

Drive spec: D2T-1023-5-C5-0L n
§ 1]

Part number of encoder cable :

Encoder extension cable-HEQOEIEDF200 T T

Customization description :

95.64
Time Chart
12
1
[nstallation Foizonial| o i
Eccentnc (e o i I
[Eccentric load-L; o] £os
Eccentic load L o ¥ ! ll
Without L
[Regen resistor sizing regen i “
resistor 0z ¥

Q@ mmeEmEE

2. Selecting “one of A: 1o K- plions”™ will be considered as Standard products; delivery ime is shorter than

e opfions
Eon cabies
(Discount price for package ceal)
% At [isail sensor
purchasing Ocontrol signai eabls(zonnect with host controlier)
ick the
o ClCommunisation cablefconnect with PC)
Dlpower supply filteriinstall he fikter ot the input side)
5.1 Divve type [s713 ] How ta selest suitsble drives
52
Communication Analog voltage command+Puise ~]
Pratosol
& Cable length 53 : Power cable 5M/ Encoder cable 3M v
&1 Encoder
‘extension cable 0 =
Remarks =

1. Encoder cable is able to customize the lengh snd the masimum length is 3 M, If you nesd more longer

cable, plesse purthsse an additional eable to extend the eable length

2 The e autpustis Mate D-sub
eable for oliocsted with HIWIN Drive
3. Cable length of limit switch : 0.3M fly leads for stroke?1500mim; 2M iy leads for stioke>1500mm.

7 Limit switch [ARPNNC v

8. Gaver S: Standard cover v |
= color S Aliminem v |

Q@ =EFEks

necessary to purthase an sdditional

RERTIE

REREN ST ZIM-BECEER

BHETATIRHV[AERN RELEAMRERELEER BBE1VRIH[MHAINGE
el RS RILR, UF R WAIRSRTHAE. SEERINIIREZE
ME-BHITREASEE TREAGBBERZF  EPIEIER-

#EEHREME.

EEEER T

Standard Single-Axis Linear Motor Stage

L EREF R BN IEH!

EHET-VCRSEHE 5
05 T B AR B R B

EfFE- MRA MR R EmR I

LD

Pick & Place  Positioning Pressing Gluing Laser

BRE 2N LEEER PR

OB EEEE 1 EEE 2 E E R M E R EE
EEEARZMAEETZHREN

B7

N

Scanning Positiening

E<1%, THEHEESAEENTREN,

(%) i St e e
w

2
0.99 1.1
0.95
HIWIN 0.87 =~ 07
: 0.44
0
10 50 100 200 EE (mm/s)

Big EeEhas ERESHE1E

HIWIN +

]

#HOXGEFE E1RF RN

1. U EAZEIERBREHSAH o
2. BRRRERERER  BREANBRIEHS o



HIWIN

MM16TC04-2202

HIWIN

Standard Single-Axis Linear Motor Stage

o P EEEn | ey TN | BRE7) BEEED RREE 52 (mm| = BRLREE | e K58k S AREEEY S
(mm) (N) (N) (m/s) (um) (M)
- D2T-400W
#F : 100~1400
050 52 112 5 P D1-36
H5)F . 100~1200 E1-400W
LMSSA-08S ’ 80 o [fffr:?iﬁﬁli
e D2T-TkW
100 104 | 224 | 5 Gos oD | AL 1-36
= [ #8E 40pum] BEE 3m /5m E1-TkW
K: aﬁii'ﬁ% 0.1um | 4EFESE 3m
N B .+ 1pm X BILHHRR D2T-400W
EBE)F 1 100~1400 | 4@ . +9 -
100 103 289 bt @87 - 100-1200 | 0 i 2HM . E D13
LMSSA-10S 0 T [4HE77 205N
BEF : 100~1300 ! [ EE 100mm] D2T-TkW
#Ho 200 205 579 A BT : 100-1000 B .+2um BE D1-36
@B . +hum E1-1kW
S D2T-1kW
100 103 | 289 | 44 a0 2T e maftat D1-36
D: $ELERG E1-1kW
[mﬂﬁlmm]
E3E 5m/7m o EiRITE
- . EIH . +3um 3 D2T-1kW
LMSSA-135 ’ 200 | 135 | 205 | 579 | 44 o2 | 1002600 feey eum R 3m vy D1-36
H BTl RE [ BEEE 135mm] F
BEBHF : 100~2500 D1-36
300 308 868 4.4 57 . 100~2100 E1-2kW




10 HIWIN

MM16TC04-2202

HIWIN

Standard Single-Axis Linear Motor Stage

. s E B | EE REIRE —xn BE ZEHRRE s
o e EaEn | mmay ToRs | BRED BRED | BREE #52 (mm) A= BRLREE | g0 K58k IS TREEEYS
(mm) (N) (N) (m/s) (um) (M)
. D2T-1kW
#F : 100~2700
100 103 289 A o D1-36
8T 1 100~2400 E1-1KW
_ e - o BEHEBEMR | p2T-1kW
LMSSA-185 | okt | 200 205 579 bt P i D1-36
: =HT . NBEgERTE | ETkW
A: $BEE 2
& © 100~ ( #MEE 40pm) i
300 | 185 | 308 | 868 4ok T 1002500 | R 0 1um Dist
= P. B 2
0.5um(BiSS-C)
4
s . Bt 1um D2T-1kW.
100 75 | 300 5 o 002100 g E2um - mANMEER | D1:3¢
== : wh E1-1kW
LMSSA-18C| -~ mgot | | o EEBREISHELE
g 0T G: BH{iIyt2 1pm (382 1% @10mm/s) DIT-1KW
B . 100~2500 1 o HEIEERATNR )
200 150 600 > KEF $100~2000 | B .+ 2um . BRE / ) e
e fRA5ES 3m "
R R K ATHRE | LA D2T-TkW
EBEEF : 100~2600 Re&
D: $ALEHEE o 2RFIFKHEN E1-1kW
( H&EE Tmm) ( EEHE 725N)
o i3 o AHBIMES
> - s EE)F : 100~2500 =oHm o BRI EEFSE) D1-36
LMSSA-20S | L~ #OX | 500 544 | 1535 | 2.2 @87 002000 I o) i
o BERMHBRFEAMN
H: EHARISZS Tk
. ( 25 30mm) . HEBEEEREE
BEIT © 100~2400 | . pmeg,n, D1-36
700 | 206 | 725 | 2048 = 23 su7 100100 RO S
&= . £7.5um
. D2T-400W
&% : 100~2600 o AHMIMES
100 91 364 5 e D1-36
€8+ . 100~2300 o (EIRBNEEISME(E E1-400W
(5R2 1% @10mm/s)
LMSSA-20C | wEEO .
‘;_/ o BEEMEFEAN
v EE)F 1 100~2500 T D2T-400W
200 145 580 2.8 EF : 100~2000 . NEEEREE D1-36

E1-400W

11



12 HIWIN HIWIN 13

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

FE m AR

S HrHE M HRHNE S hRS = M kR4 2
5hiE 5hiE Z /
ui
Model 085050 085100 105100 105200 135100 135200 135300 Model 185100 | 185200 & 185300 = 18C100 & 18C200 & 20S300 = 20S500 = 205700 = 20C100 | 20C200
Nz ) M S M S M S M S M S M S M BMEERR #o3t s=HOR #o3t Z=HOR
BEERE (mm) 160 260 160 260 160 260 360 NE S M S'M S M S'M S M S M S M S M S M S M
§ SBEEERRE (mm) 100 | 144 100 144 110 | 164 110 164 135 | 198 135 | 198 | 135 198 R BERE (mm) 180 240 370 180 370 240 370 470 240 370
[EEEEE (mm) 80 100 135 Rl SEEEEE (mm) 203|232 203 232 203 232203 | 232 203 1232 229 | 258|229 258|229 258 229 | 258 229 258
= (mm) 75 78 75 78 76 78 76 78 95 98 95 98 95 98 KEEE (mm) 185 206
EIEHES (N) 52 104 103 205 103 205 308 85 (mm)xits  88.7 93.7/88.7 93.7 88.7/93.7 88.7/93.7 88.7 93.7 91.7 94.7 91.7 94.7 91.7 94.7 91.7\94.7 91.7 94.7
BREFHEST (N) 112 224 289 579 289 579 868 EEHES (N) 103 205 308 75 150 362 544, 725 91 145
1712 100~1300mm( £ 50mm 2Z—#%EE ) ; 1300~2700mm( 45 100mm Z—#%EE ) = &2 BREHES (N) 289 579 868 300 600 1023 1535 2048 364 580
imiSeR LR 0.1pm/ BIALFE2 1pm/ BAIFEER 0. 1um/ BULREME 1pm/ BEEEREME Tpm 1712 100~1300mm ( £ 50mm Z—#%EE ) ; 1300~2700mm (£ 100mm B—HKEE ) = =2, e
- SR =1 — $ELEYEER 0. 1um/ BAIFEE Tum/ BAIFEER 0.1um/ BZREME 1um
1 o LR 1um/ BEHS 0.5um/ REEHIES 1um
TBYIREE s =1
38 BREE =1
KFEEGE 4 x5 4 +8 um/300mm (4742 1200mm B F ) s its &
TBENEE = as =1
BEHEIRE ) +8 um/300mm ({752 1200mm T ) &5 -
_ KFERE +8um /300 mm (4752 1200mm YT ) s
RARE [m/s) 5 5 5 5 | 44 | b4 b4 b4 4L | 4L bb4 | b4 b4 4 .
RIEGOEY BEEGE +8pum /300 mm (1742 1200mm ) xis
BEMEE kg) 1.6 18 25 3 1.9 2.1 3 34 29 34 42 52 59 75 =g
i ﬁ";’g’f_g/g b bb  bb b4 b4 445 5 5 5 22 2222 222323 5 5 28 28
BENEESE (kg) 31| 4 445662 81 3 39 5 69 64 7383 97 11 128/ 42|51 6 |74
N S Ll —
RiOBEENTEE
FEH Vertical (RO BERE RizE imEas FREE (um)  BEIERE (um) x a3
At EHRZ01um +1 +2 SefigEt
b VaksWadic] THE o
99 SR 1um 43 44 1.3/,JJ7'J'E§TZAE,.“HIWINMIKROSY?TEMM—E o )
2 MU RESHERSBEGERTR > BEESE BEERK 5E o
E: Bk 1pm +3 +6 3 ATER SR MENE > WINESTERE o
KT {Horizontal G:  BfIRE 1um +9 +4 4. FEHEL MSA-08810RFEEHRHE RS » BB BREEAHIWINGTE o
{ROBRE 5. KT/ EEEGERBEEAREHTHE > CHTRAEEERES
K:  BIX201um 1 +2 HIWINERfE o
ROEBHERCEATEMNTR  SRECECEOAMER o H: EWERES lum +75 a 6. BESEARERINEESKIBITE « &  BERITESEHTARE o
 BREERENTSHSHRER "ROBMAENHERE" 7. fBFIBRI0. 1y RS » SACEEE.5m/s o
- BB R R T AT BI82m/s o P:  BHNE05um £ e 8. SHRSLE » 712> 150085 » MEASERM20mm o




HIWIN

MM16TC04-2202

14

2= BE | St | RS | RRRE |BBHEE | 1712
SSA-08%&%5I-S BBE)F w2 N | N | ) | (k)| ()
SSA-08S050 ?i. *5!5 0 L RIBREE #HoX 52 112 5 1.6 100~1400
100~1400 (80mm]
I /v ) ° usibonsy /! 1
S 20 3x40=120 4-M4x0.7Px8DP
FELR/ EEER

2x(N+1)-M5x0.8P THRU, 28x4DP

2m or 4m, For HIWIN drive

HIWIN

Standard Single-Axis Linear Motor Stage

[:3:3 BiE | B | BEMED | RRRE | BBHMEE | 171
SSA_O8%§IJ_S 2@? fetid) (N) (N) (m/s) (kg) (mm)
SSA-08S050 ?i. *E% O 2 ZIBREE #oxt 52 112 5 1.6 x2 100-1200
100~1200 (80mm)
g ST 5
[are—r.. ) T ) [y
20 3x40=120 | \4-M4x0.7Px8DP ! 20 3x40=120 | \4-M4x0.7Px8DP

2x(N+1)-M5x0.8P THRU, @8x4DP 2m or 4m, For HIWIN drive

(BEBRENL)(L#HX-AMAERR, 2m or 4m, .

TH#R-AM581E) FiEHR HELR For HIWIN drive SEHR / WEHS/BRHR

75

(EEE = HEA)(LHN-FAM4igig, (7 # I b
10 T 8- FAM58REE) Index(optical E~
/ / / g
T /| ‘ : Lo
F .3 2 3= T 1= 3 ] L3 q 25
3 2 | A A / | =
ry ry ra - Y S Se
=
A +Limit 4-M5x0.8Px10DP 52
AREERS -
Near home limit
LA_| Nx150=LB
<= + Direction
LT
LT/2
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit)
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke)
085050-1-S
1712 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 |1100|1150|1200|1250|1300| 1400
LT 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050|1100| 1150|1200 (1250|1300 |1350|1400| 1450|1500 1550|1650
N 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10
LA 25| 50 | 75| 25 |50 | 75| 25 | 50 | 75| 25| 5 | 75|25 |50 |75 |25 |50 | 75| 25 |5 | 75|25 |50 |7 |25 |75
LB 300 | 300 | 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050|1050|1200( 1200|1200 1350| 1350| 1350|1500 1500
WEaER kg) | 63| 68| 72| 7.6| 80| 85|88 92 9.6 [10.0[105[10.9[11.2(11.6[12.1|125|12.9|13.3|13.6|14.1|145|14.9| 15.3| 15.8| 16.1] 16.9
s 4= s 3
& E B NE S ph AR E] 1712 B iR FZ ph AR E] RO & HEE BhHRE
SSA-085050 SSA-085050 SSA-085050
==| 0ad 1 kg Load 5 kg Load 10 kg == \/ertical Horizontal
— 60 6 12
o~
=40 = =
— o
.o > @
5 = o 6
C o >
3 > 3
<
0 0 0
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)
- BEH> 10k, FREBEMEREETRER(ZRP.)

AROBEHEENREV=1m/s B1TESH30000km &L
- ATHEREERSS, REEEHTEERETE0.02/300mmA

+
[}
o = NIER
S 5 T8
; ! 85
BERERESR X1 Index(optical) w5 |ndex optical 25
X1 Near home limit X2 Near home limit ég
4-M5x0.8Px10DP X1 -Limit imi 52
(BBBREL) 3590 — X2-Limit 35| 90 a=
160 160 4-M5x0.8Px10DP
LA Nx150=LB BRHHRER
X1 + Direction — > <=3 X2 + Direction
LT
10 (-Stopper) ST+10 (+Stopper)
5 (-Limit) ST+5 (+Limit)
ST ( Effective stroke) 125
It | !
f — : [ ——"
ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)

08S050-2-S
172 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000 | 1050|1100 | 1150 | 1200
LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150| 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650
N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 10 10
LA 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 1050| 1050 | 1200 | 1200 | 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1500
WEESE kg) | 9.2 | 9.6 | 10.0] 105|109 | 11.3 | 11.6| 12.1] 125|129 | 13.3 | 13.8| 14.1| 145 | 14.9| 153 | 15.8 | 16.2| 16.5| 16.9| 17.4 | 17.8 | 18.2

MRS EEA

LMSSA-085050-[]-[JL]LIL-LIL].[L I ]-S-B-A0000

HrYs

1:B8F
2: 85T

tH AR 18R
HHSBIP.5R9

17#2(mm)

100~1400:E8)F
100~1200: &8 F

15



16 HIWIN

MM16TC04-2202

HIWIN 17

Standard Single-Axis Linear Motor Stage

? == F EiE | EES BEEED | ReRE | BBHEE | 7R ?\gj EE@J F BiE | EEHS | BEEES | ReRE | BEEE | 718
SSA_08I \§IJ_M E@J ER (N) (N) (m/s) (kg) (mm) SSA_08I N I _M > R (N) (N) (m/s) (kg) (mm)
= . TNy 2 112 . - = . T . -
$9A-085050 | 77 2 O PRt #io 5 5 1.8 100~1400 55A-085050 | 45 52 - #HiDzt 52 112 5 1.8x2 | 100-1200
100~1400 © 2%7IS*=EE (80mm) 100~1200 © &2%5I5%EE (80mm)
— L . — "
H © \ \c L] L] L] \ \ ® H © ] ] ©
J ) ;e y 20 ﬂ3;0 1'20\ / 20 ?3;0 1°2o
]/ | ‘ I HJ,X;J 4-M4x0.7Px8DP 4.<LX;J 4-M4x0.7Px8DP
© =
20 | |3x40 120‘ 4-M4x0.7Px8DP 2x(N+1)-M5x0.8P THRU, 238x4DP
2x(N+1)-M5x0.8P THRU, @8x4DP (BRI ( BRI, 2m or 4m ﬁm iirl\‘/tVTN dri
Xx(N+1)-M5x0. , D8x \ - N - 3 E , > or rive
78 (BRI 7L)( L R -FIMALEAE, RRIE/ FALRR  om or 4m, For HIWIN drive TH-AMSRE) iR/ »-Eﬂiﬁ% For HIWIN drive FiE g/ W R
— N -FAMS. (—F L 78 —r T T
10 T#X-AM5RE) 1 P Index(optical) T 10 s Mit (
/ [ s ———3 [ /[ gﬁ ) / L / T
L i i 23 L 7 [ ~ g
\ T O
o R P Ml + + + + + o2 ¥ R P ¥ +\\ * t + \Te + $s
o| < Sl o0 ™| < oS =] o]
o 4\ + + + + + |\ # 5g o + o 4+ )|+ + + e o+ o
] | I Sg ] | ] 8g
] 7/ T T 7/ E’g 7/ //Eﬁ z 'cglé-
. N - ) Las N . a
AR N\ Limit 35|90 4@M§g§¥;€DP Limit BEREERESR X1 Index(optical) X2 Index(optical 2
160 4-M5x0.8Px10DP X1 Near home limit X2 Near home limit -
_ Near home limit BEBREA) 35 90 A1 Near home limit 35| 90 4-M5x0.8Px10DP
LA Nx150=LB Near home limit | ety
— 160 X1 -Limit X2 -Limit 160 (BEEMREA)
<= + Direction LA Nx150=LB
LT i .
— X1 + Direction — > <= X2 + Direction
ST/2+10 (+Stopper) ST/2+10 (-Stopper) LT
10 (-St T+10 (+St
ST/2+5 (+Limit) ST/2+5 (-Limit) 0 (-Stopper) ST+10 (+Stopper)
ST/2 (} Effective stroke) ST/2 (} Effective stroke) 5 (-Limit ST+5 (+Limit)
/] /] ST ( Effective stroke) 125
\ \ | | \ \ /L1 /L 1l
Ao ) e e s\ \ 2 M | [
125 | . il
\ ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
085050-1-M 085050-2-M
432 (ST) | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 |1100| 1150|1200 | 1250|1300 | 1400 #742(sT) | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050|1100 | 1150 | 1200
LT 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000| 1050|1100 | 1150|1200 |1250| 1300|1350 | 1400|1450 | 1500 | 1550|1650 LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 1000|1050 | 1100|1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650
N 2|22 |33 |3|4|4|as|s5 |55 66| 6|7 7|7]8|8|8]9]|9]|9]10]10 N | 3| 3| 4|4 4|55 |5 )66 6| 7|77 88|89 9o]9]|w0]|10]10
LA 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 75 LA 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 300 | 300 | 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050 1050|1200 |1200| 1200|1350 1350|1350 | 1500 1500 LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050|1200 | 1200 | 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1500
WEAEB (ko) | 68| 73|78 82[87( 91|95/ 99|104|109]11.311.8[12.1]12.6|13.1]13.5|14.0 | 14.4|14.8|15.2[15.7| 16.2| 16.6|17.1| 17.4| 18.3 AT (ko) | 10.0 | 105 [10.9] 11.4 | 11.9 | 123 | 12.7 | 13.1| 13.6 | 14.0 | 145 15.0| 15.3 | 15.8 | 16.2 | 16.7 | 17.2| 17.6 | 18.0 | 18.4 | 18.9| 19.3 | 19.8
BHAEMEREDRZE TR E AR E R & B EE I EhiRE
SSA-085050 SSA-085050 SSA-085050
=== | 0ad 1 kg Load 5 kg Load 10 kg === \/ertical Horizontal
— 60 12
o
& — — —
£ K4 29
=40 E4 =
S = E
- = =}
£20 29 F NS ERER
o 2 3
<, . . LMSSA-08s050-[ -] ]CI-0J0].LJC]-M-B-A0000
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)
424808
E2RP.5&9
- SR> 10k, FARBEEEREEITRE(ZMEP.6) FFHE 1712 (mm)
- ROBEHBENBEV=1m/s B1TEF 30000k mAIEH 1:BHF 100~1300: B8 F
= gt T o~ 2: 85T 100~1000: &+
cATHEREERSS, REEEHTEERZT0.02/300mmA




HIWIN HIWIN
18 Mmi16TC04-2202

Standard Single-Axis Linear Motor Stage

oo R | E0ES | BRES | BRRE BhOEE| AR
SSA‘O8§§§U‘S EEHF am | [kgl S )

BE | EEMD BEESD | SReRE | BBHHNEE | 78
SSA-08%&JFI-S L&+ | & XN MU N Pt o

(mm)

SSA-085100 ?i’ *E O 2RYREEE D3t 104 224 5 25 100-1300 SSA-085100 ?i. *5 0 LRIIEEE #io 104 224 5 2.5x2 100-1000
100~1300 (80mm] 100~1000 (80mm]
e = 4]
) | ° ° - ) ° ° - | )i |
7= ! 7/ \
© 70 _| 3x40=120 4-M4x0.7Px8DP 70 _| 3x40=120, 4-M4x0.7Px8DP 3x40=120 4-M4x0.7Px8DP
2x(N+1)-M5x0.8P THRU, @8x4DP
(B EEpR 4 7L)( LS -FIMAtR#E, 2m or 4m 2m or 4m,
2x(N+1)-M5x0.8P THRU, @8x4DP N = TR - MBI FELR WEER { dri FIEHR  WERHAR R R For HIWIN drive
(BEBREAL)(LHR-AMRie, iR | R 2m or 4m, For HIWIN drive > ! For HIWIN drive m ; =
75 TH#RX-AM5RHE) @ . !é _ w 10 75 X1X2 +Limit g
10 Index(optical 2 — S~
10 ,4—2 . [ 27T
X / [ :,Ozg ] [R)
F 7 f f 7 q =8 o o T = T F g
ol w ¥ T = = T\—= 7 T = 2L | Y Y ~~ | 88
3 < l A\ A\ / | [l &g — ra) > | 3 58
g  S— = S —— 28 S =i ) ) = g2
m e —— O c g . =0
i % - = = — = - ; X1 Index(optical) ' Eo
WATEERRS +Limit 2x95=190 6-M5x0.8Px10DP 2 LRERES ndex(optical) y» |ngex(optical Es
== 260 (BBHREA) Limit - 6-M5x0.8Px10DP X1 Near home limit 6-M5x0.8Px10DP
Near home limit ggi‘;# é‘ﬂ X1 -Limit X2 Near home limit BRHBEEA)
LA Nx150=LB — BRHZEA) _ Limi -
35 2x95=190 X2 -Limit |35 2x95=190
< + Direction 260 260
LT
LA Nx150=LB
LT/2 ] . ] ]
ST/2+10 (+Stopper) ST/2+10 (-Stopper) X1 + Direction — > . <~ X2 + Direction
ST/2+5 (+Limit) ST/2+5 (-Limit) 10 (-Stopper) ST+10 (+Stopper)
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) 5 (-Limit) ST+5 (+Limit)
[/ /L |
{ : ST ( Effective stroke) 175
—— = — . T
\_ ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
085100-1-S 085100-2-S
1742 (ST) | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000{1050|1100| 11501200 | 1250 | 1300 1742 (ST) | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000
LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000{1050| 1100|1150 1200|1250 | 1300 [ 1350 | 1400 | 1450 | 1500( 1550|1600 1650 LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100|1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650
N | 23|33 |4| 4|4 |5 |5 |5 6667|7788 |89 ]9 ]9 |[10][10]10 N | 4|5 |5 |56 6| 6|7 7|7 |8|8/| 8|9 9|9 ]10]10]|10
LA 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 LA 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050{1050| 1200|1200 1200 | 1350 | 1350 [ 1350|1500 | 1500 | 1500 LB 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050 | 1050 | 1200 | 1200 | 1200| 1350 | 1350 | 1350 | 1500 | 1500 | 1500
HWAER (kg) | 81| 85|89 | 94|98 [10.1[105]10.9|11.4|11.8|12.2|125|13.0 | 13.4|13.8|14.2[14.7|15.0| 15.4|15.8|16.2| 16.7 | 17.1 | 17.4 | 17.8 HEER (kg) | 12.5 | 12.9 | 13.3 | 13.7 [ 14.0 [ 145 | 14.9| 153 | 158 | 16.2| 165 | 16.9 | 17.3 | 17.8| 18.2| 18.6 | 18.9 | 19.3| 19.8
B ENEE/RE 1712 B E AR E] RO & EEe I HhiRE
SSA-085100 SSA-085100 SSA-085100
=== | 0ad 1 kg Load 5 kg Load 10 kg === \/ertical Horizontal
— 60 12
o~
& ? —_ o —
S 29
=40 = =
S = D
= = [=}
§20 P z A& SR EA
8 2 3
<, 0 . LMSSA-08s100-[J-J]IC]-LJ0O].LIC]-S-B-A0000
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)
tH 474 RS
FH2HP.5&9
- ER#E-10kgh, FKEBEEERENETRR(ZMHP.6) HFHE 1712(mm)
- RO BN RIEV=-1m/s B1TEFH30000km B 1BETF 100~1300: 8887

= 5 2. 8B F 100~1000: & &7
- ATHEREERSS, REEEHTEERZHT0.02/300mmA



20 HIWIN

MM16TC04-2202

== BE | EEHH BERD | SeRE | BENEE 712
SSA-08%%I-M &)+ gy N | N | ms) | (kg | (mml
SSA-08S100 | 17 72 O FsErEEst #MO® | 104 224 5 3 100-1300
100~1300 © £RFISAEEE (80mm)
- \\ | [ ) \\
7] 2 F—— 7]
70 _| 3x40=120 4-M4x0.7Px8DP
2x(N+1)-M5x0.8P THRU, @8x4DP
. Egﬁ;ﬁ%gﬁﬁm MRz, “ FE R MEHAR 2m or 4m, For HIWIN drive
10 T M ¥4 H Index(optical) '::,
/[ — — /] E_
5 || || g
ol o g 3 ¥ ¢ + + + + +\ |+ T
o |7 T 4} + + + + + ) 28
] | ] SE
BREFRE N\ sLimit 35 2x95=190 GéMgiggZé;EDP Limit
260 Near home limit
LA Nx150=LB
<= + Direction
LT
LT/2
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit)
ST/2 (3 Effective stroke) ST/2 (3 Effective stroke)
/[ [ [
| | | [ | |

#ﬁ

085100-1-M
171 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050|1100|1150|1200| 1250|1300
LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050|1100{1150|1200|1250|1300| 1350|1400 1450|1500 |1550|1600| 1650
N 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10 | 10
LA 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050 1050|1200 1200 1200| 1350| 1350| 1350|1500 1500 | 1500
HWEaER kg) | 9.0 | 9.4 | 9.9 |10.3|10.8|11.1|11.6|12.1125[13.0[13.4(13.8|14.3|14.7|15.2|15.6| 16.1 | 16.4|16.9 | 17.4|17.8|18.3|18.7|19.1|19.5
kY /=10 3 S > Lp,
B BN E AR E 1TI2 B Hh AR E RO & #AE T Hh AR E]
SSA-085100 SSA-085100 SSA-085100
== 0ad 1 kg Load 5 kg Load 10 kg == \/ertical Horizontal
— 60 12
o~
& —_— —_ O —
£ 2 29
=40 = =
I} — o
S 2 S 6
B S =
20 =i &
S 2 3
<
0 0 0
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)

- ERH-10kgh, BRBEMERRENETRIRZHP)
AROBEHEENREV=1m/s B1TESH30000km &L
- ATHEREERSS, REEEHTEERETE0.02/300mmA

SSA-08%&5%I-M £€5)F
T8 omEtRA
100~1000 © 2%5IRF*EEE (80mm)

SSA-085100

Q|

:

©

2x(N+1)-M5x0.8P THRU, @8x4DP
(BEBREA)(LHK-AM4REE,

BE | EENS | BEHD | RERE

BEHESR | 1712

i) (N) (N) (m/s) (kg) (mm)
#Ho 104 224 5 3x2 100-1000

ad ° ° Y

=

3 °

70 | 3x40=120

77 77
4-M4x0.7Px8DP 70 | 3x40=120| \ 4-M4x0.7Px8DP

2m or 4m, N 2m or 4m,
TEX-FAM5i81E) FEHR  MEER For HIWIN drive FIELR / EEES ARHR For HIWIN drive
78 =
10 g
E_
a8 e
© Lo
o o o 3 * + AR N + 85
| < o Q :" m) 5
° + [t \\ + \\ +c + Se
SIS] | /[ |7/ =o»
= x Eo
BERRRRS X1 Index(optical) =~
6-M5x0.8Px10DP X1 Nv?aa-r home limit 6-M5X0;§PX1ODP
(BBHREN) X1 -Limit BBBREA)
X2 Index(optical)
3%, 2x95=190 X2 Near home limit / /35|, 2x95=190
260 X2 -Limit 260
LA Nx150=LB
X1 + Direction — > - <~ X2 + Direction
10 (-Stopper) ST+10 (+Stopper)
5 (-Limit) ST+5 (+Limit)
ST ( Effective stroke) 175
[/ 1] [/ I
i I [
175
‘ ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
085100-2-M
1742 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000
LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650
N 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 10 10
LA 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75
LB 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050 | 1050 | 1200| 1200 | 1200| 1350 | 1350 | 1350 | 1500 | 1500 | 1500
HEES (kg) | 14.0 | 14.5|15.0 | 15.4 | 15.8 | 16.2 | 16.7 | 17.1| 17.6 | 18.1| 18.4 | 18.9 | 19.3| 19.8| 20.2 | 20.7 | 21.1| 21.5 | 22.0

MRS EEA

LMSSA-08S100-[J-LJLICICI-L10].LJ[]-M-B-A0000

HrHys

1:B8F
2: 85T

tH#R 8RR
HHSBIP.5R9

17#2(mm)

100~1300:E8)F
100~1000:&&)F

HIWIN

Standard Single-Axis Linear Motor Stage

21



27 HIWIN

MM16TC04-2202

SSA_'I Og‘glj‘s ““@J BiE | EEH)  BEMEN ReRE BBHEE| 178
S EF g2 N | N | (s | kg | (mml
SSA-10S100 ?i. *?E O PkiEHE MR #HoX 103 289 A 1.9 100~1400
100~1400
; | ° .n.* i 1
I I
& 20 3x40=120_| \4-M4x0.7Px8DP
2x(N+1)-M5x0.8P THRU, @8x4DP
(BB R EA) (L EHX-AMR4E, BELR / BEER i
. Tﬁﬁiﬁ—ﬁﬁMSﬁ?ﬁ) p . LS : 2m or 4m, For HIWIN drive ~
10 \ T MD/ Index(optical g
s / el
° n 1 f . -
| ¥ hd N hd 1 7 hd -
8gl 83 \Y \§ / g8
Le - & )| Y ]| & il S ©
[ — = | — SE
| = == oS | 1 7 = 7/ ﬁ ég
- . +Limit 35| 90 4-M5x0.8Px10DP NCLimit J—
A RERER -
160 BBEHLEA Near home limit
LA Nx150=LB
<= + Direction
LT
LT/2
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit)
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke)
10S100-1-S
1T (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 {1000 |1050|1100(1150|1200{ 1250|1300 1400
LT 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 {1000|1050|1100|1150|1200|1250|1300|1350|1400|1450|1500|1550| 1650
N 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10
LA 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 75
LB 300 | 300 | 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 |1050|1050|1050|1200|1200|1200| 1350|1350 1350|1500 1500
HWEER (kg) | 74 | 7.9 | 85|88 | 93|99 [104[10.9(11.5|11.8[12.3]12.9|13.4|13.9|14.5(14.8|153|15.9|16.4]16.9|17.5|17.8]18.3(18.9|19.420.5
s — s s L
B S NEE dh AR E 1TT2 LR B AR E] R0 & HEE T Hh AR E]
SSA-10S100 SSA-105100 SSA-10S100
=] 0ad 1 kg Load 5 kg Load 10 kg == \/ertical Horizontal
— 60 12
o~
2 = _ -
£ 29
=40 = =
S = 3 s
= = o
o o =
20 S22 &
it 2 3
<
0 0 0
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)

- ERH-10kgh, BRBEMERRENETRIRZHP)
AROBEHEENREV=1m/s B1TESH30000km &L
- ATHEREERSS, REEEHTEERETE0.02/300mmA

SSA_1 Ogglj_s %@J? ;ﬁg'-i (N) (N)

SSA-105100

100~1200

HIWIN

Standard Single-Axis Linear Motor Stage

RIS | BARED

ReRE | BEHHEE| 72

2x(N+1)-M5x0.8P THRU, @8x4DP
(BEBLEA)(LHK-AMRE,
T 8- AM5IR1E)

76
8

100
60
[

100
120.5)

@
FE

) ~
| e

ClES S ]
4-M5x0.8Px10DP
(BBBREA)

(m/s) (kg) (mm)
T2 O FREHSNRT #os 103 289 b 1.9x2  |100~1200
o — :
© [{]
? ° .:.* I /I/I i /[/ ° .:.-h
20 | | 3x40=120, 4-M4x0.7Px8DP 20 3x40=120 4-M4x0.7Px8DP
2m or 4m, For HIWIN drive
N 2m or 4m, .
f FBIEHR  WELRE For HIWIN drive f FBIEHAR / W AR IR AR
1L 1 [r 1
(1 X1X2 +Limit C &

I AT f ). o — X

i Ad I Ad ¥ [ ¥ “E’
A\ N\ o=
\‘ e & \‘ Lo
resy 85
X1 Index(optical) X2 Index(optical =S

e o
X1 Near home limit X2 Near home limit E’ cg;
X1 -Limit X2 -Limit {35 90 | 52

160 160 4-M5x0.8Px10DP
(BEBLET)
LA Nx150=LB
X1 + Direction + Di i
—> i <= X2 + Direction

10 (-Stopper)

ST+10 (+Stopper)

5 (-Limit) ST+5 (+Limit)

ST ( Effective stroke)

ST ( Effective stroke)

ST+5 (+Limit)

5 (-Limit)

ST+10 (+Stopper)

10 (-Stopper)

105100-2-S
172 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000 | 1050|1100 | 1150 | 1200
LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650
N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 10 10
LA 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050| 1050 | 1200 | 1200 | 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1500
WaES (kg) | 108 11.3 | 11.8(12.2|12.7 | 13.3 | 13.8| 14.3 | 14.8 | 15.2| 15.7 | 16.3 | 16.8| 17.3| 17.8 | 18.2| 18.7| 19.3 | 19.8 | 20.3 | 20.8 | 21.2 | 21.7

MRS EEA

LMSSA-10S100-[J-LJJ0I0L]-LI0].LIL]-S-B-A0000

HrHys

1:B8F
2: 85T

tH#R 8RR
HHSBIP.5R9

17#2(mm)

100~1400:E8)F
100~1200: &8 F

23



2% HIWIN

MM16TC04-2202

HIWIN 25

Standard Single-Axis Linear Motor Stage

ERED | B | RREE BEBHEE | 1712

. . — , - ,
SSA-10&5%-M EBB)F | & *W7 "0 o e o SSA-10&R%5I-M £8)F | & 07 "0 e e o

(mm)
SSA-10S100 ?i’ *E O FkHEHZRNRT ot 103 289 b4 21 100~1400 SSA-10S100 ?i. *5 O EkiEHS/NRT #io 103 289 4.4 2.1x2 100-1200
100~1400 © mrsEtesRst 100~1200 © FrstEsRst
d ————— E
e} ©
ﬁ% AR — | )
/\ /\ RN /\ /\ 20 | |3x40=120| \ 4-M4x07Px8DP 20 | | 3x40=120 | \4-M4x0.7Px8DP
— ‘
© 20 3x40=120 N 2x(N+1)-M5x0.8P THRU, &8x4DP 2m or 4m, For HIWIN drive
S 4-M4x0.7PxEDP (BREbR % 2)( L 8- AMaaRse, \ _ \
T#RX-AM58248) SIEMR WAL 2m or 4m, BEHR/ WEHR ERHR
2x(N+1)-M5x0.8P THRU, @8x4DP FELR/ FEER 2 4m, For HIWIN dri For HIWIN drive 1
78 (B E SR EL)(E#HR-AMaRE, p— : é m or 4m, For rive 78 ; ]é N ( €
10 THA-AM5R1E) 'S nd el 10 X1X2 +Limit L W
naex(optica -~
/L [ L é i [ { f s
| 1 E- ° £
° 2 * + + + =5
o s 3 YL * * * * VRN sl g 33 t A\ 25
4° s \\ \\ gé T R + = + \ + ¢\\ +u — 4+ Téé
+ + + + + + + + 58 ° L8
o —_ | B §§ , - /)/) /)// ] @g
7/ — 7NN £2 £8
a2 N 3 i : £o
T Limit 35 19600 féMgggz;f)DP Limit - HWAERERER X1 Index(optical) X2 Index(optical) =2
- Near home limit 4-M5x0.8Px10DP X1 Near home limit X2 Near home limit 35| 00 4-M5x0.8Px10DP
LA Nx150=LB ear ome fm EBBEEL) 35/ 90 — - (BEEBLEL)
. i 160 X1 -Limit e 160
<= + Direction
LT LA Nx150=LB
1 X1 + Direction —> <= X2 + Direction
ST/2+10 (+Stopper) ST/2+10 (-Stopper) LT
ST/2+5 (+Limit) ST/2+5 (-Limit) 10 (-Stopper) ST+10 (+Stopper)
ST/2 (} Effective stroke) ST/2 (} Effective stroke) 5 (-Limit) ST+5 (+Limit)
[ [ [ [ ST ( Effective stroke) 125
ol |\ o o | [ o 2 |\ o / ‘ /L u
— P — \
1T
125 I I il
. 1e0 | ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
10S100-1-M 10S100-2-M

172 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050(1100|1150|1200|1250|1300|1400 1372 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 |1000|1050(1100|1150|1200

LT 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 {1000{1050/1100{1150{1200|125013001350|1400|1450(1500|1550|1650 LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 1000|1050 |1100| 11501200 1250|1300 1350|1400 |1450 1500/ 1550|1600 1650
N 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 [ 10| 10 N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10 | 10
LA 25 | 50 | 75 | 25|50 | 75|25 |50 | 75| 25 |50 | 75| 25|50 | 75|25 |50 | 75|25 |50 75|25 |50|75|25]|75 LA 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 300 | 300 | 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 {1050{1050(1050/1200|1200|1200|1350|1350|1350|1500|1500 LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050 1050 1200|1200|1200|1350|1350 1350|1500 1500|1500

WEESE kg) | 75| 8.0 | 85|89 |94 |99 104|10.9|11.4|11.7|12.2|12.7|13.2|13.7|14.2|14.5|15.0 | 15.5|16.1 | 16.6 | 17.1 | 17.4| 17.9 | 18.4|18.9| 19.9

WEES (kg) | 11.0| 11.5|12.0 | 12.3| 12.8|13.3| 13.8| 14.3 | 14.8| 15.2| 15.7 | 16.2| 16.7 | 17.2 | 17.7| 18.0 | 18.5| 19.0 | 19.5| 20.0| 20.5 | 20.9 | 21.4

B HEINEE AR E 1T AR E R AR E] R 8 BB I HhIRE
SSA-105100 SSA-10S100 SSA-10S100
== 0ad 1 kg Load 5 kg Load 10 kg == \/ertical Horizontal
— 60 12
9 _ I -
% 40 = 29
2 z Ee
5 20 P B A& SR EA
= ) a
g = 3
< LMSSA-10S100-[]-C1C1010C]-C101.11-M-B-A0000
0 0 0
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)
ARERR
FE2HP.5&9
- ER#E-10kgh, FKEBEEERENETRR(ZMHP.6) BFHE 748 (mm)
. ﬁrbﬁsﬁﬁﬁh%gw m/s BT ERHBI0000kmi ;E;g? 183:1383;3?
- ATHEFREERSS, REEEETEERHEE0.02/300mmA



24 HIWIN

MM16TC04-2202

HIWIN 27

Standard Single-Axis Linear Motor Stage

oo R | E0ES | BRES | BRRE BhOEE| AR
SSA-1 0%@]‘5 EEHF am | [kgl S )

o3t 205 579 A 3

BE | EEMD BEESD | SReRE | BBHHNEE | 78
SSA-10&FI-S L&+ | &8 07 "0 S e o

SSA'1[]SZ[][] ?i_ *E @ Eﬂﬁﬁ%’J\Rd’ 100~1300 SSA'1 []SZO'] ?i_ *5 @ ﬁﬁ&?ﬁﬁ%d\Rif ﬁlb\ﬂ 205 579 WA 3 x2 100~1000
100~1300 100~1000
2 =
O O 0
. o |
[l ][ i ]
ﬁ 7/ T 7/
] S I ) 70 | 3x40=120 4-M4x0.7Px8DP 70 _| 3x40
~ ~ )
& 70 | 3x40=120_| \ 4-M4x0.7Px8DP 2X(N+1)-M5x0.8P THRU, Z8x4DP o or dm 2m or 4m, For HIWIN drive
X(N1)M50.87 THRU, G640 %ﬁl&;ﬁiﬂ%ﬁﬁﬂmm*& BE R EELE For HIWIN drive IR/ AR R
X -IVIox0. » SO0X BIEHR / BELR i A = — |

EEPREA)EHR-AMRE, — am or 4m, For HIWIN drive ~ 76 (7 ¥ = . ’ — T
10 ‘7—1‘1 FEA-AMSRE) T Index(optical) GES 10 E M gﬁ
I , /1L /1L 55 r = . o3
“V s ¥ —— T 8 oS el B > i = v o I |

[15) o d 12}
8 gk &8s i\ \\ ] 8% S| g o !ea i\ = 28
< o = &+ I Y Y &+ \ et gg ) Z - - i ] m— T = SE
B 1 77 = 77 Eg X1 Index(optical) X2 Index(optical) | — Eg

R — +Limit 35, 2x95=190 6-M5x0.8Px10DP -Limit N BREEFR X1 Near home limit 6-M5x0.8Px10DP
260 (BEBBREL) - 6-M5x0.8Px10DP X1 -Limit X2 Near home limit iy
Near home limit © (BBH=ET)
LA Nx150=LB —_— (BBHREA) 35| 2x95=190 X2 -Limit ﬁ 2x95=190
<= + Direction 260 260
LT LA Nx150=LB

LT/2
ST/2+10 (+Stopper)
ST/2+5 (+Limit)

X1 + Direction —>
ST/2+10 (-Stopper) LT

ST/2+5 (-Limit)

<=X2 + Direction

10 (-Stopper) ST+10 (+Stopper)

ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) 5 (-Limit) ST+5 (+Limit)
| /[ /[ |
1 { { ——— ° ' i ST ( Effective stroke) 175
I i T ——— S
ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
10S200-1-S 105200-2-S

132 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000| 1050|1100 | 1150|1200 | 1250|1300 172 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000

LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 {1100 | 1150|1200 | 1250 | 1300 | 1350 | 1400|1450 1500 1550|1600 | 1650 LT 750 | 800 | 850 | 900 | 950 | 1000|1050 1100 1150|1200|1250|1300|1350|1400 1450 1500 1550|1600|1650
N 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10 | 10 N 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10 | 10
LA 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 LA 75 125 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75
LB 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050|1050 | 1050 | 1200 | 1200 | 1200 | 1350|1350 | 1350 | 1500 | 1500 | 1500 LB 600 | 750 | 750 | 750 | 900 | 900 | 900 |1050|1050|1050|1200|1200|1200|1350| 1350|1350 1500 1500 1500

WEES (kg) | 9.6 [10.1]10.5|11.0 | 11.5|12.0|12.6 | 13.1 | 13.4 | 14.0 | 145 | 15.0 | 15.6 | 16.1 | 16.4 | 17.0 | 17.5 | 18.0 | 18.6 | 19.1 | 19.4 | 20.0 | 20.5 | 21.0 | 21.6

WEEE kg) | 149 |15.5|16.0|16.5|17.0| 17.4 | 17.9 | 18.5|19.0 | 19.5| 20.0 | 20.4 | 20.9 | 21.5| 22.0 | 22.5| 23.0 | 23.4| 23.9

BEEMEERE TR E phARE RO B e IR E
SSA-105200 SSA-105200 SSA-105200
60 Load 1 5kg Load 10 kg @m)\/ertical Horizontal
6 12
L0 2, 2’
z K HE R
5 2 2 =
K = &3 LMSSA-10S200-[ - 1]CI0]-CIC.C]-S-B-A0000
<0
0 0
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm) H4RAERE
E2RP.5&9
- B8 10k, FAKEBEMBRREEITRR(ZEP.) FFHE 17#2(mm)
- ROBEHENREV=1m/s BITESM30000km I EH ; EQE%? 1831383;3?

- ATHEREERSS, REEEHTEERETE0.02/300mmA



28

HIWIN

MM16TC04-2202

100

Acceleration (m/s2)

== BiE | EEH) | BN RERE BBHEE| 78
SSA-10&%!-M EB&F gy N | N | ms) | (kg | (mml
SSA-105200 | 17 %2 O AR HENRT faiineae 205 579 A 3.4 100~1300
100~1300 © misgtesrs
) | NE [ ) |
]/ - ‘ 1/
© 70 | 3x40=120 | \4-M4x0.7Px8DP
2x(N+1)-M5x0.8P THRU, @8x4DP
(BIERREA)(LHK-AM4IRIE, FIEWR | WS 2m or 4m, For HIWIN drive
78 T#X-AM5RAE) .
10 / . — // Index(optical) g
° T [ 1 EG
S L \\ + + + + + + \\ \ + ;é
o | |7 v )le + + + + + ) \he 08
] ] | G SE
: 7/ ]/ ES
. N - = 6-M5x0.8Px10DP Limit =
LAREFRER +Limit 35| 2x95=190 Aol Limit
260 Near home limit
LA Nx150=LB
<= + Direction
LT
LT/2
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit)
ST/2 (§ Effective stroke) ST/2 (} Effective stroke)
[ L [ L
. o | [ o o | a

105200-1-M

132 (ST) 100 | 150 | 200

250

300 | 350 | 400 | 450 | 500 | 550

600 | 650 | 700 | 750

800 | 850 | 900 | 950 | 1000|1050

1100|1150 1200|1250 1300

LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000|1050 {1100 | 1150|1200 | 1250 | 1300 | 1350 | 1400|1450 1500 1550|1600 | 1650
N 2 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 | 10 | 10
LA 75 | 25 | 50 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75

LB 300 | 450 | 450 | 450

600 | 600 | 600 | 750 | 750 | 750

900 | 900 | 900 1050

1050 | 1050 | 1200 | 1200|1200 | 1350

1350|1350 | 1500 | 1500 | 1500

HWEEE (kg) | 9.8 [10.3]10.7 | 11.2

1.7 11

2211271132135 140

14.5115.0 | 15.5 | 16.0

163 (168 |17.417.9|18.4|18.9

B S NEE dh AR E 1TT2 LR B AR E] R0 & HEE T Hh AR E]
SSA-105200 SSA-10S200 SSA-10S200
40 Load 1 5kg Load 10 kg @ Vertical Horizontal
6 12
40 w = 9
=K =
= B 6
20 S <
g’ &
0 0 0
0 10 20 0 500 1000 0 100 200 300
Payload (kg) Stroke (mm) Offset(mm)

- ERH-10kgh, BRBEMERRENETRIRZHP)
= #n30000kmBYIELE
- ATHEREERSS, REEEHTEERETE0.02/300mmA

- ROBHENREV=1m/sB1T

Standard Single-

HIWIN

Axis Linear Motor Stage

SSA_ 'I 0 ?g“ _ M == @J BiE | EiEt) | BEEESD | RREE | BEBHEE | 172
F S BHE+F N | N | ms) | kg | (mml]
SSA-105200 ?i. *E% O FkiEHENRT #Hok 205 579 WA 3.4 x2 100~1000
100~1000 © rstttirst
/ L
™) [52]
©| ©
o e ) ‘ J o e
70 _| 3x40=120 4-M4x0.7Px8DP 70 | 3x40=120 4-M4x0.7Px8DP
2x(N+1)-M5x0.8P THRU, @8x4DP 2m or 4m, For HIWIN drive
(BEHRET)(LHEHK-AM4RE, . - 2m or 4m, . -
TR-AMSEL) BELR WREE For HIWIN drive FIEHR / WEHR BRER
78 (7
10 X1X2 +Limit =
u 3 3 K | g,\
A i = 23
+ + + + Lo
g3 3z \\ W N 55
e 8 o & = 88
° =t \\ hd \\ b 2] hd Se
Sl /| /| Ll d @
2 P 2 52
X1 Index(optical)
HBERREESR X1 Near home limit 6-M5x0.8Px10DP
6-M5x0.8Px10DP X1 -Limit X2 Index(optical) (BEBREA)
BRHRER 35 2x95=190 X2 Near home Imit 25| 2x95=190
X2 -Limit
260 - 260
LA Nx150=LB
X1 + Direction —> <=3 X2 + Direction
LT
10 (-Stopper) ST+10 (+Stopper)
5 (-Limit) ST+5 (+Limit)
ST(Effective stroke 175
L | 1L/ / I
|
Il [l Il X
175 ST ( Effective stroke
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
105200-2-M
1712 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000
LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050|1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650
N 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 10 10
LA 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75
LB 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050| 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1500
HEESE (kg) | 15.4(15.9 | 16.4| 169|174 178|183 188 19.3|19.8|20.3|20.6|21.1|21.6|22.1|22.6|23.1| 23.5| 240

MRS EEA
LMSSA-10S200-[]-JLIC]L)-0LIL). LI ]-M-B-A0000

HrHys

1:B8F
2: 85T

tH#R 8RR
HHSBIP.5R9

17#2(mm)

100~1300:E8)F
100~1000:&&)F

29



&
E
5l
M
£
P
1%

HIWIN

MM16TC04-2202

HIWIN

== EiE | EES BEEED | ReRE | BBHEE | 7R
SSA-13%&%I-S B3 gy N | N | ms) | (kg | (mml
SSA-135100 | 4778 OffemMbRmn| WO | 103 | 269 | 44 | 29 [100-2700
100~2700
L
][ T seusieem [
7/ 77
| 20 3x40=120, 4-M4x0.7Px8DP
f(g%lﬁMég;;;?_;&%@%P IR AR | AR 2m or 4m, For HIWIN drive
95 T#N-FAM6IRE) if .
10 | Index{optical g
- | 5 & Eamll & & ) O & 23
A I\ \ / £%
szz[o |§ 2 ] I
= = o ® o || ® ® || e @l + =5
° — ] = Se
B—T t Eo
sméigﬁﬁm \ +Limit 35|90 4éM§§g§¥;€DP 3 : Limt 32
160 BRRREA) Near home limit
LA Nx150=LB —

<= + Direction

LT
LT/2
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit)
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke)
f - - {£
\ \
I 77 I I [l

Standard Single-Axis Linear Motor Stage

SSA_ 1 3 ?\gu _S EE@J ? BE | EEHN BN RRdEE BBHNEE| 78
7N b~ i) (N) (N) (m/s) (kg) (mm)
SSA-135100 | 17 72 O FR22ml b R~ | B0 103 289 b 2.9x2 |100-2500
E( )
1 e ) i =y - pr—
20 | | 3x40=120_| \4-M4x0.7Px8DP 20 | | 3x40=120 | \4-M4x0.7Px8DP
2x(N+1)-M6x1P THRU, &10x5DP 2m or 4m, For HIWIN drive
(BEEPR 2 7L)(LHN-AM5R1E, N .
THt-AMeERR) BEHR / WELEF 2m or 4m, For HIWIN drive ,%)%fﬁ&i/ﬁﬁﬂiﬁ/ R AR
95 1 ! I :
10 T X1X2 +Limit —
0l (L F
[ X +
l‘, f L &
R L [3 £ LA £ £
(o TS 5
© co[ ° \ U= Tg
e R * \! & 4 & !\ + $ E%
L —/ 7 % 8_
- R X1 Index(optical X2 Index(optical g £
BERREEER X1 Near home limit X2 Near home limit ES
X Lmit X2 -Limit g—
4-M5x0.8Px10DP 85|, 90 X1 -Limit TS 0 4-M5x0.8Px10DP
(BBHREA) 160 160 (BBHBLREA)
LA Nx150=LB
X1 + Direction — > <= X2 + Direction
LT
10 (-Stopper) ST+10 (+Stopper)
5 (-Limit) ST+5 (+Limit)
ST ( Effective stroke) 125
125 ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
135100-2-S
1742 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000
LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450
N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9
LA 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350

HWEEE kg) | 161 | 169 | 17.8

18.4 | 19.2 | 20.0 | 20.9 | 21.7 | 225 | 23.1

24.0 | 248 | 25.6

264 | 272 | 279 | 28.7 | 295 | 303

1752 (ST) 1050 | 1100 | 1150

1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700

1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 -

LT 1500 | 1550 | 1600 | 1650 | 1700 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 -
N 9 10 10 10 1" 1" 12 12 13 14 14 15 16 16 17 18 18 19 N
LA 75 25 50 75 25 50 25 75 50 25 75 50 25 75 50 25 75 50 -
LB 1350 | 1500 | 1500 | 1500 | 1650 | 1650 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 -

135100-1-S
1712 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 | 1000 | 1050
LT 350 400 450 500 550 600 650 700 750 800 850 900 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300
N 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8
LA 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 300 300 300 450 450 450 600 600 600 750 750 750 900 900 900 | 1050 | 1050 | 1050 | 1200 | 1200
HAES kg) | 106 | 1.4 | 122 | 129 | 13.7 | 145 | 153 | 16.1 16.9 | 17.6 | 18.4 | 19.2 | 20.0 | 20.9 | 21.7 | 223 | 23.1 | 24.0 | 24.8 | 25.6
1712 (ST) 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 -
LT 1350 | 1400 | 1450 | 1500 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 -
N 8 9 9 9 10 10 " 12 12 13 14 14 15 16 16 17 18 18 19 -
LA 75 25 50 75 25 75 50 25 75 50 25 75 50 25 75 50 25 75 50 -
LB 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1650 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 -
WAES (kg) | 26.4 | 27.1 | 27.9 | 287 | 295 | 31.1 | 32.6 | 342 | 359 | 37.3 39 40.6 | 421 | 43.7 | 453 | 46.8 | 48.4 | 50.1 | 51.5 -
; kY 4=30 £513 S > Ll
B HEINEE R E 17T AR E AR E] R & BB I HhIRE
SSA-135100 SSA-135100 SSA-135100
e=| 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 6 60
o~
< — —
€ o o
40 = =40
1o} —_ ©
— > ©
B = =
© 20 22 &L 20
) Q
[} >
<
0 0 0
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400

Payload (kg)

Stroke (mm)

EaH-50kk - FBERIBEMENENETRR(Z2REP.)

AROBEHEENREV=1m/s B1TESH30000km &L
cATRMBELESS  REEEHTEERZETE0.02/300mmA

Offset(mm)

WaEE kg) | 311 | 320 | 326

334 | 342 | 351 36.7 | 382 | 398 | 41.4

42,9 | 445 | 462

47.6 | 493 | 50.9 | 52.4 54 -

MRS EEA

LMSSA-13s100-L]-LJ0I0CI)-LIC].LIL]-S-B-A0000

HrHys

1:B8F
2: 85T

AR AR RS
FE2RIP5.9

17#2(mm)

100~2700:B8%F
100~2500: &% F

31

&
E
5l
i1
£
i
%




39 HIWIN

MM16TC04-2202

HIWIN 33

Standard Single-Axis Linear Motor Stage

SSA-13 ?\gu -M == @J BiE | | BEREN  REEE | BBEHEE| 78 SSA-13 ?\yu -M ﬁ@] BE | | BRNES | REERE | BBHNER| 712
= By g | (N | N | (s | (kg | (mm) R Sq)F w0 N | (N | ms) | kg) | (mm
$SA-135100 | 77 72 O {Fi22mBl £, R8s | B0 103 289 bt 3.4 100~2700 SSA-135100 | 17 72 O FR22m £, R/ | HDR 103 289 bt 3.4x2  |100~2500
100-2700 O Piktsgs 100~2500 O Pritzigst
L / ; /1 /L
< = ﬁ 5 < — < ] [ { | |
\Y 3 , \T ¢ o BT al = = \t = o
) s Y N ) BN T, . .
2 40=12
20 [ [540=120 |\ 4 yayo.oxe0p 20 | |3x40=120 4-M/4x0.7Px8DP 11" 20 | | 3ua0=120 | \ 4-maxo.7pxe0P
2x(N+1)-M6x1P THRU, @10x5DP 2m or 4m, For HIWIN drive
2x(N+1)-M6x1P THRU, 210x5DP EEhR RELR ) (BESREL)(L#HR-AM5RE, BiEdE BREER FE e WAL MRS
(BEBEE) LR AR, 2m or 4m, For HIWIN drive T #=X-FM6iRIE) I%?r ?—irl\‘I‘VTN drive .
T#HX-FM6iRIE) it T ,é 7
| tical X1X2 +Limit
// // ndex(op! |;a) 7 C
[ [ ¢ T pa
* \K 4 * * * \\ ° S5 » ® \ ® Py » \\\{“_ ® 55
[To) Tg I
® Lo u‘ Lo
) IS IS — v | O | P S psapera [
] | [ 8¢ SN /] | oo 8¢e
/7 35’ 90 T K S X1 Index(optical) X2 Index(optical ES
S e 1 Limit 4-M5x0.8Px10DP = — N ndex(optical ndex(optica a2
= = 160 BEHRREA) cLimit BazEERL X1 Near home limit X2 Near home limit
Near home limit o —_— 4-M5x0.8Px10DP
LA Nx150=LB ——— 4-M5x0.8Px10DP 3590 X1 -Limit X2 -Limit / |38/, 90 \(B BB
(BBBRER) 160 T 160
+Di .
<= + Direction LA Nx150=LB
LT
= X1 + Direction —> <= X2 + Direction
ST/2+10 (+Stopper) ST/2+10 (-Stopper) LT
ST/2+5 (+Limit) ST/2+5 (-Limit) 10 (-Stopper) ST+10 (+Stopper)
; ; 5 (-Limit) ST+5 (+Limit)
ST/2 (3 Effective stroke) ST/2 (3 Effective stroke) N
ST ( Effective stroke) 125
/[ /[ '/
| I I | i
[ N \\ N R N \\ . 4 .E\i\ l\@ — [
w = ; 'EE_- |. 2 ] [ - - I =l Y
/ /
g} 125 17 ST ( Effective stroke) /! gj
ST+5 (+Limit) 5 (-Limit)
E ST+10 (+Stopper) 10 (-Stopper) E
R 135100-1-M 135100-2-M R
1% 72(sT) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 1752 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 &
LT 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450
N 2 2 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9
LA 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 LA 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 300 | 300 | 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050 | 1200 | 1200 LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350

WEaEE kg) | 114 | 12.3 | 13.1 | 13.8 | 14.6 | 155 | 163 | 17.2 | 18.0 | 18.7 | 19.5 | 20.4 | 21.2 | 22.0 | 22.9 | 23.6 | 244 | 252 | 26.1 | 26.9
1752 (ST) 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 -

WEEE kg) | 17.6 | 184 | 192 | 199 | 20.8 | 21.6 | 22.4 | 233 | 24.1 248 | 256 | 265 | 273 | 28.1 29.0 | 29.7 | 305 | 31.3 | 322

12 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 -

LT 1350 | 1400 | 1450 | 1500 | 1550 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 - LT 1500 | 1550 | 1600 | 1650 | 1700 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 -
N 8 9 9 9 10 10 " 12 12 13 14 14 15 16 16 17 18 18 19 - N 9 10 10 10 1" 1" 12 12 13 14 14 15 16 16 17 18 18 19 N
LA 75 25 50 75 25 75 50 25 75 50 25 75 50 25 75 50 25 75 50 - LA 75 25 50 75 25 50 25 75 50 25 75 50 25 75 50 25 75 50 -
LB 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1650 | 1800 | 1800 | 1950 | 2100 | 35.2 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 - LB 1350 | 1500 | 1500 | 1500 | 1650 | 1650 | 1800 | 1800 | 35.2 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 -

HWEES (kg) | 27.7 | 28.4 | 293 | 30.1 | 30.9 | 32.6 | 34.1 | 358 | 375 39 40.7 | 42.4 | 439 | 45.6 | 47.2 | 48.8 | 50.4 | 52.1 | 53.6 - WEEE kg) | 33.0 | 339 | 345 | 354 | 362 | 37.1 38.7 | 403 | 41.9 | 43.6 | 45.1 46.8 | 485 50 51.7 | 53.4 | 549 | b56.6 -

G BN E dh AR E TR B AR(E RO & HEETT R AR E]
SSA-135100 SSA-135100 SSA-135100
e==| 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 6 60
o~
2 — —
€ 2 2
=40 = <40
S z 3 MR EA
] = 9 =
520 S2 F20
>
3 . . . LMSSA-13s100-[ - ICICICI-CIC1.C1C1-M-B-A0000
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400
Payload (kg) Stroke ([mm) Offset(mm)
ARERR
A2RHP.5R9
- BERM-50kgks, FRBEMRUREETHERZHP. BFUE 742 (mm)
AB p = - TS 4 1. EBEF 100~2700:B8&hF
ROB AL REV=1m/s BITEFM30000kmEI M £ e

- ATHEFREERSS, REEEETEERHEE0.02/300mmA



34

HIWIN

MM16TC04-2202

HIWIN

Standard Single-Axis Linear Motor Stage

35

SSA_'I 3?5”_5 2= @J BE | EEHH BERD | SeRE | BENEE 712 SSA_ 'I 3?5']_8 EE@J BE | EEHN BN RRdEE BBHNEE| 78
= BE)F g N N | ms) | (kg | (mm) R S8)F w0 N | (N | ms) | kg) | (mm
$SA-135200 | 47 72 O {Fi22mBl £, R8s | B0 205 579 bt 4.2 100~2600 SSA-135200 | 17 72 O FR22ml b R~ | B0 205 579 bt 4.2x2 |100~2300
/ / / / /L L /L
— | : S
\ REON 1 2. o |
/A /1 1 - ] /‘ 70 _|3x40=120 @ ‘
b 70 _| 3x40=120_| \ 4-M4x0.7Px8DP 4-M4x0.7Px8DP
2x(N+1)-M6x1P THRU, @10x5DP
& i -FM5! s
2x(N+1)-M6x1P THRU, &10x5DP IR AR / R HAR 2m or 4m. For HIWIN drive gguﬁﬁg’;)gg)ﬁﬁ AR IR AR / IR
%5 (BEHRE)(LHN-AMERE, P it ] : 95 g . ]€ 2m or 4m, For HIWIN drive
N -FAM6 .
10 FHL-AV6RE) Index(optical = 10 X1X2 +Limit
R / . /[ [ g — e T
I‘ i ] . ! 55 l‘, = e —r it z Al =
2 i s ¥ | T £ £ ¥ | T =7 £ T3 il s 3 ¥ il £3 G + ¥ g
sl |38 \ \ T 53[» B \ —% 52
= < ® o || ® ® ° \ o 28 = < . . e +| + 'S + + b
° 3 | . ! 8¢ o — ) ) = g2
= 1 ‘1 / = / E2 = X2 Index(optical 5;
imi 35 2x95=190 X -Limi 52 . ndex(optical o
\w s zsmne Limit X BgME?ﬁg;;‘%?DP foLimit - BARERRE X1 Index(optical) X2 Near home fimit 7‘3 E2
260 ERHREA) Near home limit X1 Near home limit X2 -Limit =SS
LA Nx150=LB 6-M5x0.8Px10DP 35 2x95=190 N X2-Limit 2o ox95=190
e BHHREL ‘ X1 -Limit \ 6-M5x0.8Px10DP
<= + Direction 260 - 260 BHBEEA)
LA Nx150=LB
LT —
T X1 + Direction — > <~ X2 + Direction
LT
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit) 10 (-Stopper) ST+10 (+Stopper)
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) S (cLimit) ST+5 (+Limit)
/[ /[ ST ( Effective stroke) 175
{1 ——— M M ! I i | /L m
==t =0 — S o
o = =
w i /7 | I [l w
1T A ! 17 I
% 175 | ST ( Effective stroke) %
5l ST+5 (+Limit) 5 (-Limit) 5l
E ST+10 (+Stopper) 10 (-Stopper) E
R 135200-1-S 135200-2-S R
1% 4FA2(ST) | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 712 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 i3
LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600
N 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 N 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 10
LA 75 | 25 | s0 | 75 | 25 | 50 | 75 | 25 | s0 | 75 | 25 | 50 | 75 | 25 | 50 | 75 | 25 | 50 | 75 LA 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 300 | 450 | 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050 | 1200 | 1200 | 1200 LB 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350 | 1350 | 1500 | 1500
HEE®E (ko) | 135 | 143 | 150 | 158 | 16.6 | 17.4 | 183 | 191 | 19.7 | 205 | 21.4 | 222 | 230 | 238 | 245 | 253 | 261 | 269 | 27.7 HEBE ko) | 218 | 226 | 235 | 243 | 251 | 25.7 | 266 | 27.4 | 282 | 29.0 | 298 | 305 | 31.3 | 321 | 329 | 337 | 346 | 352
4742 (ST) | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 #7#2(ST) | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | -
LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 LT 1650 | 1700 | 1750 | 1800 | 1850 | 1900 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 | -
N 9 9 9 10 10 | 10 | n 12 12 ) 13| e | o | o1s | 16 | 16 | 17 | s | 18 | 19 N 10 1 1 1 12 12 12 13 14 14 15 16 16 17 18 18 19 -
LA 25 | 50 | 75 | 25 | s0 | 75 | 50 | 25 | 75 | s0 | 25 | 75 | s0 | 25 | 75 | s0 | 25 | 75 | 50 LA 75 25 50 75 25 50 75 50 25 75 50 25 75 50 25 75 50 -
LB 1350 | 1350 | 1350 | 1500 | 1500 | 1500 | 1650 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 LB 1500 | 1650 | 1650 | 1650 | 1800 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 | -
HEES (ko) | 285 | 292 | 300 | 308 | 316 | 324 | 339 | 355 | 37.2 | 386 | 403 | 419 | 434 | 45 | 466 | 481 | 49.7 | 514 | 5238 HWEEE ka) | 360 | 368 | 37.7 | 385 | 393 | 401 | 411 | 427 | 442 | 458 | 474 | 489 | 506 | 522 | 537 | 553 | 569 | -
Y =10 S A L,
BEENEERE TR E AR E RO B & EE I HhiRE
SSA-135200 SSA-135200 SSA-135200
===| 0ad 1 kg ===Load 25 kg Load 50 kg === \/ertical === Horizontal
— 60 60
N
2 — —
E g o B}
=40 4 =40
I} — o
5 > 2 A& SR EA
© S = =
20 22 &20
(o]
(%) >
<, . . LMSSA-13s200-[]-C10]C]OI-0J0].C1C]-S-B-A0000
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400
Payload (kg) Stroke (mm) Offset(mm)
AR AR
ESBIP.59
- BEH>50kgR, AIKBEMEREETRR(ZP.) BFUE 1712(mm)
- DB BEENRTEV=1m/s BITEHEMI0000km AIEH TS e
- ATREFBERSS, REEEHETEERETE0.02/300mmA = i3



36 ﬁfmﬂzoz HIWIN 37

Standard Single-Axis Linear Motor Stage

== EiE | EES BEEED | ReRE | BBHEE | 7R
SSA-13%&%I-M B&F g NN | mis) | Gk | mm)
SSA-135200 ?i. *E O fFR2m £ R 8 #HoX 205 579 A 5.2 100~2600

100~2600 © mrsgttiest

BiE | EEHESN | EEED | RERE | BEBHEE | (712
SSA'13%§§IJ‘M %@J? EE (N) FTﬁN] EEl?/sl (kgl as

(mm)
SSA-135200

T O fFi2ombl b Rt | WO | 205 579 b 52x2 |100-2300
100~2300 © msteszs

/L /L
[ /
-gl i ;- g E = = | ‘\ = = ‘\‘ = = 2 o
[ ﬁp' = —— . | | ..
1 °*1° N
1/ 1/ 70 | 3x40=120_| \ 4-M4x0.7Px8DP L. 70 | 3x40=120| \ 4-M4x0.7Px8DP
70 _| 3x40=120 | \ 4-M4x0.7Px8DP
2x(N+1)-M6x1P THRU, &10x5DP 2m or 4m, For HIWIN drive
2x(N+1)-M6x1P THRU, @10x5DP it EELE gﬁﬁﬁggﬁﬁﬂmm&, B WEEE
(B =)L MR- AMEERLE, = . 2m or 4m, For HIWIN drive 2 ) 2m or 4m, For HIWIN drive
TH#X-AM6iR1E) (7 IF T
T 10 X1X2 +Limit =
10 Index(optical -
/L o ——— /L — i gA
I Il / g o o Y Y 3
\’ \K s ° ° ° \\ /o 55 0 W\n ve
v s Ol © =) 28
@l © Lo < \\ 58
* \\ ° ° ° ° Q)\[é ° 85 hd hd & hd SE
/I/l /l;lg[j §§ — /] _ /(i][?] ES
3 - E2 . N X1 Index(optical) X2 Index(optical)
P 35 | 2x95=190 6-M8x0.8Px10DP L 32 CEEs ze s ] h cal _
MARERREE +Limit \(EBBHREA) Limit X1 Near home limit X2 Near home limit 6-M5x0.8Px10DP
260 i 6-M5x0.8Px10DP Limi — BRHBREIL
LA Nx150=LB Near home limit BREEEL 35|, 2x95=190 X1 -Limit X2-Limit 135|  2y95=190
260 260
<= + Direction LA, Nx150=LB
LT i I i i
— X1 + Direction —> <= X2 + Direction
LT
ST/2+10 (+Stopper) ST/2+10 (-Stopper) 10 (-Stopper) ST+10 (+Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit) 5 (-limit) ST+5 (+Limit)
ST/2 (§ Effective stroke) ST/2 (3 Effective stroke) ST ( Effective stroke) 175
/[ /[ | / / 1l
{ | | { I ( | |
(I:; 'R \\ N |::l N \\ . O 0= — \ R N \ = — | 5
[ S— ; | E— i ]
E =) 7 _ E
yu 175 \ ST ( Effective stroke) §|J
ST+5 (+Limit) 5 (-Limit)
E ST+10 (+Stopper) 10 (-Stopper) E
R 135200-1-M 135200-2-M R
*g' 1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1%
LT 450 500 550 600 650 700 750 800 850 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 LT 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 1600
N 2 3 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 N 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 9 10 10
LA 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 LA 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 300 450 450 450 600 600 600 750 750 750 900 900 900 1050 | 1050 | 1050 | 1200 | 1200 | 1200 LB 600 750 750 750 900 900 900 1050 1050 1050 1200 1200 1200 1350 1350 1350 1500 1500
BWAER kg) | 14.9 15.8 16.4 17.3 18.1 19.0 19.8 20.6 21.3 22.2 23.0 23.8 24.7 255 26.2 27.0 27.9 28.7 29.5 HWEES k) | 24.4 25.2 26.0 26.9 27.7 28.4 29.2 30.1 30.9 31.7 32.6 33.3 34.1 34.9 35.8 36.6 37.5 38.1
1742 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 1742 (ST) 1000 1050 1100 1150 | 1200 | 1250 | 1300 1400 1500 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 -
LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 LT 1650 1700 1750 1800 1850 1900 1950 2050 2150 2250 2350 2450 2550 2650 2750 2850 2950 -
N 9 9 9 10 10 10 1" 12 12 13 14 14 15 16 16 17 18 18 19 N 10 1" 1" 1" 12 12 12 13 14 14 15 16 16 17 18 18 19 -
LA 25 50 75 25 50 75 50 25 75 50 25 75 50 25 75 50 25 75 50 LA 75 25 50 75 25 50 75 50 25 75 50 25 75 50 25 75 50 -
LB 1350 | 1350 | 1350 | 1500 | 1500 | 1500 | 1650 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 LB 1500 1650 1650 1650 1800 1800 1800 1950 2100 2100 2250 2400 2400 2550 2700 2700 2850 -
HWAEE kg) | 30.4 31.1 31.9 32.7 33.6 34.4 35.9 37.6 39.3 40.8 42.5 44.2 45.7 47.4 49 50.6 52.2 53.9 55.4 HWAES (kg) | 39.0 39.8 40.7 41.5 42.3 43.2 44.2 45.9 47.4 49 50.7 52.2 53.9 55.6 57.1 58.8 60.5 -
3 =10 3 S L,
B EMNEERE 172 ELIR E phARE RO & Eae I HhiRE
SSA-135200 SSA-135200 SSA-135200
e==| 0ad 1 kg ===Load 25 kg Load 50 kg = \/ertical === Horizontal
— 60 6 60
o~
4 — —
£ v o
Z 40 E4 =40
I} — o
s = : RN 0E
© G P =
20 22 20
(0]
3] >
g, . . LMSSA-13S5200-[ -] ICICI-CIC].C1C1-M-B-A0000
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400
Payload (kg) Stroke (mm) Offset(mm)
4R 48RS
SE2RP.5&9
- BR#E-50kghy, BB EEERENETRR(ZHP.6) BFHE 1712(mm)
- RO B HEENBEV=1m/sBITEZH30000kmAIEH LEBF 100~2600: 887

2.8 100~2300:4
C ATRFEERSS, REEEHTHEERZTE0.02/300mmA . b¥



38 HIWIN

MM16TC04-2202

HIWIN 39

Standard Single-Axis Linear Motor Stage

2= BE | EEHN | EEED RERE BEBHEE| 712 BiE | EEHESN | EEED | RERE | BEBHEE | (712
SSA‘1 3?‘\5”'5 E@J? EZ "Fm FTﬁNl 5[?/s] (kg) B lgm] SSA'13§§§IJ‘S %@J? ;i (N) FTﬁN] EEl?/sl lkgl - l:ml

= 4= N = & A 9 100~2 = 4= N = il A 9x2  |100~21
SSA'1333[][] ?T *E @ 1T%§2ml—/(J:,RTJ'E§/J\ #Hnz 308 868 5 00~2500 SSA'133300 ?__I. *E © 1T*§2mL/(J:,RTJ‘E§’J\ #Hok 308 868 5.9 x 00 00
b= %
= 1 . . b . . raa ? . . A . . L]
] 1 ° ° M M L1 ]
7 19 T%' 7 ] l = 6-M4x0.7Px8DP i = 6-M4x0.7Px8DP
s 50 ‘ xd0-200 X0 7PABIP 80 5x40=200 80 5x40=200
2x(N+1)-M6x1P THRU, &10x5DP 2m or 4m, For HIWIN drive
(BEHRET)(LER-AM5RE, 2m or 4m,
2x(N+1)-M6x1P THRU,210x5DP FEHR EWEHR i T#X-AMERIE) FEHR BWEHER For HIWIN drive FEMR / ME MR B HIR
o (BB - FAMSERE, p . . 2m or 4m, For HIWIN drive o5 ({ ! ;
THX-AMeRE € - — _
10 £ ) £ Index(ontical - 10 X1X2 +Limit r S =
S— frexte g e g
/ s 2 5 = [ ] _
o [ i s = o 1t { 5
K | | & 5 v | [® 5 5 7@ 5 £§ ° I I.ls [* * hd Al i it hd * * I§
3 g |e J s ] we o g |o lg 9 \ ] e
Tl 4e e Py ° | e ® Py e |/ e Py 28 o < b2 s 2 2o ) 2 2 =0 KX
o . | | L 82 K = — ) ) e — 8¢
-3 iy - =05
—_ j 7 Limit E2 \ - X4 Limit 2 Index(optical) | —] \ ES
A, +Limit 875 8x95=285 8-M5x0.8Px 10DP = MaRRARS X2 Near home limit X2 -Limit 8-M5x0.8Px10DP
360 EMEZEA) Near home fimit 375 3x05=285 X1 Index(optical 375 3x95=285 NEBHZ=ER)
LA Nx150=LB 8-M5x0.8Px10DP 360 X1 Near home limit 360
. (BBBREIL)
<= + Direction LA Nx150=LB
LT . .
X1 + Direction —> + Directi
LT/2 T <=/ X2 + Direction
ST/2+10 (+Stopper) ST/2+10 (-Stopper) 10 (-Stopper) ST+10 (+Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit) 5 (-Limit) ST+5 (+Limit)
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) ST ( Effective stroke) 205
[ / - 7
- R o R f —— . <[l s . f i —
\ i
= =
w T 77 i 7 1 w
1T T 1Ll i
% 225 ST ( Effective stroke) |H %
5l ST+5 (+Limit) ”‘ 5 (-Limit) 5
= |
ST+10 (+Stopper) ‘ } 10 (-Stopper) E
R 135300-1-S 135300-2-S R
1% 1712 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 &
LT 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 LT 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1700 | 1750
N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9 N 6 6 6 7 7 7 8 8 8 9 9 9 10 10 10 11 11
LA 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 LA 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 450 | 450 | 600 | 600 | 600 | 750 | 750 | 750 | 900 | 900 | 900 | 1050 | 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350 LB 900 900 900 | 1050 | 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350 | 1350 | 1500 | 1500 | 1500 | 1650 | 1650
HAER ko) | 167 | 175 | 183 | 191 | 200 | 20.8 | 21.4 | 222 | 231 | 239 | 247 | 255 | 262 | 27.0 | 278 | 286 | 294 | 302 | 309 AES (ko) | 280 | 289 | 297 | 305 | 313 | 321 | 328 | 336 | 344 | 352 | 360 | 369 | 375 | 383 | 39.1 | 40.0 | 40.8
1742 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | - 1312 (ST) 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 -
LT 1500 | 1550 | 1600 | 1650 | 1700 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 | - LT 1800 | 1850 | 1900 | 1950 | 2000 | 2050 | 2100 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 -
N 9 10 10 10 11 11 12 12 13 14 14 15 16 16 17 18 18 19 - N 1 12 12 12 13 13 13 14 14 15 16 16 17 18 18 19 -
LA 75 25 50 75 25 50 25 75 50 25 75 50 25 75 50 25 75 50 - LA 75 25 50 75 25 50 75 25 75 50 25 75 50 25 75 50 -
LB 1350 | 1500 | 1500 | 1500 | 1650 | 1650 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 | - LB 1650 | 1800 | 1800 | 1800 | 1950 | 1950 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 -
WEER ko) | 317 | 325 | 333 | 341 | 350 | 356 | 37.2 | 389 | 403 | 42 | 43.6 | 451 | 467 | 483 | 49.8 | 51.4 | 53.1 | 545 - WAER (ko) | 41.6 | 422 | 431 | 439 | 447 | 455 | 463 | 47.0 | 486 | 502 | 51.7 | 533 55 56.4 | 581 | 59.7 -

B HEINEE R E 17T AR E AR E] R & BB I HhIRE
SSA-135300 SSA-135300 SSA-135300

== | 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal

o~
o
o~
o~
o

E g E

<40 = =40

520 S92 Z20 MG R A

] =
<, . . LMSSA-13s5300-[J-JJ]CI-0I0]. L] ]-S-B-A0000
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400
Payload (kg) Stroke (mm) Offset(mm)
ARERR

SE2RP.5&9

- BE#H>50kghF, FKBEMEREETRER (2P0 BFHE 1748 (mm)

AROBEHEENREV=1m/s B1TESH30000km &L ; ii*?%?
- ATHRFBERSS, REEEEHTEEZEZEE0.02/300mmA =

100~2500: E8EHF
100~2100: &8 7



&
EN
5l
1]
£
P
1%

40 HIWIN

MM16TC04-2202

B BiE |G | BEts | ReaE [ BenEs| 72
SSA-13%%I-M EEg)F | 52 = muwn amax suske of
SSA-135300 | 1T 72 O f3f22mM L R &) #oxk | 308 868 4 75 | 100-2500
100~2500 © PrsEteiRs
L /
-§I 3 g'
1 N = z , v \T =
] | p e el e ] )]
" 80 | 5x40=200 | \6-M4x0.7PxEDP 1
2x(N+1)-M6x1P THRU,210x5DP T ——

(BESBLREA)(LHK-FAMER4E,

2m or 4m, For HIWIN drive

HIWIN

Standard Single-Axis Linear Motor Stage

T#X-AM6IRIE) it T
ﬁ Index(optical)
/L = 3 3 31 /L —
Il Il )
Y \ ® P @ ° \\ 7/ S5
=3
we
.\ . . . . Jide ||| 5
1] i 8¢
| — ]/ £ £ £ =, ]/ Eg
BARERRE +Limit 37.5 ‘ 3x95=285 ‘ 8-M5x0.8Px10DP Limt =~
360 BHRBREN)
Near home limit
LA Nx150=LB
<= + Direction
LT
LT/2
ST/2+10 (+Stopper) ST/2+10 (-Stopper)
ST/2+5 (+Limit) ST/2+5 (-Limit)
ST/2 (} Effective stroke) ST/2 (§ Effective stroke)
/L /L
H o \\ . ! = = ‘ .\ . &
] [ ) =L
_%/ /F
135300-1-M
1712 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000
LT 550 600 650 700 750 800 850 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450
N 3 3 4 4 4 5 5 5 6 6 6 7 7 7 8 8 8 9 9
LA 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 450 450 600 600 600 750 750 750 900 900 900 1050 | 1050 | 1050 | 1200 | 1200 | 1200 | 1350 | 1350

MEAEE (kg) | 18.7 | 19.6 | 204 | 213 | 221 | 229 | 23.6 | 245 | 253

26.1 27.0 | 278 | 285 | 293 | 30.2 | 31.0 | 31.8 | 32.7 | 33.4

1372 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600

1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 -

LT 1500 | 1550 | 1600 | 1650 | 1700 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 -
N 9 10 10 10 1" 1 12 12 13 14 14 15 16 16 17 18 18 19 =
LA 75 25 50 75 25 50 25 75 50 25 75 50 25 75 50 25 75 50 -
LB 1350 | 1500 | 1500 | 1500 | 1650 | 1650 | 1800 | 1800 | 1950 | 2100 | 2100 | 2250 | 2400 | 2400 | 2550 | 2700 | 2700 | 2850 -

WEEE (kg) | 342 | 35.0 | 359 | 36.7 | 37.6 | 382 | 39.9 | 41.6 | 43.1

448 | 465 48 49.7 | 513 | 52.9 | 545 | 56.2 | 57.7 =

B HEINEE R E 17T AR E AR E] R & BB I HhIRE
SSA-135300 SSA-135300 SSA-135300
= | 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 6 60
o~
2 — —
£ v o
<40 = =40
= > E
g S =
@20 °2 &20
3 2
E
0 0 0
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400
Payload (kg) Stroke (mm) Offset(mm)

- BE8E-50kgkF, FAKEBEMBRRENEITRRZEP.)
AROBEHEENREV=1m/s B1TESH30000km &L
- ATHRFBERSS, REEEHTEEZEZEE0.02/300mmA

SSA-13 ?\yu -M ﬁﬁ@:’ ? BE | | BRNES | REERE | BBHNER| 712
7N b~ i) (N) (N) (m/s) (kg) (mm)
SSA-135300 | 17 72 O {FR2m £ R | BD | 308 868 b 75x2 |100~2100
100~2100 © Poietesest
/ L /L
I I
o B 2 T T T 0 H o
0| i a i_' [ee]
H RS ) /) IR H
80 5x40=200 ‘ 6-M4x0.7Px8DP 80 5x40=200 ‘ 6-M4x0.7Px8DP
2x(N+1)-M6x1P THRU, 10x5DP 2m or 4m, For HIWIN drive
(EEEZ & )(EHX-FAMEREE, BIEAS WS 2m or 4m
T#R-FAM6iRiE) , For HIWIN drive
X1X2 +Limit T
. g
I 2%
Y o o \\ ° =3
38
S§
< ¢ - + 3 3 o =% © 8¢
[P ) /] /] [ ) ES
= 03 <. = 0 3 -
A LRSS X1 Index(optical
8-M5x0.8Px10DP X1 -Limit X2 Index(optical X2 -Limit 8-M5x0.8Px10DP
(BEHHBREA 375 395285 X2 Near home limit_7 "¢ 3x95=285 \(BBBLELN)
360 X1 Near home limit 360
LA Nx150=LB
X1 + Direction —> <= X2 + Direction
LT
10 (-Stopper) ST+10 (+Stopper)
5 (-Limit) ST+5 (+Limit)
ST ( Effective stroke) 225
L /L /L il
[j\l l
H — S AN N S s— H
] [ I
7/ 7=
225 ST ( Effective stroke)
ST+5 (+Limit) 5 (-Limit)
ST+10 (+Stopper) 10 (-Stopper)
135300-2-M
1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900
LT 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 1600 1650 1700 1750
N 6 6 6 7 7 7 8 8 8 9 9 9 10 10 10 1" 1"
LA 25 50 75 25 50 75 25 50 75 25 50 75 25 50 75 25 50
LB 900 900 900 1050 1050 1050 1200 1200 1200 1350 1350 1350 1500 1500 1500 1650 1650
HAES (kq) | 317 32.5 33.3 34.2 35.0 35.9 36.5 37.4 38.2 391 39.9 40.7 41.4 42.2 43.1 43.9 44.8
1T (ST) 950 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 2100 -
LT 1800 1850 1900 1950 2000 2050 2100 2150 2250 2350 2450 2550 2650 2750 2850 2950 -
N " 12 12 12 13 13 13 14 14 15 16 16 17 18 18 19 -
LA 75 25 50 75 25 50 75 25 75 50 25 75 50 25 75 50 -
LB 1650 1800 1800 1800 1950 1950 1950 2100 2100 2250 2400 2400 2550 2700 2700 2850 -
BWAES (kg) 45.6 46.3 471 48.0 48.8 49.6 50.5 51.2 52.8 54.5 56 57.7 59.4 60.9 62.6 64.3 -

MRS EEA
LMSSA-13s300-1-[JLIC]L)-0IL). LI ]-M-B-A0000

thARAERE
ESBIP.59

Br#E 3% (mm)
1:BEF 100~2500: 888 F
2.EH T 100-2100:4%F

41

JWET

M
£
i
%




49 HIWIN HIWIN 43

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

== BE | St | RS | RRRE |BBHEE | 1712 BiE | EiEt) | BEEESD | RREE | BEBHEE | 172

SSA_ 1 8?‘\§IJ_S E@J? Ejﬁ - (N) (N) ﬁ[m/s] (kg) B [2m] “\. / SSA' 1 8%5“‘5 %@J? ﬁi (N) (N) ﬁlm/sl (kg) B (1r-nlml

SSA-185100 ?i' *E O BEHEFERN T D3t 103 289 b4 31 100~2700 . SSA-185100 ?i. *E O ESHEEFERR Tk #io 103 289 A 3.1x2 100~2400
100~2700 O sHEmeaRmE 100~2400 © neazmz

2-M4x0.7Px6DP, (Stroke <950)
6-M4x0.7Px6DP, (Stroke>950)

2-M4x0.7Px6DP,(Stroke<1200) B B
6-M4x0.7Px6DP, (Stroke>1200) ‘ ‘ © ‘
B B Iyl I
~ N ° 401° 1 U/é/ 401 ° T L/% 1°T40 ° _He
o ¥ NI T X
N =l PR —
* a01°] | 40 17T 1140 ° ‘ ‘ \ ‘
L i ] 40(TYP) 4-M4x0.7Px8DP 40(TYP)
I ‘ ; | 4-M4x0.7Px8DP
i 1i- i —————"" [30|.3x40=120 30| 3x40=120
40(TYP, .
( ) ‘ 4-M4x0.7PX8DP For HIWIN drive(2m or 4m B B RS
[30] 3x40=120, ExEis  EELE For HIWIN drive(2m or 4m|
@8 H7 x 8DP EEHE ) HELS X2 Index(optical)
2xN-25.5 THRU, For HIWIN drive(2m or 4m) S @8 H7 x 8DP X1X2 +Limit
W . C 210x5DP RER — A
S [0 ) Index(optical) 28 H7 x8DP 23 v Tg Jes: == E z =!\W
E__ - _ | o | @ ~—= i .74 S|
28 7 e T 28 8% /A—
vl o S8 e T 28 o il @8 H7 x8DP
® O P 2 sl e ® =5 [ ] ! a
S 28 A “tn Eg S “Z; |
SE iy = 2 : ¢ ]
aan) £ 8 — — él 8-M5x0.8Px10DP X1 Near home limit X2 Near home limit 8-M5x0.8Px10DP
So U —— — 2-23 THRU,
90 8-M5x0.8Px10DP 2-33 THRU, 90 X1 -Limit X2 -Limit £ 28 H7x10DP
~Limit 120(TYP) 17 |l E D 2-3 THRU, @8 H7x10DP { +Limit 28 H7x100P 17| | Ip| E |p 17 bl E p| ————
Near home limit 180 ‘ 180 180
(N-3)x120=LC (N-3)x120=LC 18
LA 33
- - X1 + Direction —'> <) X2 + Directi
- + Direction + Direction
+ Direction —> T
L 172 10(-Stopper) ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) 5(-Limit) ST+5 (+Limit) 145
ST/2+5 (-Limit) ST/2+5 (+Limit) ST(Effective stroke ‘
ST/2 (1/2 Effective stroke) ST/2 (112 Effective stroke) = =i = = |
I= . ; val i ’ﬁ 1
. Y 7
-| % % | 145 ST(Effective stroke)
i i ST+5 (+Limit) 5( -Limit)
ST+10 (+Stopper) 10( -Stopper)
185100-1-S 185100-2-S
1742 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 [ 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 [ 950 [ 1000 | 1050 712 100 | 150 [ 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 [ 850 | 900 | 950
LT 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 [ 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 A%4752 (ST) | 130 | 180 | 230 | 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980
N 5 5 5 5 7 7 7 7 7 9 9 9 9 9 11 11 11 13 | 13 ] 13 [} 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 | 1390 | 1440 | 1490
LA 324 | 374 | 424 | 474 | 524 | 574 | 624 | 674 | 724 | 774 | 824 | 874 | 924 | 974 | 1024 [ 1074 | 1124 [ 1174 [ 1224 | 1274 N 7 7 7 7 9 9 9 9 9 11 11 11 13 [ 13 [ 13 ] 13 ] 13] 113
— LB 75 | 100 | 125 | 150 | 55 | 80 | 105 | 130 | 155 | 60 | 85 | 110 | 135 | 160 | 65 | 90 | 115 | 20 | 45 | 70 LA 574 | 624 | 674 | 724 | 774 | 824 | 874 | 924 | 974 | 1024 | 1074 | 1124 | 1174 | 1224 | 1274 | 1324 | 1374 | 1424 —
oo LC 240 | 240 | 240 | 240 | 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 [ 720 | 960 | 960 | 960 | 1200 | 1200 | 1200 LB 80 | 105 [ 130 | 155 | 60 | 85 | 110 | 135 [ 160 | 65 | 90 | 115 | 20 | 45 [ 70 [ 95 | 120 | 145 [0}
XN A 323 | 373 | 423 | 473 | 523 | 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 | 1073 | 1123 | 1173 | 1223 | 1273 LC 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1200 | 1200 | 1200 N
5| B - - - - - - - - - - - - - - - - - - - - A 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 [ 1073 | 1123 | 1173 | 1223 | 1273 | 1323 | 1373 | 1423 5|
= c 88.7 B - - - - - - - - - - - - - - - - - -
D 26 g 88.7
] E 9% D 26 i}
£ WEES (ko) | 10 | 108 [ 120 [ 129 | 138 [ 147 [ 156 | 165 | 174 [ 183 [ 192 [ 201 | 210 | 21.9 [ 228 | 23.7 | 246 | 255 | 26.4 | 27.3 E 9% B
R 4732 (ST) | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | - WEEE (kg) | 17.6 | 185 [ 194 [ 203 [ 212 [ 221 [ 23.0 [ 239 | 248 | 257 | 26.6 | 275 | 28.4 | 293 [ 30.2 | 31.1 [ 32.0 [ 32.9 R
% LT 1390 | 1440 | 1490 | 1540 | 1590 | 1690 | 1790 | 1890 | 1990 | 2090 | 2190 | 2290 | 2390 | 2490 | 2590 | 2690 | 2790 | 2890 | 2990 | - 1712 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 1%
N 13 13 13|15 [ 15 |15 [ 7 [ 17 |7 19 |19 | 2 21 23 | 23 | 23 | 25 | 25 | 27 - %4772 (ST) | 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430
LA 1324 | 1374 | 1424 | 1474 | 1524 | 1624 | 1724 | 1824 | 1924 | 2024 | 2124 | 2224 | 2324 | 2424 | 2524 | 2624 | 2724 | 2824 | 2924 | - LT 1540 | 1590 | 1640 | 1690 | 1740 | 1790 | 1840 | 1940 | 2040 | 2140 | 2240 | 2340 | 2440 | 2540 | 2640 | 2740 | 2840 | 2940
LB 95 | 120 | 145 | 50 | 75 | 125 | 55 | 105 | 155 | 85 | 135 | 65 | 115 | 45 | 95 | 145 | 75 | 125 | 55 - N 15 | 15 | 15 | 15 | 15 | 17 [ 17 [ 17 [ 19 |19 | 19 | 2 23 | 23 | 23 | 25 | 25 | 25
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2400 [ 2640 | 2640 | 2880 | - LA 1474 | 1524 | 1574 | 1624 | 1674 | 1724 [ 1774 | 1874 | 1974 | 2074 | 2174 | 2274 | 2374 | 2474 | 2574 | 2674 | 2774 | 2874
A 1323 | 1373 | 1423 | 1473 | 1523 | 1623 | 1723 | 1823 | 1923 | 2023 | 2123 | 2223 | 2323 | 2423 | 2523 | 2623 | 2723 | 2823 | 2923 | - LB 50 | 75 | 100 | 125 | 150 | 55 | 80 | 130 | 60 | 110 | 160 | 90 | 20 | 70 | 120 | 50 | 100 | 150
B - - - [ 360 | 360 | 360 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 | - LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 1920 | 2160 | 2400 [ 2400 | 2400 | 2640 | 2640 | 2640
c 88.7 108.7 - A 1473 | 1523 | 1573 | 1623 | 1673 | 1723 | 1773 | 1873 | 1973 | 2073 | 2173 | 2273 | 2373 | 2473 | 2573 | 2673 | 2773 | 2873
D 26 50.0 - B 360 | 360 | 360 | 360 | 600 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080
E 9% 46.0 - c 88.7 108.7
WEEE (ko) | 28.2 | 29.1 | 300 | 309 [ 31.8 [ 336 [ 354 | 384 [ 40.2 [ 42.0 | 438 | 45.6 | 474 | 49.2 | 51.0 | 52.7 | 545 [ 563 [ 58.1 | - D 26 50
E 9% 46
3 =10 Y N L, LHFE=
BB NEERLGE TR BIRE AR E EINEEA:zvalb sl B WEER (kg) | 338 | 347 [ 356 | 365 | 37.4 | 383 | 416 | 434 | 452 | 47.0 | 488 | 50.6 | 52.4 | 54.2 | 559 | 57.7 | 59.5 | 613
SSA-185100 SSA-185100 SSA-185100
= | o0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
- 60 6 60 &SR EA
(2]
v — —
n o
£ 24 20 LMSSA-18S100-[1-CJ1C1C]-CIC].[]-S-S-A0000
5 : 3
B S =
< 20 22 720
K7 = & =
* DFUE | Em
< 1:BEF HE2RP.5&11
0 0 0 288F
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 P
Payload (kg) Stroke (mm) Offset(mm) 7% (mm)
N = . [Pp— 100~2700:E&)F
- EB#>50kghF, FBIKEBEMERENETHR(ZHP.) 100~2400: 8 F

- ROBBEENREV=1m/s BITEFM30000kmAEH
- ATEREERSS, REREEHFEERZE0.02/300mmA



HIWIN

Standard Single-Axis Linear Motor Stage

HIWIN

MM16TC04-2202

bt 43

;
SSA-18%5I-M BHF B [N WU AEEE GOBRE| GR | o = SSA-18ZF5I-M E£F)F | B2 [=emn mmen| smas suana e
7]~ E /R (N) (N) (m/s) (kg) (mm) & ™ Pa RS >Z i) (N) (N) (m/s) (kg) (mm)
- =z =R 1 289 A 4 100~27 \Q = e = U 1 289 WA 4x2 100~24
SSA-185100 | 742 OmsmRs Bog | w | 00-2700 SSA-185100 | 1772 Omammmprw (SOX | 10 | 2 [100-2400
100~2700 O AEEzaIR 100~2400 © HEgERmTR
O EEHEERAN T
2-M4x0.7PxBDP (Stroke<950)
6-M4x0.7Px6DP,(Stroke>950
2-M4x0.7PX6DP,(Stroke<1200) B\ B
6-M4x0.7PX6DP, (Stroke>1200) \ -
B B + /L l /L -
p N 40 1 TK 407377 \ 12740 ~
™) (3]
| M M O
° 40T'TK 407 KKT'HO ° ~ . | | .=
| & 40(TYP) \ " I ‘
| o | | /] 4-M4x0.7PxBDP 40(TYP) 4-M4x0.7Px8DP
‘ 30 || 3x40=120 30 || 3x40=120
40(TYP) 4-M4x0.7Px8DP
30 3x40=120, FEHR / HRER BRI/ BRES/ER R
2xN-295.5 THRU, @10x5DP 2xN-25.5 THRU, 210x5DP 1 For HIWIN drive(2m or 4m) !
' BER® N0 For HIWIN drive(2m or 4m 93.7 X1 Index(optical P X2 Index(optical) s
Index(optical) © 16 28 H7 x8DP <R R X1X2 +Limit |
93.7 o ] — A )
o 218 HT x8DP J & - — /k — For HIWIN drive
o 410 2 — + [« ry 2 | b 2m or 4m
¢ = =
T P ¥ —— APy g £ \ \ 28 17 x6DP
H g - H \ vl O 1 | o T8 h o B
° 5_ o © 2| o Lo X1 -Limit X2 -Limit :
o o Vo o I3 — 1 T e MY 83
® © l' J 8 §§ Limit \\ \\ +Limit 4‘ ° §§ cheg i ] o
° o il = T T T
: yi— ] ] —— B )/ I
< =Sl | A i — 1 imi imi
%9-, — 8-M5x0.8Px10DP 90 ‘ X1 Near home limit X2 Near home limit % 8-M5x0.8Px10DP
- 17 J26\_ 94\_126\_ 8-M5x0.8Px10DP 17 6| 94 |26 2- @8 H7x10DP 17 D6l 94 D6 2- @8 H7x10DP
lear home limit 180 180 180
- 2-28 H7x10DP
(N-3)x120=LC ~“——ro""— LB (N-3)x120=LC LB
LA 33 LA 33
+ Direction—" X1 + Direction — > - <= X2 + Direction
LT L2 10(-Stopper) ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) 5(- Limit) STH5 (+Limit) 145
ST/2+5 (-Limit) ST/2+5 (+Limit) /S/T(Eﬁed"’e stroke) ,
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) _| l%( (F‘:
(I . ... f .
o \ \\ o 145 ST(Effective stroke)
ST+5 (+Limit) 5( - Limit)
ST+10 (+Stopper) 10( - Stopper)
185100-1-M 185100-2-M
1752 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [ 1000 | 1050 1712 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950
LT 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 A%4TH2(ST) | 130 | 180 | 230 | 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 480 | 730 | 780 | 830 | 880 | 930 | 980
[ N 5 5 5 5 7 7 7 7 7 9 9 9 9 9 11 1 11 13 | 13 ] 13 LT 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040 | 1090 | 1140 | 1190 | 1240 [ 1290 | 1340 [ 1390 | 1440 [ 1490 [
oo LA 324 | 374 | 424 | 474 | 524 | 574 | 624 | 674 | 724 | 774 | 824 | 874 | 924 | 974 | 1024 | 1074 | 1124 | 1174 | 1224 | 1274 N 7 7 7 7 9 9 9 9 9 11 11 11 13 13 13 13 13 13 [0}
XN LB 75 | 100 | 125 | 150 | 55 | 80 | 105 [ 130 | 155 | 60 | 85 [ 110 | 135 [ 160 [ 65 | 90 | 115 [ 20 | 45 | 70 LA 574 | 624 | 674 | 724 | 774 | 824 | 874 | 924 | 974 | 1024 | 1074 | 1124 | 1174 | 1224 [ 1274 | 1324 [ 1374 | 1424 N
5| LC 240 | 240 | 240 | 240 | 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 1200 | 1200 | 1200 LB 80 105 | 130 | 155 60 85 110 | 135 | 160 | 65 90 115 | 20 45 70 95 120 | 145 5|
A 323 | 373 | 423 | 473 | 523 | 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 | 1073 | 1123 | 1173 | 1223 | 1273 LC 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1200 | 1200 | 1200
B - - - - - - - - - - - - - - - - - - - - A 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 | 1073 | 1123 | 1173 | 1223 | 1273 | 1323 | 1373 | 1423
[i] HAESE (ko) | 111 | 119 [ 132 [ 141 [ 15.0 [ 160 | 169 [ 17.8 | 187 | 19.7 | 206 | 215 | 225 | 23.4 | 243 | 253 | 262 | 27.1 | 28.1 | 29.0 B - - - - - - - - - - - - - - - - - - 1]
£ 7782 (ST) | 1100 | 1150 | 1200 | 1250 [ 1300 | 1400 | 1500 | 1600 | 1700 | 1800 [ 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | - HEER (ko) | 198 | 207 | 217 | 226 | 235 | 245 | 254 | 263 | 273 | 282 [ 29.1 | 300 | 31.0 | 319 | 328 | 338 | 347 | 356 iz}
35 LT 1390 | 1440 | 1490 | 1540 | 1590 | 1690 | 1790 | 1890 | 1990 | 2090 | 2190 | 2290 | 2390 | 2490 | 2590 | 2690 | 2790 | 2890 | 2990 | - 1712 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 3
*g' N 13 13 13 15 15 15 17 17 17 19 19 21 21 23 23 23 25 25 27 - BRITI2 (ST) | 1030 1080 1130 1180 1230 1280 1330 1430 1530 1630 1730 1830 1930 | 2030 | 2130 | 2230 | 2330 | 2430 1%
LA 1324 | 1374 | 1424 | 1474 | 1524 | 1624 | 1724 | 1824 | 1924 | 2024 | 2124 | 2224 | 2324 | 2424 | 2524 | 2624 | 2724 | 2824 | 2924 | - LT 1540 | 1590 | 1640 | 1690 | 1740 | 1790 | 1840 | 1940 | 2040 | 2140 | 2240 | 2340 | 2440 | 2540 | 2640 | 2740 | 2840 | 2940
LB 95 | 120 | 145 | 50 | 75 | 125 | 55 | 105 | 155 | 85 | 135 | 65 | 115 | 45 | 95 | 145 | 75 | 125 | 55 - N 15 15 15 15 15 17 17 17 19 19 19 21 23 23 23 25 25 25
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2400 | 2640 | 2640 | 2880 | - LA 1474 | 1524 | 1574 | 1624 | 1674 | 1724 | 1774 | 1874 | 1974 | 2074 | 2174 | 2274 | 2374 | 2474 | 2574 | 2674 | 2774 | 2874
A 1323 | 1373 | 1423 | 1473 | 1523 | 1623 | 1723 | 1823 | 1923 | 2023 | 2123 | 2223 | 2323 | 2423 | 2523 | 2623 | 2723 | 2823 | 2923 | - LB 50 75 100 | 125 | 150 55 80 130 | 60 110 | 160 90 20 70 120 50 100 | 150
B - - - [ 360 | 360 | 360 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 | - LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 1920 | 2160 | 2400 | 2400 | 2400 | 2640 | 2640 | 2640
HAES (ko) | 299 | 308 | 318 | 327 | 336 | 355 | 37.4 | 39.4 | 41.3 | 43.1 | 45.0 | 46.9 | 48.7 | 50.6 | 52.4 | 543 | 562 | 580 | 59.9 | - A 1473 | 1523 | 1573 | 1623 | 1673 | 1723 | 1773 | 1873 | 1973 | 2073 | 2173 | 2273 | 2373 | 2473 | 2573 | 2673 | 2773 | 2873
B 360 360 360 360 600 600 600 600 600 600 840 840 840 840 840 1080 1080 1080
; 5 4=%0 (533 N &y, BEE (ko) | 36.6 | 375 | 384 | 393 | 403 | 412 | 421 | 440 | 45.9 | 47.7 | 49.6 | 515 | 533 | 55.2 | 57.0 | 58.9 | 60.8 | 62.6
BEEMNEERE TIRELERE HhARE RO E S EE I HhiRE L UL
SSA-185100 SSA-185100 SSA-185100
= | o0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 6 60
N
2 — —
£ Q 5 2
= 40 E/. %40 *ﬁ.@ ;ﬁﬂﬂ
=] > @
= = o
: : s LMSSA-185100-0-0000-00.00-M-S-A0000
—_ - [
3 2
2
0 0 0 BryE
2
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 — AR HERA
Payload (k Stroke (mm Offset(mm 1:EEHT H2HIP.5&1
yload (kg) (mm) (mm) L85 7
- E8#>50kgkF, BIKBEMERZNETRIE(ZHP.) 17#2(mm)

- ROBEEENREV=-1m/s BITESM30000kmAIEL

- ATRRGFEERSS, REREERTEERET0.02/300mmA

100~2700:EBEHF
100~2400: 887



46 ﬁfmﬂzoz HIWIN 47

Standard Single-Axis Linear Motor Stage

SSA-18%5I-S BT | & N7 RN AR am | < S SSA-18RTFI-S EEHF | B2 ™| =hnn wEe seane) =
SSA-185200 ?i' *E O BEHEFERN T D3t 205 579 b4 44 100~2600 \-! g SSA-185200 ?i. *E O ESHEEFERR Tk #io 205 579 A 4.bx2 100~2300

100~2600 O sEEazmE 100~2300 © NEeazT:E

2-M4x0.7Px6DP,(Stroke<900)
2-M4x0.7Px6DP,(Stroke<1200) 6-M4x0.7Px6DP,(Stroke>900)

6-M4x0.7Px6DP, (Stroke>1200; B B
B B

0|
~ ! !
\ o § ~ ° 401°7 I, 4071° /Lg 1.° 140 S
m m NI i i N
® 0 ~| T ~
. wl'] | ERALY l%T 40 . - I —
D i Tt | i Ll 4MAX0.7PXBDP ‘ 40(TYP) 4-Mdx0.7Px8DP i 40(TYP)
40(TYP) \ 4-MAx0.7PXBDP |60 _| 3x40=120 60 _| 3x40=120
60 | 3x40=120 X1 Ind tical For HIWIN drive(2m or 4m; .
2KN-25.5 THRU PN 5THR3 ex:;p;;) i3 YR e For HIWIN drive(2m or 4m) B2 iR | BRLIR | BRI
210x5DP FIE IR/ AR xXN-25.  210x X2 Index(optical)
28 H7 x 8DP I T ,é For HIWIN drive(2m or 4m) ) C @8 H7 x 8DP X1X2 +Limit
o c Index(optical) 2 | @8 H7 x8DP o 10 2 v A ;‘
ndex(optica <Rglo X T - s 5 5
o 10 -
; . 2 A 33 = EA = — % %ﬁ
e 5§ T %‘ | =3 j j
£g e - gl g k- 58 us oz ]
=8 @9 28 8% Z Z U
3 3 + 5 3 gsp e o ]° /| |
N T8 5 . 28 S b oo e @8 H x8DP
g S 0 2 X
] — T <0 £ EEE——t———— =
tLen Eg & ] X1 Near home limit X2 Near home limit 8-M5x0.8Px10DP
- 3 — = §-5:0.Px100P 120 i -Limi X2 it L 1120 S oa THRU,
-Limit . 17) | E D 2-23 THRU, 17 || E D[~ @8 H7x10DP
Limit L 450(TYP) 17 |Ip 250 D 8-M5x0.8Px10DP +Limit 240 28 H7x10DP 240
Near home limit (N3)x120-LC B (N-3)x120=LC L
LA 33 LA 33
2-23 THRU, @8 H7x10DP + Direction —> X1 + Direction —> T <=3 X2 + Direction
LT T2 10(-Stopper) ST+10 (+Stopper)
5(-Limit] ST+5 (+Limit
ST/2+10 (-Stopper) ST/2+10 (+Stopper) (-Limit) ( imit) 175
ST/2+5 (-Limit) ST/2+5 (+Limit) ST(Effective stroke) ‘
‘ ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) ‘ .I a I,V/ | LE ? %._
— | ———— i & if .
.I T T | 175 ST(Effective stroke)
< S < ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
185200-1-S 185200-2-S
1752 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1772 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950
LT 450 500 550 600 650 700 750 800 850 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 BRITRE(ST) | 120 170 220 270 320 370 420 470 520 570 620 670 720 770 820 870 920 970
N 5 5 5 7 7 7 7 7 9 9 9 1 11 11 11 11 1 13 13 LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600
LA 384 | 434 | 484 | 534 | 584 | 634 | 684 | 734 | 784 | 834 | 884 | 934 | 984 | 1034 | 1084 | 1134 | 1184 | 1234 | 1284 N 7 7 9 9 9 11 11 11 11 11 11 13 13 13 13 13 15 15
LB 105 | 130 | 155 | 60 85 | 110 | 135 | 160 | 65 90 | 115 | 20 45 70 95 | 120 | 145 | 50 75 LA 684 | 734 | 784 | 834 | 884 | 934 | 984 | 1034 | 1084 | 1134 | 1184 | 1234 | 1284 | 1334 | 1384 | 1434 | 1484 | 1534
— LC 240 | 240 | 240 | 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 LB 135 | 160 65 90 115 20 45 70 95 120 | 145 50 75 100 | 125 | 150 55 80 —
(0] A 383 433 483 533 583 633 683 733 783 833 883 933 983 1033 | 1083 | 1133 | 1183 | 1233 | 1283 LC 480 480 720 720 720 960 960 960 960 960 960 1200 | 1200 1200 1200 1200 | 1440 | 1440 oo
XN B - - - - - - - - - - - - - - - - - - - A 683 | 733 | 783 | 833 | 883 | 933 | 983 | 1033 | 1083 | 1133 | 1183 | 1233 | 1283 | 1333 | 1383 | 1433 | 1483 | 1533 N
§|J C 88.7 B - - - - - - - - - - - - - - - - 360 §|J
= D 26 c 88.7
E 154 D 26
[ HWEEE (ko) | 122 | 131 [ 142 | 151 | 160 | 17.0 | 17.9 | 188 | 19.7 | 20.6 | 215 | 224 | 233 | 243 | 252 | 26.1 | 270 | 27.9 | 288 E 154 i}
£ 1752 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 HAESR (kg) | 220 | 229 | 238 | 247 | 256 | 265 | 274 | 283 | 292 | 301 | 31.1 | 320 | 329 | 338 | 347 | 356 | 365 | 37.4 £
*E LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 1712 1000 1050 1100 1150 | 1200 | 1250 | 1300 1400 1500 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 - *E
% N 13 13 13 15 15 15 15 17 17 19 19 21 21 21 23 23 25 25 25 A#472 (ST) | 1020 | 1070 | 1120 | 1170 | 1220 | 1270 | 1320 | 1420 | 1520 | 1620 | 1720 | 1820 | 1920 | 2020 | 2120 | 2220 | 2320 - %
LA 1334 | 1384 | 1434 | 1484 | 1534 | 1584 | 1684 | 1784 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 LT 1650 | 1700 | 1750 | 1800 | 1850 | 1900 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 -
LB 100 | 125 | 150 | 55 80 | 105 | 155 | 85 | 135 | 5 | 115 | 45 95 | 145 | 75 | 125 | 55 | 105 | 155 N 15 15 15 15 17 17 17 19 19 21 21 21 23 23 25 25 25 -
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 [ 2640 LA 1584 | 1634 | 1684 | 1734 | 1784 | 1834 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 -
A 1333 | 1383 | 1433 | 1483 | 1533 | 1583 | 1683 | 1783 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 LB 105 | 130 | 155 60 85 110 | 135 65 115 45 95 145 75 125 55 105 | 155 -
B - - - - 360 | 360 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 LC 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 -
© 88.7 108.7 A 1583 1633 1683 | 1733 | 1783 | 1833 1883 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 -
D 26 50.0 B 360 | 600 | 600 | 600 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 -
E 154 106.0 c 88.7 108.7 -
WEER ko) | 29.7 | 306 | 31.6 | 325 | 334 | 343 | 36.1 | 37.9 | 418 | 436 | 454 | 472 | 491 | 509 | 527 | 545 | 564 | 58.2 | 60.0 D 26 50.0 -
E 154 106.0 -
. . e < SE BAES (kg) | 383 | 393 | 402 [ 411 | 420 | 47.0 | 479 | 49.7 | 515 | 533 | 552 | 57.0 | 588 | 60.6 | 625 | 643 | 66.1 -
| =] [ = | [ = |
B EEINEE AR E T2 R E phAR E RO & EsE 1 HhiREl
SSA-185200 SSA-185200 SSA-185200
= | 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
40 60 g EREA
£ — —
£ & 2
=40 E4 =40 LMSSA-18S200-[]-[J1IC]J-LIC].LJ[C]-S-S-A0000
s = E
o ‘G =
<20 52 &20 HAR1ER
3 > BrHys E2RIP5&11
< 1.8
0 0 0 2:;%; /=
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 1712 (mm)
Payload (kg) Stroke (mm) Offset(mm) 100~2600:E&F
N = . TP 100~2300: 4% ¥F
- BAH-50kgE, BRREMELERETRRSMP. =

- ROBBEENREV=1m/s BITEFM30000kmAEH
- ATEREERSS, REREEHFEERZE0.02/300mmA



48 HIWIN

MM16TC04-2202

HIWIN 49

Standard Single-Axis Linear Motor Stage

e = = /
oo R | E0EH | Bk | BRRE BOOEE| FE | -
SSA-1 8%‘\ §|J -M E@J? - bt et e | o | B

BiE | EEHESN | EEED | RERE | BEBHEE | (712
\e SSA' 1 8%5“ - M %@J? Ei (N) FTﬁN] EEl?/sl (kgl - (1r-nIml
100~2600

- N = 8o 21 79 WA X = . = U 2 79 4.4 6 x2 100~2
SSA-185200 | 4T 1% O mAREEEN T | B0 05 5 5.6 ssA-185200 | 4 72 O EakEmEEL T | B0 05 5 5.6 x 00-2300
100~2600 O E2ERAR 100~2300 © HEeERmTR
O BhgtERA O PR
2-M4x0.7Px6DP, (Stroke<900)
6-M4x0.7Px6DP,(Stroke>900)
2-M4x0.7PxBDP, (Stroke <1200) B B
6-M4x0.7Px6DP,(Stroke>1200) y | ,
8 8 ST Tl ([~ wlTi (R~ s
\ [ 0 ) | ®
O} e 3 0 9 | o { o |
40 7T ! f
40 KK 1 KK 40 g 40(TYP, | 40(TYP; \
i L. | 1 60 |ant0=120| \4-M4x0.7PxBDP 50 Tamaoetzn | \M4x0.7PxBDP
40(TYP, . For HIWIN drive(2m or 4
(IYP) | 4-M4x0.7Px8DP BIEHR ) WRER o rIvelem or 4, B EEHA MRS
60 | 3x40=120 2xN-275.5 THRU, 210x5DP / | For HIWIN drive(2m or 4m !
2xN-5.5 THRU, @10x5DP X1 Index(onical (1 —*—'—’g X2 Index(optical) i
AR WA AR 93.7 X1X2 +Limit
Index(optical) / -1 For HIWIN drive(2m or 4m; 2} 10 28 H7 x8DP 2 A
937 28 H x8DP _ T /’/’ /I‘T =% < =] 28 HT x8DP
o 10 - @8 H7 x8DP x 'S & ry & S S —
R : = : : = I [ =
— 1 23
= £\ 4 [[& & & r'S % ][ Py &\ 4 ';"!38 l.§§ t’@ \\ \\ \] o
(=
H 1 5’6 \ H H \\ 3 =g H H
9 g o9 =S _Limit +Limit 82 - i [
2L . rmg g im —‘G EE T T[T T T %
L, ° 8 E’ — | Il e = X1 Near home limit X2 Near home limit
£S — IF - i - A hd 8-M5x0.8Px10DP 120 X1 -Limit X2 -Limit 120 8-M5x0.8Px10DP
£S \ 7! — — —_— — 2- @8 H7x10DP
Near home limit 17 | el 154 b6 [\ _8-M5x0.8Px10DP 171 | e 154 be \2- 28 H7x10DP — 7_| 2§ 154 26
240 2-28 H7x10DP 240 240
(N-3)x120-LC 5 (N-3)x120=LC LB
A 33 LA 33
+ Direction—" X1 + Direction — > T <= X2 + Direction
LT 10(-Stopper) ST+10 (+Stopper)
LT/2 5(-Limit) ST+5 (+Limit)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) 175
ST/2+5 (-Limit) ST/2+5 (+Limit) 7L /L
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) == ( Il [ I
— I | —
{ = | { . ) co- ) .
\\ | I I \\ 175 ST(Effective stroke)
e o0 o e ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
185200-1-M 185200-2-M
1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950
LT 450 500 550 600 650 700 750 800 850 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 BT (ST) 120 170 220 270 320 370 420 470 520 570 620 670 720 770 820 870 920 970
— N 5 5 5 7 7 7 7 7 9 9 9 1" 11 1" 1Al 1Al 1" 13 13 LT 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 1600 =
co LA 384 434 484 534 584 634 684 734 784 834 884 934 984 1034 | 1084 | 1134 | 1184 | 1234 | 1284 N 7 7 9 9 9 1 1" 1 1 11 11 13 13 13 13 13 15 15 oo
% LB 105 130 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50 75 LA 684 734 784 834 884 934 984 1034 1084 1134 1184 1234 1284 1334 1384 1434 1484 1534 %
§|J L'C 240 240 240 480 480 480 480 480 720 720 720 960 960 960 960 960 960 1200 | 1200 LB 135 160 65 90 115 20 45 70 95 120 145 50 75 100 125 150 55 80 §|J
A 383 433 483 533 583 633 683 733 783 833 883 933 983 1033 | 1083 | 1133 | 1183 | 1233 | 1283 LC 480 480 720 720 720 960 960 960 960 960 960 1200 1200 1200 1200 1200 1440 1440
B - - - - - - - - - - - - - - - - - - - A 683 733 783 833 883 933 983 1033 1083 1133 1183 1233 1283 1333 1383 1433 1483 1533
E HWEES (kg) | 13.7 14.6 15.7 16.7 17.6 18.6 19.5 20.5 21.4 22.4 23.3 24.2 25.2 26.1 27.1 28.0 29.0 29.9 30.8 B - - - - - - - - - - - - - - - - - 360 E
;’51 1712 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 HaEE (kg) | 249 25.8 26.8 27.7 28.7 29.6 30.5 31.5 32.4 33.4 34.3 35.3 36.2 37.2 38.1 39.0 40.0 40.9 ;51
*E LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 1712 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 2100 2200 2300 - *E
*g, N 13 13 13 15 15 15 15 17 17 19 19 21 21 21 23 23 25 25 25 AMATAZ(ST) | 1020 1070 1120 1170 1220 1270 1320 1420 1520 1620 1720 1820 1920 | 2020 | 2120 | 2220 | 2320 - 1%
LA 1334 | 1384 | 1434 | 1484 | 1534 | 1584 | 1684 | 1784 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 LT 1650 1700 1750 1800 1850 1900 1950 2050 2150 2250 2350 2450 2550 2650 2750 2850 2950 -
LB 100 125 150 55 80 105 155 85 135 65 115 45 95 145 75 125 55 105 155 N 15 15 15 15 17 17 17 19 19 21 21 21 23 23 25 25 25 -
LLC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 LA 1584 1634 1684 1734 1784 1834 1884 1984 2084 2184 2284 2384 2484 2584 2684 2784 2884 -
A 1333 | 1383 | 1433 | 1483 | 1533 | 1583 | 1683 | 1783 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 LB 105 130 155 60 85 110 135 65 115 45 95 145 75 125 55 105 155 -
B - - - - 360 360 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 LC 1440 1440 1440 1680 1680 1680 1680 1920 1920 2160 2160 2160 2400 2400 2640 2640 2640 -
HWAER kg) | 31.8 32.7 33.7 34.6 35.6 36.5 38.4 40.3 42.2 441 46.0 47.8 49.7 51.6 53.5 55.4 57.3 59.2 61.1 A 1583 1633 1683 1733 1783 1833 1883 1983 2083 2183 2283 2383 2483 2583 2683 2783 2883 -
B 360 600 600 600 600 600 600 600 600 840 840 840 840 840 1080 1080 1080 -
HWEER (kq) | 419 42.8 43.8 44.7 45.6 46.6 47.5 49.4 51.3 53.2 55.0 56.9 58.8 60.7 62.6 644 66.3 -
: kY =10 3 A L,
BEENEERE TR EIRE AR E RO & Bae iR E
SSA-185200 SSA-185200 SSA-185200
=l oad 1 kg ==Load 25 kg = Load 50 kg — Vertical == Horizontal R R AE
= 60 6 60
v
£ Q 4 @ LMSSA-18S5200-[J-JJLILI-LJC].LIJ-M-S-A0000
= 40 E4 =40
1] — he)
= 2 I
e S =
20 S2 © 20 =
: E % ErEE HARAERA
[S) ag
3 1:BE8F B2RP.5&11
<0 0 0 2897
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 1732 (mm)
Payload (kg) Stroke (mm) Offset(mm)

- ER#-50kgl, FEKEREMBELEETRER(ZHP.)
- ROBBEENREV=1m/s BITEFM30000kmAEH
- ATEREERSS, REREEHFEERZE0.02/300mmA

100~2600:BFF
100~2300: 837



50 ﬁfmﬂzoz HIWIN 51

Standard Single-Axis Linear Motor Stage

SSA-1 8?‘§U- S “"@J BiE | | BEREN  REEE | BBEHEE| 78 SSA-1 8?‘5“- S EE@J BE | | BRNES | REERE | BBHNER| 712
R EF mE | N || e | ba) | ) | R LHF g2 N | N | (s | kg | (o)
= . = S bt 2 100~2 ; = N - O b 2x2 [100-2
SSA-188300 | 47 OmammmpTw | WOX | 06 | 66 62 [100-2500 : SsA-188300 | 47 #2  OmammmmnTe | WOL | 08 | s 62x2_|100-2000
100~2500 © pmemzaE 100~2000 © Ame ez
O BgItiRA O PrsgitiRA
2-M4x0.7Px6DP,(Stroke<750)
2-M4x0.7Px6DP,(Stroke<1200) g
6-M4x0.7Px6DP (Stroke>1200) 6 M4x°‘7PXGDP'(S‘é°ke>750) 5
B B s
N
SN ~ ° 401°7 40|t * T 401°7 RN
. 201°] 01T RAED © oS | Tl
i i 1. S —
I
1] o v [ ] M0 TPREDP aavp [ ] 4-M4x0.7Px8DP
4otvP) || 4-MAX0.7PXEDP 125 | 3x40=120 125 | 3x40=120
125 | 3x40=120 .
For HIWIN drive
SEHAR /
2xN25.5 THRU. 210X5DP B BT IR BRI EREE o HiwiN drive
FEHR /MR For HIWIN drive(2 4 * 2m or 4m
Index(optical or drive(2m or 4m, w . C 28 HT x 8DP
@8 H7 x 8DP I T { o 10 —_
T T 2xN-295.5 THRU, @10x5DP - . ——— 33
g m | D4 | 28 H7 x8DP i pa s — — 2
& = A 33 —F g % = ==rw = — "
o g — P —— ——= =ﬁ1 R §§ =
5 = : R IEE I ;
| <La ~| A 9 —
wol L 5 8l 8 = s < EE- X7 -Limit X2 -Limit 28 H7 x8DP
B - & 58 ) =& =S By =
Se co Ee ‘ = =
. EQ T = - \ 8-M5x0.8Px10DP
n Ee e . 185 185 EM5Q.8Px10DP
8-M5x0.8Px10DP 17 Dl £ D 17 D E D
L 2-@3 THRU,
-Limit 1 D E D 8-M5x0.8Px10DP +Limit ‘ 570 30 28 H7x100P
i 2-@3 THRU, (N-3)x120=LC LB
Near home limit 370 28 H7x10DP
(N-3)x120=LC B — LA 33
LA 33 X1 Near home limit X2 Near home limit
+ Direction —> Z8 THRU, 28 HTX10DR X1 + Direction —> <=3 X2 + Direction
LT
LT L1z 10(-Stopper) ST+10 (+Stopper)
5(-Limit) ST+5 (+Limit)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) 240
ST/2+5 (-Limit) ST/2+5 (+Limit)
‘ ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) ‘ .I i {1 i: %._
5 = il T o |
H | 240 ST(Effective stroke)
e ce o Py
ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
185300-1-S 185300-2-S
1312 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 [ 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 | 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 BRITIZ(ST) | 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
N 7 7 7 7 7 9 9 9 9 9 1 1 1 1 1 13 13 13 15 LT 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 | 1530 | 1580 | 1630 | 1680 | 1730 | 1780
LA 514 | 564 | 614 | 664 | T14 | 764 | 814 | 864 | 914 | 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 n n n n n 13 13 13 15 15 15 15 15 15 17
- LB 50 | 75 | 100 | 125 | 150 | 55 | 8 | 105 | 130 | 155 | 60 | 85 | 110 | 135 | 160 | 65 | 90 | 115 | 20 LA 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 | 1464 | 1514 | 1564 | 1614 | 1664 | 1714 o
© LC 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 15 20 45 70 95 120 145 50 o
% A 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 Lc 720 960 960 960 960 960 | 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1440 | 1440 | 1680 %
N N
5| B - - - - - - - - - - - - - - - - - - - A 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 | 1513 | 1563 | 1613 | 1663 | 1713 5|
= c 88.7 B - - - - - - - - - - - - - - 600 600
D 2 c 88.7
1] E 284 D 26 1)
5] HMEAER (ko) | 160 [ 172 ] 184 [ 195 ] 207 | 218 | 230 | 242 [ 253 [ 265 | 276 | 288 [ 30.0 | 31.1 | 323 [ 334 | 346 | 358 | 369 E 284 £
) 77#2(ST) [ 1050 | 1100 | 1150 | 1200 [ 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | - Wa®mE (ko) | 322 | 333 | 345 | 356 | 368 | 380 | 391 | 403 | 414 | 426 | 438 | 449 | 461 | 47.2 | 484 | 49.6 18
LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 | - 1742 900 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000
% N 15 15 15 | 15 [ 15 [ 17 17 17 | 19 19 | 2 21 21 23 | 25 | 25 | 25 | 27 - BRITR(ST) | 940 990 | 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 1940 | 2040 %
LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | - LT 1830 | 1880 | 1930 | 1980 | 2030 | 2080 | 2130 | 2180 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930
LB 45 | 70 | 95 | 120 | 145 | 50 | 100 | 150 | 80 | 130 | 60 | 110 | 160 | 90 | 20 | 70 | 120 | 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25
LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 | - LA 1764 | 1814 | 1864 | 1914 | 1964 | 2014 | 2064 | 2114 | 2164 | 2264 | 2364 | 246k | 2564 | 2664 | 2764 | 2864
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 [ 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 [ 2613 | 2713 | 2813 | 2913 | - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
B - - - - | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 | - LC 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 1920 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640
B 88.7 108.7 - A 1763 | 1813 | 1863 | 1913 | 1963 | 2013 | 2063 | 2113 | 2163 | 2263 | 2363 | 2463 | 2563 | 2663 | 2763 | 2863
B 26 50.0 - B 600 600 600 600 600 600 600 840 840 840 840 840 840 | 1080 | 1080 | 1080
B 284 236.0 - c 88.7 108.7
WEES (ko) | 381 | 392 | 404 | 41.6 | 42.7 [ 439 | 462 | 485 | 53.8 | 56.2 | 585 | 60.8 | 63.1 | 654 | 67.8 | 701 | 724 | 747 | - D 26 50
E 284 236
& EmEE iR E TR EE 4R E RiOE e HiRE WAEE (g) | 507 | 519 | 530 | 542 | 614 | 625 | 637 | 648 | 660 | 683 | 706 | 730 | 753 | 77.6 | 799 | 822
SSA-18S300 SSA-185300 SSA-18S300
e==| 0ad 1 kg === Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 60 2,
. LEL
£ 3 g
c 40 E¢ 540 LMSSA-185300-[ J-L1C]CICI-0I01.1]1-S-S-A0000
g g £
— ©
220 ch &2 tHARAER
(8] = e
2 BrHE B2RP.5&11
0 0 0 S 8 (mm)
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 2: 88 F

Payload (kg) Stroke (mm) Offset(mm) 100~2500:B88)F

100~2000:4%h¥
- ER#-50kgl, FEKEREMBELEETRER(ZHP.)
- ROBBEENREV=1m/s BITEFM30000kmAEH
- ATEREERSS, REREEHFEERZE0.02/300mmA



57 HIWIN

MM16TC04-2202

HIWIN

Standard Single-Axis Linear Motor Stage

53

d
SSA-18%5I-M BHF B [N WU AEEE GOBRE| GR | o = SSA-18ZF5I-M E£F)F | B2 [=emn mmen| smas suana e
7]~ E /R (N) (N) (m/s) (kg) (mm) & ™ Pa RS >Z i) (N) (N) (m/s) (kg) (mm)
o . = 80 308 868 A 8.1 100~2500 \Q = e = G . . ~
- 1 E O BEHEFERN T o SSA-185300 Vi E O ERHEFERN T #o 308 868 bt 8.1x2 100~2000
SSA-18S300
100~2500 O AEmERaR 100~2000 © HEeERmTR
O BhgtERA O PR
2-M4x0.7Px6DP, (Stroke<750)
6-M4x0.7Px6DP, (Stroke>750)
2-M4x0.7PxBDP(Stroke<1200) B B
6-M4x0.7Px6DP,(Stroke>1200) . \ °°1 .,
B B ~ ° 40 1°7 k 4l T K 11°T 40 ° ~
| 3 H 8
c i} 40 11 T 15140 ¢ - -l ) /] =
40 K | KK N aorve) || aorv) ||
I \ @3 - 1 4-M4x0.7Px8DP - 1 4-M4x0.7Px8DP
) ol | il 125 | 3x40=120 125 | 3x40=120
40vP) ||
125 | 3ua0=tzq| \IMAXOTPAEDP FEHR BFHR SR/ B AR
1 For HIWIN drive(2m or 4m |
. For HIWIN drive
2xN-2/5.5 THRU, Z10x5DP ) 2xN-295.5 THRU, &10x5DP fﬁ;c’g X2 Index(optical %;Dg 2m or 4m)
Index(optical i 93.7 _ 98H7 x8DP X1 Index(optical) X1X2 +Limit ! W/L
ndex(optica For HIWIN drive(2m or 4m) « 10 ) A 33
93.7 28 H7 x8DP =7 s o 3 | ) ® s o]
d 10 2 28 HTXEDP E 1 & 7S [ & e [[\ e P @ L
- _ cw| 7 \\ g g T H H =
3 = = = i H ol o £ X1 Near home limit X2 Near home fimit
° g \ 8 3 2N 38 9
° S e 2 l‘ & &) gc X1 -Limit [ X2-Limit
1 — 23 28 H7 x8DP
g ‘8 r E § t% \ \\ +Limit \ 4‘ 8 § 5 é& H H d:{ =
° 2§ e E‘% 7 T Ed T )T T T ) F K3 L3
° 82 - Il = Se (= 7! 77
ts = Z 2 2 -2 T T T z
£S 1 ud — = — Jf 8-M5¢0.8Px10DP 185 ‘ t—||_2- 28 H7x10DP 228 HTXIODP L4~ 8-M5x0.8Px10DP
\N a7 || |26 284 _be|_ | \8-Ms5x0.8Px100P 17| g 284 o) 17 | g 284 b6
ear home limit 370 228 H7x100P 370 370
(N-3)x120=LC 1 (N-3)x120=LC B
LA 33 LA 33
+ Direction—> X1 + Direction —> o <= X2 + Direction
LT
LT/2 10(-Stopper) ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) 5(-Limit) ST+5 (+Limit)
ST/2+5 (-Limit) ST/2+5 (+Limit) ST(Effective stroke) 240
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) /[ [[
[ e [ )\ \
| | Py o6 o °
\\ \\ 7} 7/
° 28 o ° 240 ST(Effective stroke)
ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
185300-1-M 185300-2-M
1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 630 680 730 780 830 880 930 980 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 BT (ST) 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
— N 7 7 7 7 7 9 9 9 9 9 1" 1" 11 1" 1Al 13 13 13 15 LT 1030 1080 1130 1180 1230 1280 1330 1380 1430 1480 1530 1580 1630 1680 1730 1780 =
co LA 514 564 614 664 714 764 814 864 M4 964 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 1" 1 1 11 11 13 13 13 15 15 15 15 15 15 17 oo
% LB 50 75 100 125 150 55 80 105 130 155 60 85 110 135 160 65 90 115 20 LA 964 1014 1064 1114 1164 1214 1264 1314 1364 1414 1464 1514 1564 1614 1664 1714 ?{
§|J L'C 480 480 480 480 480 720 720 720 720 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50 §|J
A 513 563 613 663 713 763 813 863 913 963 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 LC 720 960 960 960 960 960 1200 1200 1200 1440 1440 1440 1440 1440 1440 1680
B - - - - - - - - - - - - - - - - - - - A 963 1013 1063 1113 1163 1213 1263 1313 1363 1413 1463 1513 1563 1613 1663 1713
E HEESE (kg) | 183 19.5 20.7 21.9 23.1 24.2 25.4 26.6 27.8 29.0 30.2 31.4 32.6 33.8 35.0 36.2 37.4 38.5 39.7 B - - - - - - - - - - - - - - 600 600 E
;’51 17#2 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 - HWEEE (k) 36.7 37.9 39.1 40.3 41.5 42.7 43.9 45.1 46.2 47.4 48.6 49.8 51.0 52.2 53.4 54.6 ;51
*E LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 - 1718 900 950 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 *E
ﬁ N 15 15 15 15 15 17 17 17 19 19 21 21 21 23 25 25 25 27 - BARATIZ(ST) 940 990 1040 1090 1140 1190 1240 1290 1340 1440 1540 1640 1740 1840 1940 2040 1§
LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 - LT 1830 1880 1930 1980 2030 2080 2130 2180 2230 2330 2430 2530 2630 2730 2830 2930
LB 45 70 95 120 145 50 100 150 80 130 60 110 160 90 20 70 120 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25
LLC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 - LA 1764 1814 1864 1914 1964 2014 2064 2114 2164 2264 2364 2464 2564 2664 2764 2864
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
B - - - - 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 | 1080 - LC 1680 1680 1680 1680 1920 1920 1920 1920 1920 2160 2160 2400 2400 2640 2640 2640
BWaER kg) | 409 42.1 43.3 44.5 45.7 46.9 49.3 51.7 54.0 56.4 58.8 61.2 63.6 66.0 68.3 70.7 73.1 75.5 - A 1763 1813 1863 1913 1963 2013 2063 2113 2163 2263 2363 2463 2563 2663 2763 2863
B 600 600 600 600 600 600 600 840 840 840 840 840 840 1080 1080 1080
HWEEE kg) 55.8 57.0 58.2 59.4 60.5 61.7 62.9 64.1 65.3 67.7 70.1 72.5 74.8 77.2 79.6 82.0

B S B 0 iR b AR [E]

1712 B E ph AR E

SSA-185300

RO B EAEH B HR[E]

=== \/ertical === Horizontal

SSA-18S300 SSA-185300
e=| 0ad 1 kg === Load 25 kg Load 50 kg
— 60 60
o~
g - -
e o
=40 E4 =40
—_ o

.S > @
: g £
© 20 S2 20
8 2
g

0 0 0

0 10 20 30 40 50 60 0 1000 2000 0 100

Payload (kg)

- ER#-50kgl, FEKEREMBELEETRER(2MP.)
- ROBBEENREV=1m/s BITEFM30000kmAEH

- ATRGEERSS, REEERTEERET0.02/300mmA

Stroke (mm)

200
Offset(mm)

300

400

MRS EEA

LMSSA-18S300-[1-[JL1L]L)-LIL]. ][ 1-M-S-A0000

HrHys

1:B8F
2: 487

AR AERS
FE2RIP5&11

17#2(mm)

100~2500:B8%F
100~2000: &% F



54 HIWIN

MM16TC04-2202

HIWIN 55

Standard Single-Axis Linear Motor Stage

2= BE | EEHN | EEED RERE BEBHEE| 712 BiE | EEHESN | EEED | RERE | BEBHEE | (712
SSA‘1 8?‘\§U'S E@J? FEJQ LrlNl FI?Nl K[?/s] (kg) B [:wjm] SSA"IS%?'J‘S %@J? EE (N) FTﬁN] EEl?/sl (kgl - (1r-nIml

<

- N = 8o 7 100~27 g = . = U 7 2 100~24
SSA-18C100 ?'_]' 12 O BEEHEERAN T ot 5 300 5 3 00~2700 < SSA-18C100 ?T 2 O BAHEERR T #ot 5 300 5 3x 00~2400
100~2700 O sHEmEaRmE 100~2400 © neazmz
O ERBEFIE1E O {ERENREIFIE(E
2-M4x0.7Px6DP, (Stroke <950)
6-M4x0.7Px6DP,(Stroke>950)
2-M4x0.7Px6DP, (Stroke<1200) B B
6-M4x0.7Px6DP, (Stroke>1200) ‘ oy
Il Il
’\. ® 40 I 0 I \% 40 T L r L 40 ® '\
< <
~ ~|
‘r . ; ‘ A 1‘ . I=—mu
40(TYP) 40(TYP)
4-M4x0.7Px8DP 4-M4x0.7PxEDP,
__J — 30/.3x40=120 30| 3x40=120
40(TYP) )
30| 30=120 4-M4x0.7Px8DP For HIWIN drive(2m or 4m SEHS WL RS
BEHE  FWELR
8 H7 x 8DP [ p—— 2xN-@5.5 THRU, @10x5DP
= : (6]
2xN-25.5 THRU, — For HIWIN drive(2m or 4m) N 28 H7 x 8DP
o 210x5DP jn e L ; 10 : 2
o 10 2 Index(optical) el DBHTXEBOP . o EE,;A [ =2 ﬁ =& = =t
I : — = %ﬁ;ﬁl _| £ \ \
2% IO T T 88+ |||28 &5 3
w0l o @ <2 |- — T ge /| /|
| O| B o 9 ao¢ © @] Sg - =
= < - & %08)' - en = E_Eg =2
8¢ = = - i T =TT \ g H7 x8DP
=& — X1 Near home limit X2 Near home limit -
& £e = — =J 8-M5x0.8Px10DP X1 -Limit X2 -Limit 8-M5x0.8Px10DP
90 8-M5x0.8Px10DP —_— 90 23 THRU 253 THRU, 90 R
i P o - - ]
-Limit 120(TYP) 17 | DL E D 2-23 THRU, 28 H7x10DP { +Limit 17| IDI__E _DIN s H7x10DP @8 H7x1opP A7 | DI, E D
Near home limit 180 | 180 180
- (N-3)x120=LC (N-3)x120=LC LB|
LA 33 LA 33
+ Direction —> X1 + Direction — > <= X2 + Direction
LT LT
LT/2 10(-Stopper) ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) 5( - Limit) ST+5 (+Limit) 145
ST/2+5 (-Limit) ST/2+5 (+Limit) ST(Effective stroke;
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) ﬁ % | % %_
J= - - | f '
-i i :I o {t ‘ ) |
145 ST(Effective stroke)
ST+5 (+Limit) 5( - Limit)
ST+10 (+Stopper) 10( - Stopper)
18C100-1-S 18C100-2-S
1712 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 | 1000 | 1050 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950
LT 390 440 490 540 590 640 690 740 790 840 890 940 990 | 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 BT (ST) 130 180 230 280 330 380 430 480 530 580 630 680 730 780 830 880 930 980
N 5 5 5 5 7 7 7 7 7 9 9 9 9 9 1 1 1 13 13 13 LT 640 690 740 790 840 890 940 990 1040 1090 1140 1190 1240 1290 1340 1390 1440 1490
LA 324 374 424 474 524 574 624 674 724 774 824 874 924 974 | 1024 | 1074 | 1124 | 1174 | 1224 | 1274 N 7 7 7 7 9 9 9 9 9 1" 1" " 13 13 13 13 13 13
= LB 75 100 125 150 55 80 105 130 155 60 85 110 135 160 65 90 115 20 45 70 LA 574 624 674 724 774 824 874 924 974 1024 1074 1124 1174 1224 1274 1324 1374 1424 =
(0] LC 240 240 240 240 480 480 480 480 480 720 720 720 720 720 960 960 960 | 1200 | 1200 | 1200 LB 80 105 130 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 oo
% A 323 373 423 473 523 573 623 673 723 773 823 873 923 973 | 1023 | 1073 | 1123 | 1173 | 1223 | 1273 'C 480 480 480 480 720 720 720 720 720 960 960 960 1200 1200 1200 1200 1200 1200 ?{
§|J B - - - - - - - - - - - - - - - - - - - - A 573 623 673 723 773 823 873 923 973 1023 1073 1123 1173 1223 1273 1323 1373 1423 §|J
= Cc 88.7 B - - - - - - - - - - - - - - - - - -
D 26 € 88.7
E E 94 D 26 E
;ﬂ HWAES kg) | 135 | 145 | 159 | 17.0 | 18.1 19.2 | 20.3 | 21.4 | 225 | 23.7 | 248 | 25.9 | 27.0 | 28.1 29.2 | 30.3 | 31.4 | 32.6 | 33.7 | 348 E 94 Ei
*E 1712 (ST) 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 - BWEES kg) | 219 23.0 24.1 25.2 26.3 27.5 28.6 29.7 30.8 31.9 33.0 34.1 35.2 36.3 37.5 38.6 39.7 40.8 *E
*g, LT 1390 | 1440 | 1490 | 1540 | 1590 | 1690 | 1790 | 1890 | 1990 | 2090 | 2190 | 2290 | 2390 | 2490 | 2590 | 2690 | 2790 | 2890 | 2990 - 1712 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 2100 2200 2300 2400 1%
N 13 13 13 15 15 15 17 17 17 19 19 21 21 23 23 23 25 25 27 - BRITE(ST) | 1030 1080 1130 1180 1230 1280 1330 1430 1530 1630 1730 1830 1930 2030 2130 2230 2330 2430
LA 1324 | 1374 | 1424 | 1474 | 1524 | 1624 | 1724 | 1824 | 1924 | 2024 | 2124 | 2224 | 2324 | 2424 | 2524 | 2624 | 2724 | 2824 | 2924 - LT 1540 1590 1640 1690 1740 1790 1840 1940 2040 2140 2240 2340 2440 2540 2640 2740 2840 2940
LB 95 120 145 50 75 125 55 105 155 85 135 65 115 45 95 145 75 125 55 - N 15 15 15 15 15 17 17 17 19 19 19 21 23 23 23 25 25 25
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2400 | 2640 | 2640 | 2880 - LA 1474 1524 1574 1624 1674 1724 1774 1874 1974 2074 2174 2274 | 2374 | 2474 | 2574 2674 2774 2874
A 1323 | 1373 | 1423 | 1473 | 1523 | 1623 | 1723 | 1823 | 1923 | 2023 | 2123 | 2223 | 2323 | 2423 | 2523 | 2623 | 2723 | 2823 | 2923 - LB 50 75 100 125 150 55 80 130 60 110 160 90 20 70 120 50 100 150
B - - - 360 360 360 600 600 600 600 840 840 840 840 840 | 1080 | 1080 | 1080 | 1080 - LC 1440 1440 1440 1440 1440 1680 1680 1680 1920 1920 1920 2160 2400 2400 2400 2640 2640 2640
B 88.7 108.7 - 1473 1523 1573 1623 1673 1723 1773 1873 1973 2073 2173 2273 2373 2473 2573 2673 2773 2873
B 26 50.0 - 360 360 360 360 600 600 600 600 600 600 840 840 840 840 840 1080 1080 1080
B

WEEE (ko) | 35.9 | 37.0 | 381 [ 39.2 [ 403 [ 426 | 44.8 | 48.2 [ 50.4 [ 52.7 [ 549 [ 571 [ 59.3 | 615 | 638 | 66.0 | 68.2 [ 70.4 | 72.7 | - 26 50.0

B 85 0 R h AR ] EIN=Fn- Al % 420

441 | 452

A
B
94 46.0 - c 88.7 108.7
D
E

1712 B ph AR E

43.0

WaEE kg) | 419

463 | 475 | 51 | 532 | 554 | 57.6 | 59.9

621 | 643 | 665 | 688 | 710 | 732 | 754

SSA-18C100 SSA-18C100 SSA-18C100
e=| 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal

— 60 6 60
g . - I LB
< 40 = =40
5 s 3 LMSSA-18C100-[]-JJJJ-C101.][J-5-S-A0000
i © =
820 § 2 &20 HARAERS
S e HBRP511

0 0 0

0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 ;;ﬁ%; 1742 (mm)

Payload (kg)

Stroke (mm)

Offset(mm)

- E8#>50kghF,

AR ERRAREETHRR(2RP.)

- ROBBEENREV=1m/s BITEFM30000kmAEH
- ATEREERSS, REREEHFEERZE0.02/300mmA

100~2700: B8 F
100~2400: 87



56 HIWIN HIWIN 57

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

;
SSA-1 8_?,.\§IJ_M ““@J BE | EEUES | BEEES | ReRE BOBEE| 08 = SS A_18?\§|J_M EE@J BE | EERD | | BRRE | BRSEE | TR
= BE)F = N | N | (ms) | kg) | (mm) : = Sq)F mH O N | N | s | kg | (mm)
4= 30 : & D 75 300 5 3.9 100~2700 N 4= 30 > & #iozt 75 300 5 3.9x2 | 100~2400
SSA-18C100 | 172 O mAMmmERN T SSA-18C100 | 1T #2 O BAMEERNTH
100~2700 O AEmseEzaR 100~2400 © HEgERmTR
O EFEBEFEE O EEBEFFIEE
O PHEMRA O PR
2-M4x0.7Px6DP, (Stroke<950)
6-M4x0.7Px6DP,(Stroke>950)
2-M4x0.7Px6DP, (Stroke<1200) B B
6-M4x0.7Px6DP, (Stroke>1200; ool
B B / /L
- ~ ° 40 I_;TK 207114 K 12140 ° ~
. -y L] - 8 H ] ) H &
40 1 TK 201111 kKT 140 ~ .= ] ) , =
| e 40(TYP) \ 40(TYP) \
) 2 i 4-M4x0.7PxBDP 4-M4x0.7Px8DP
7/ + * 7} 30 |__| 3x40=120 30 |__|3x40=120
40(TYP) ‘
4-M4x0.7Px8DP
30 |__|3x40=120
B/ EEE S/ WE LSRR
2xN-@/5.5 THRU, 10x5DP P 2xN-@/5.5 THRU, @10x5DP. 1 For HIWIN drive(2m or 4m) ‘
Index(optical) | For HIWIN drive(2m or 4m, X2 Index(optical) 3£" g
937 i
937 g HT xBDP 9 1o , xEsLmi e
3 10 — 2 28 H7 x8DP 33 ~ 7 For HIWIN drive
- _ 1 i — & Y & /7‘ \\E & 2m or 4m
x + \ Y / {l/ & ) b H i E_ \ H @8 H7 x8DP
] £ I T
L | S5 I 33 2|8 <38 X1 -Limit \\ \\}] X2 -Limit 1
w| o ol o E® . o —| = ol o
88 I’& g ce Limit \\ \\ +Limit o g5
o
. i 3 i} 2| ] ——
Ll g° = ) | = 2 5 I i I F
£2 \® Jjid i ® )] i K s< LS x/1/ Neor home it X2 Near home 1 /_t [ 8-m5x0.8Px10DP
- lear home lImi ear home limi
Near home limit 90 | 8-M5x0.8Px10DP 8-M5x0.8Px10DP, 90 ‘ 90 2- ¥8 H7x10DP
17 | d 94 be Nk 2-@8 H7x10DP 17| | el 04 g [ N2 28HTX10DP 17 | k6 94 g
180 180 180
(N-3)x120=LC LB (N-3)x120=LC LB
LA 33 LA 33
+ Direction—"> X1 + Direction > o <= X2 + Direction
LT T2 10(-Stopper, ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) S(-Limit) ST+5 (+Limit) 145
— — ST(Effective stroke)
ST/2+5 (-Limit) ST/2+5 (+Limit) 5 P
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) 1~ ——— ( o e
/1 /L I \ I
(o — : 1 ) ,
N \ \ N 145 ST(Effective stroke)
7/ i ST+5 (+Limit) 5( -Limit)
ST+10 (+Stopper) 10( -Stopper)
18C100-1-M 18C100-2-M
1712 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 [ 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 [ 950 [ 1000 | 1050 1712 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950
LT 390 | 440 | 490 | 540 | 590 | 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 | 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 A%4782 (ST) | 130 | 180 | 230 | 280 | 330 | 380 | 430 | 480 | 530 | 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980
'o_.o N 5 5 5 5 7 7 7 7 7 9 9 9 9 9 11 1 11 13 13 13 LT 640 | 690 | 740 | 790 | 840 | 890 | 940 | 990 [ 1040 | 1090 | 1140 | 1190 | 1240 [ 1290 | 1340 [ 1390 | 1440 [ 1490 ;
% LA 324 | 374 | 424 | 474 | 524 | 574 | 624 | 674 | 724 | 774 | 824 | 874 | 924 | 974 | 1024 | 1074 | 1124 | 1174 | 1224 | 1274 N 7 7 7 7 9 9 9 9 9 11 11 11 13 13 13 13 13 13 %
ﬁ LB 75 | 100 | 125 | 150 | 55 | 80 | 105 [ 130 | 155 | 60 | 85 [ 110 | 135 [ 160 [ 65 | 90 | 115 | 20 | 45 | 70 LA 574 | 624 | 674 | 724 | 774 | 824 | 874 | 924 | 974 | 1024 | 1074 | 1124 | 1174 | 1224 | 1274 | 1324 | 1374 | 1424 ﬁ
5 LC 240 | 240 | 240 | 240 | 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 [ 720 | 960 | 960 | 960 | 1200 | 1200 | 1200 LB 80 105 | 130 | 155 60 85 110 | 135 | 160 65 90 115 20 45 70 95 120 | 145 5
A 323 | 373 | 423 | 473 | 523 | 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 | 1073 | 1123 | 1173 | 1223 | 1273 LC 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1200 | 1200 | 1200
&) B - - - - - - - - - - - - - - - - - - - - A 573 | 623 | 673 | 723 | 773 | 823 | 873 | 923 | 973 | 1023 | 1073 | 1123 | 1173 | 1223 [ 1273 | 1323 [ 1373 | 1423 [E7]
B HWAES (ko) | 146 | 157 | 170 | 182 | 193 | 205 | 216 | 228 | 23.9 | 250 | 26.2 | 273 | 285 | 29.6 | 30.8 | 31.9 | 33.0 | 342 | 353 | 365 B - - - - - - - - - - - - - - - - - - B
38 4742 (ST) | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 | 2700 | - HEER (ko) | 241 | 253 | 264 | 276 | 287 | 298 | 31.0 | 321 | 333 | 344 | 356 | 367 | 37.8 | 39.0 | 40.1 | 413 | 424 | 43.6 18
LT 1390 | 1440 | 1490 | 1540 | 1590 | 1690 | 1790 | 1890 | 1990 | 2090 | 2190 | 2290 | 2390 | 2490 | 2590 | 2690 | 2790 | 2890 | 2990 | - 1712 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 [ 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400
1% N 13 13 13 15 15 15 17 | 17 17 19 19 | 21 21 23 | 23 | 23 | 25 | 25 | 27 - %4752 (ST) | 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1430 | 1530 | 1630 | 1730 | 1830 | 1930 | 2030 | 2130 | 2230 | 2330 | 2430 i3
LA 1324 | 1374 | 1424 | 1474 | 1524 | 1624 | 1724 | 1824 | 1924 | 2024 | 2124 | 2224 | 2324 | 2424 | 2524 | 2624 | 2724 | 2824 | 2924 | - LT 1540 | 1590 | 1640 | 1690 | 1740 | 1790 | 1840 | 1940 | 2040 | 2140 | 2240 | 2340 | 2440 | 2540 | 2640 | 2740 | 2840 | 2940
LB 95 | 120 | 145 | 50 | 75 | 125 | 55 | 105 | 155 | 85 | 135 | 65 | 115 | 45 | 95 | 145 | 75 | 125 | 55 - N 15 15 15 15 15 17 17 17 19 19 19 21 23 23 23 25 25 25
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2400 | 2640 | 2640 | 2880 | - LA 1474 | 1524 | 1574 | 1624 | 1674 | 1724 | 1774 | 1874 | 1974 | 2074 | 2174 | 2274 | 2374 | 2474 | 2574 | 2674 | 2774 | 2874
A 1323 | 1373 | 1423 | 1473 | 1523 | 1623 | 1723 | 1823 | 1923 | 2023 | 2123 | 2223 | 2323 | 2423 | 2523 | 2623 | 2723 | 2823 | 2923 | - LB 50 75 100 | 125 | 150 55 80 130 60 110 | 160 90 20 70 120 50 100 | 150
B - - - 360 | 360 | 360 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 | - LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 1920 | 2160 | 2400 | 2400 | 2400 | 2640 | 2640 | 2640
HEER (ko) | 37.6 | 388 | 39.9 | 41.0 | 42.2 | 445 | 468 | 49.3 | 515 | 538 | 56.1 | 58.4 | 60.7 | 63.0 | 653 | 675 | 69.8 | 721 | 74h | - A 1473 | 1523 | 1573 | 1623 | 1673 | 1723 | 1773 | 1873 | 1973 | 2073 | 2173 | 2273 | 2373 | 2473 | 2573 | 2673 | 2773 | 2873
B 360 | 360 | 360 | 360 | 600 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080
MEER (kg) | 447 | 459 | 470 | 481 | 493 | 504 | 51.6 | 53.9 | 561 | 58.4 | 60.7 | 63.0 | 653 | 67.6 | 699 | 722 | 745 | 767
: kY =10 3 A L,
BEENEERE TIREAERE HhARE RO B EE I HhiRE
SSA-18C100 SSA-18C100 SSA-18C100
—Load 1 kg ==Load 25 kg = Load 50 kg = Vertical == Horizontal R R AE
a60 6 60
v
£ = E LMSSA-18C100-[]-JJJC]-I0]. I ]-M-S-A0000
= 40 £ 4 =40
— he)
2 z g
o = =
o ch 20 BT YE HiAsHER
S 1:BE8F A2RP5&11
<0 0 0 28BF
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 1732 (mm)
Payload (kg) Stroke (mm) Offset(mm) 100-2700- B8 F

100~2400: 887
- BR-50kgH, KR EMERENETRRSHP.)
- ROEHENREV=1m/s BITESM30000km A4
- ATHREREERES, REEEHTEERRT0.02/300mmA



58 HIWIN HIWIN 59

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

SSA-1 8?‘§U- S “"@J BiE | | BEREN  REEE | BBEHEE| 78 SSA-1 8?‘5“- S EE@J BE | | BRNES | REERE | BBHNER| 712
S BHH) mE | N || e | b | ) | = SHF w0 N | (N | ms) | kg) | (mm
- . o S 1 100-2 € - N - & 1 2 |100-2
SSA-18C200 | 478 OmammmpTEm | WOR | 150 | 60 | 5 5 [100-2500 : SSA-18C200 | 47 %2 Omammmrre | ®OX | 150 | 600 | 5 | 5@ [100-2000
100~2500 O sz 100~2000 © HEgezRmTR
O EFEBEFEE O EEBEFFIEE
2-M4x0.7Px6DP,(Stroke<750)
2-M4x0.7Px6DP, (Stroke<1200) 6-M4x0.7Px6DP,(Stroke>750)
6-M4x0.7Px6DP, (Stroke>1200) ‘ B T+ | B |
B = 5 ~ ° 407°7 40r_° T 401°7 ° 0
;| NIRE N
. ° F . " T H - L=gRa
° 40 40 ° I
! 40177 401111 L2140 : 40TYP) || AAAXOTPXEDP 40vP) | ] 4-M4x0.7Px8DP
om0 - r T 125 | 3x40=120 : 125 | 3x40=120
1r hd r 1r
40TYp) || 4-M4x0.7Px8DP i ForHIWIN drive .
125 3x40=120, eI FEHR MBS 2m or 4m; BRLR ) BRLR BB For HIWIN drive
© X2 Index(optical 2m or 4m
# i @8 H7 x 8DP imi
Index(ontical) LR | R R For HIWIN drive(2m or 4m ¢ S X1X2 +limit ) 3
@8 H7 x 8DP if L + - o= -y ==
© = T I 2xN-@5.5 THRU, @10x5DP o g == M e~ =
o 10 _ 2 A 2R - 28 H7 x8DP 33 i?
5 = = 23t |||23 & :
(- g \g# - = x g 2K 8% 5]
S EN 4 =l 58 X7 -Cimit X2 it 28 HT x8DP
Z8 =& =S| [
— Xo] =m & . q - . "\'** .
B3| b > S| 850 e o cn Eo i T =
® e 2 2 <
3l gg 8-M5x0.8PX10DP [ 185 \ 185 8-M5x0.8Px10DP
& T b b — 17l E D 17 | E D
tn Se S | a0 ! 370 223 THRU,
@8 H7x10DP
-Limit 120(TYP) > imi 223 THRU, \ (N-3)x120=LC -1
cLimit 1 17 D E D 8-M5x0.8Px10DP +Limit 28 H7x10DP \ A 3
W 370 X1 Near home limit X2 Near home limit
(N-3)x120=LC LB i i . K
LA 33 X1 + Direction —> T <~ X2 + Direction
+ Direction > 2-¢73 THRU, @8 H7x10DP 10(-Stopper) ST+10 (+Stopper)
e 5(-Limit) ST+5 (+Limit)
12 ST(Effective stroke) | 240
ST/2+10 (-Stopper) ST/2+10 (+Stopper) = # =
ST/2+5 (-Limit) ST/2+5 (+Limit) 1 —HEE |
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) < <
240 i
E { } a— ST(Effective stroke)
[ | ST+5 (+Limit) 5(-Limit)
'I . 2o e | ST+10 (+Stopper) 10(-Stopper)
18C200-1-S 18C200-2-S
72 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 | 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 BMATIE(ST) | 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
N 7 7 7 7 7 9 9 9 9 9 11 11 11 11 11 13 13 13 15 LT 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 | 1530 | 1580 | 1630 | 1680 | 1730 | 1780
LA 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 1 11 1 11 1 13 13 13 15 15 15 15 15 15 17
LB 50 75 | 100 | 125 | 150 | 55 80 | 105 | 130 | 155 | 60 85 | 110 | 135 | 160 | ¢5 90 [ 115 | 20 LA 964 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 | 1464 | 1514 | 1564 | 1614 | 1664 | 1714
[ LC 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50 [
© A 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 LC 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1440 | 1440 | 1680 fo’)
XN B - - - - - - - - - - - - - - - - - - - A 963 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 | 1513 | 1563 | 1613 | 1663 | 1713 N
§|J C 88.7 B - - - - - - - - - - - - - - 600 600 §|J
= D 26 c 88.7
E 284 D 26
[ eSS (ko) | 192 | 203 [ 217 [ 229 | 241 [ 252 | 26.4 | 275 [ 287 | 29.9 | 31.0 | 322 | 333 [ 345 | 35.7 | 36.8 | 38.0 | 39.1 | 40.3 E 284 i}
£ 4342 (ST) | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | - HMWaE®E (ko) | 345 | 356 | 367 | 379 | 39.0 | 402 | 414 | 425 | 437 | 448 | 460 | 472 | 483 | 495 | 506 | 518 B
b3=) LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 | - 712 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 b=)
% N 15 15 15 15 15 17 17 17 19 19 21 21 21 23 25 25 25 27 - BT (ST) | 940 990 1040 | 1080 | 1140 | 1190 | 1240 | 1290 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 1940 | 2040 ®
LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | - LT 1830 | 1880 | 1930 | 1590 | 2030 | 2080 | 2130 | 2180 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930
LB 45 70 95 | 120 | 145 | 50 | 100 | 150 | 80 | 130 | 60 | 110 | 160 | 90 20 70 | 120 | 50 - N 17 17 17 15 19 19 19 19 19 21 21 23 23 25 25 25
LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 | - LA 1764 | 1814 | 1864 | 1524 | 1964 | 2014 | 2064 | 2114 | 2164 | 2264 | 2364 | 2464 | 2564 | 2664 | 2764 | 2864
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 [ 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 | - LB 75 100 125 75 55 80 105 130 155 85 135 65 115 45 95 145
B - - - - 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 | - LC 1680 | 1680 | 1680 | 1440 | 1920 | 1920 | 1920 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640
c 88.7 108.7 A 1763 | 1813 | 1863 | 1523 | 1963 | 2013 | 2063 | 2113 | 2163 | 2263 | 2363 | 2463 | 2563 | 2663 | 2763 | 2863
D 26 50 B 600 600 600 360 600 600 600 840 840 840 840 840 840 1080 | 1080 | 1080
E 284 236 € 88.7 108.7
WEES ko) | 41.5 | 426 | 438 | 449 | 461 | 47.3 | 496 | 519 | 572 | 595 [ 61.9 | 642 | 665 | 688 | 71.1 | 735 758 | 781 | - D 26 50
E 284 236
b 3 4T3 E5 3 © =1 RE=S . . . . . . . . . . . . . . . .
ﬁﬁ;ﬂbﬂ}iglﬁiﬁ ﬁaiigﬁggrgﬂgﬁ ﬁ'b\ﬁsﬁﬁbﬁﬁﬂﬁ HWEERE kq) | 53.0 54.1 55.3 56.4 63.6 64.8 65.9 67.1 68.2 70.6 72.9 75.2 77.5 79.8 82.2 84.5
SSA-18C200 SSA-18C200 SSA-18C200
e==| 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 60
3 _ I 155 2R B
£ Kl 2
40 €4 =40
S = 3 LMSSA-18C200-[J-[JJJCI-0I0].[J]-S-S-A0000
- = o
© o _>'~
220 22 F20
3 2
[S) =
<, . . DYYE i AER
1. EHF EBHP.
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 i HERPo&TT
Payload (kg) Stroke (mm) Offset(mm) o
17#2(mm)
N = . [Pp— 100~2500:E8)F
- EB#>50kghF, FBIKEBEMERENETHR(ZHP.) 100~2000: &8 F
RO B AN RTEV=1m/s BT EF 30000k &4

- ATRGEERSS, REEERTEERET0.02/300mmA



60 ﬁfmﬂzoz HIWIN 41

Standard Single-Axis Linear Motor Stage

B =3 =B 732 p / 3 S == = =39
SSA-18RFI-M EEBIF | 3 5 w7 | SSA-18ZFI-M HENT | 52 [#es e amew waman |

(N) (N) (m/s) (kg) (mm)
= v = &0 150 600 5 6.9 100~2500 *\{‘ = e - $iC 150 600 5 6.9 x2 100~2000
ssA-18c200 | 472 OmammmmnTe B0 - ssA-18C200 | 748 OmammmmnTm | B0 x
100~2500 O #Em2eExaR 100~2000 © HEgeRmR
O EENREAFIE(E O EBNRENFEE
O BhgItiRA O PR
2-M4x0.7Px6DP, (Stroke<750)
6-M4x0.7Px6DP (Stroke>750)
2-M4x0.7Px6DP,(Stroke<1200) B B
6-M4x0.7Px6DP, (Stroke>1200) \ B
B B / /
\ ° ~ ° 40 1°7 K 40]° K 11° 140 ° ~
Iy 0| 2 H 9
¢ 40 1 IK 4019 TH K 40 ¢ ~ - m— /) )/ =
| b 40(1vP) || 40TvP) ||
) ol | 1] e 4-M4x0.7Px8DP — 4-M4x0.7Px8DP
vl 7 125 | 3x40=120 125 | 3x40=120
40(TYP) ||
4-M4x0.7Px8DP
125 | 3x40=120 Sl BIEHR  FIALR B/ FL RS
| For HIWIN drive(2m or 4m; _ For HIWIN drive
ik iR | WAHR 2xN-25.5 THRU, 2/10x5DP ﬁ;‘z’g X2 Index(optical (2m or 4m)
2xN-25.5 THRU, &10x5DP . _g For HIWIN drive(2m or 4m) 93.7 @8 H7 x8DP X1 Index(optical) X1X2 +Limit
93.7 @8 H7 x8DP Index(optical) 0 10 2 A 33
i 10 218 H7 x8DP N 7
g —— 2 \ — N\ ° o (] o o] )i \ o]
_ 7 =1 i 1 w N 7S e /[ s N AN 2 N N
+ & 1 4 & [/ & APy ° g = ( | =
[ qE> e H \ e l S~
° 3 8o = o o ],:»g X1 Near home limit }] X2 Near home limit
3 3 r 2 3 =8 ~Limit \\ +Limit E I’ & & gé X1 -Limit [~ X2-Limit I
@ e e ° 8 X
o g5 . §e - Il Il Ll —
e z§ v — )+ B ¥ /
3e \ 17— 5 F o 100 ‘ 8-M5x0.8Px10DP  8-M5x0.8Px10DP
Near home limit -M5x0.8Px 185 Pp— >~ 28 H7x10DP 185
17 1 26 284 26 17/ | 26 284 Rl | — 17_| ke 284 b6
370
228 H7x10DP 370 370
(N-3)x120=LC e — LB (N-3)x120=LC LB
LA 33 A 5
+ Direction . . . .
e => X1 + Direction — > <=3 X2 + Direction
LT
LT/2 10(-Stopper) ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) — s —
ST/2+5 (-Limit) ST/2+5 (+Limit) S(Limit) T+5 (+Limit) 240
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) ST(Effec""e stroke) ,
[ [ [ I I
T — ) )
. ol .
[y 2 8 o L3 17 1
l 7 240 ST (Effective stroke)
ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
18C200-1-M 18C200-2-M
= 712 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | soo | 850 | 900 | 950 | 1000 712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 =
(0] LT 580 630 680 730 780 830 880 930 980 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 BT (ST) 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890 00
XN N 7 7 7 7 7 9 9 9 9 9 1 1 1 1 1 13 13 13 15 LT 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 | 1530 | 1580 | 1630 | 1680 | 1730 | 1780 N
5| LA 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 1 1 1 1 1 13 13 13 15 15 15 15 15 15 17 5|
LB 50 | 75 | 100 | 125 | 150 | 55 | 80 | 105 | 130 | 155 | 60 | 85 | 110 | 135 | 160 | 65 | 90 | 115 | 20 LA 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 | 1464 | 1514 | 1564 | 1614 | 1664 | 1714
Lc 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50
i} A 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 Lc 720 960 960 960 960 960 | 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1440 | 1440 | 1680 M
5t} B - - - - - - - - - - - - - - - - - - - A 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 | 1513 | 1563 | 1613 | 1663 | 1713 £
*E HEEE (kg) | 215 22.6 24.0 25.2 26.4 | 27.6 28.8 | 30.0 | 31.2 32.4 | 33.6 34.8 | 36.0 37.2 | 383 39.5 40.7 | 41.9 43.1 B - - - - - - - - - - - - - - 600 600 *E
% 4742 (ST) | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | - BWEES (ko) | 390 | 401 | 413 | 425 | 437 | 449 | 461 | 473 | 485 | 497 | 509 | 521 | 533 | 544 | 556 | 568 %
LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 | - 712 900 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000
N 15 15 15 | 15 | 15 | 17 17 17 | 19 19 | 2 21 21 23 | 25 | 25 | 25 | 27 - BRIT(ST) | 940 990 | 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 1940 | 2040
LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | - LT 1830 | 1880 | 1930 | 1980 | 2030 | 2080 | 2130 | 2180 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930
LB 45 | 70 | 95 | 120 | 145 | 50 | 100 | 150 | 80 | 130 | 60 | 110 | 160 | 90 | 20 | 70 | 120 | 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25
Lc 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 | - LA 1764 | 1814 | 1864 | 1914 | 1964 | 2014 | 2064 | 2114 | 2164 | 2264 | 2364 | 2464 | 2564 | 2664 | 2764 | 2864
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 | - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
B - - - - 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 | - Lc 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 1920 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640
WEE®E (ko) | 443 | 455 | 46.7 | 47.9 | 491 | 503 | 526 | 55.0 | 57.4 | 598 | 62.2 | 64.6 | 67.0 | 693 | 717 | 741 | 765 | 789 | - A 1763 | 1813 | 1863 | 1913 | 1963 | 2013 | 2063 | 2113 | 2163 | 2263 | 2363 | 2463 | 2563 | 2663 | 2763 | 2863

B 600 600 600 600 600 600 600 840 840 840 840 840 840 1080 1080 1080
BWEER kg) | 58.0 59.2 60.4 61.6 62.8 64.0 65.2 66.4 67.6 69.9 72.3 74.7 771 79.5 81.9 84.2

B S B 0 iR b AR [E] 1712 B E ph AR E RO B EAEH B HR[E]

SSA-18C200 SSA-18C200 SSA-18C200
e==| 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal fﬁ@%ﬁ EH
— 60 6 | 60
o
2 Q i B LMSSA-18C200-[]-JJI0I-001.0]-M-S-A0000
E 40 _i 4 T_%' 40
% 2 ] .
$20 <2 20 Brys H484ERA
g 2 1EET  #smPsall
o 0 0 2897
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 1712 (mm)
Payload (kg) Stroke (mm) Offset(mm)

100~2500:88&hF
100~2000:%)F
- BR#E-50kgh, FAKRERRRENETRIRSRP.
- ARDEBEENREV=1m/s B1TEFM30000kmAEH
- ATEREERSS, REREEHFEERZE0.02/300mmA



62 HIWIN HIWIN 63

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

SS A_zo?\gu_ S ““@J BiE | | BEREN  REEE | BBEHEE| 78 SS A_Zog\yu_ S EE@J BE | | BRNES | REERE | BBHNER| 712
S BHH) mE | N || e | ba) | ) | = LHF mH O N | N | s | kg | (mm)
/= z0 = #HoR 362 1023 2.2 6.4 100~2600 ¥ /=10 = #oR 362 1023 2.2 6.4x2 |100~2300
SSA-205300 | 17 7% O RRIIBARN ‘ SSA-208300 | 1T#E O £RIUBAIED
100~2600 O E#RIES 100~2300 O EERIED
O BEEHBERAN T O BEHEFERN T
O SNEBREBREE O NEBEBRE
2-M4x0.7Px6DP, (Stroke<900)
2-M4x0.7Px6DP,(Stroke<1200) 6-M4x0.7Px6DP,(Stroke>900)
6-M4x0.7Px6DP,(Stroke>1200)
\ B h B
B B [ m m i
~ ~ ° 407 ° 7 401174 1.°140 i ~
@ N N N
™~ ~| ~
° 401°1 40 1.°.740 ° LI N i i T
[ i 40(TYP) \ 4-M4x0.7Px8DP 4-M4x0.7Px8DP \ 40(TYP)
[ 60 _| 3x40=120 60 _| 3x40=120
40(TYP) \ 4-M4x0.7Px8DP ;
60 | 3x40=120 For HIWIN drive(2m or 4m) R
X40= 5 ; e I / #
2%N-035.5 THRU, @10x6DP BN BEHG For HIWIN drive(2m or. 4m) 4
2xN-@5.5 THRU, @10x6DP FIE AR/ WRER . 28 H7 x 8DP ! X2 Index optlc.al. —
—n—vﬁé For HIWIN drive(2m or 4m) 0 X1X2 +Limit M
28 H7 x 8DP * w1 .10 2 A 33
Index(optical) &8 H7 x8DP = f >+ 3 E3 £ 3 EIK3
) A X 0 == =i E;ﬁ? - -
v %g o 5
£ [} — ol v ) < X
S~ o N ) N @ c @ G g
3 S = g £§
I8 N g0 [ X1 -0mit X2 -Limit 28 H7 x8DP
5L =+ -
g8 En__| | 5 = —— ——— — =
gg L 8-M5x0.8Px10DP h20 ] X1 Near home limit X2 Near home limit 120/ 8-M5x0.8Px10DP
= — 17 b E D 17 | ID E D -
120 240 2-73 THRU, 2-73 THRU, 240
Near home limit 17 D E D 8-M5x0.8Px10DP 120(TYP) 28 H7x10DP 28 H7x10DP
240 - (N-3)x120=LC LBl
2-@3 THRU, @8 H7x10DP,
(N-3)x120=LC B LA 33
. LA. # X1 + Direction —> <~ X2 + Direction
+ Direction —> LT
LT 10(-Stopper) ST+10 (+Stopper)
L2 5(-Limit) ST+5 (+Limit)
: 175
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) |
ST/2+5 (-Limit) ST/2+5 (+Limit) "g Q#@:
\ ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) \ !
il il :I e e °® o e e |
‘-Fﬁ==;;==ﬁ‘ 175 ST(Effective stroke)
:i | ST+5 (+Limit) 5(-Limit)
= = S = e ST+10 (+Stopper) 10(-Stopper)
205300-1-S 205300-2-S
1752 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1712 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950
LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 BAFR2(ST) | 120 | 170 | 220 | 270 | 320 | 370 | 420 | 470 | 520 | 570 | 620 | 670 | 720 | 770 | 820 | 870 | 920 | 970
N 5 5 5 7 7 7 7 7 9 9 9 11 11 11 1 1 11 13 13 LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600
LA 384 | 434 | 484 | 534 | 584 | 634 | 684 | 734 | 784 | 834 | 884 | 934 | 984 | 1034 | 1084 | 1134 | 1184 | 1234 | 1284 N 7 7 9 9 9 1 1 11 11 11 11 13 13 13 13 13 15 15
LB 105 | 130 | 155 | 60 85 | 110 | 135 | 160 | 65 90 | 115 | 20 45 70 95 | 120 | 145 | 50 75 LA 684 | 734 | 784 | 834 | 884 | 934 | 984 | 1034 | 1084 | 1134 | 1184 | 1234 | 1284 | 1334 | 1384 | 1434 | 1484 | 1534
LC 240 | 240 | 240 | 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 LB 135 | 160 65 90 115 20 45 70 95 120 | 145 50 75 100 | 125 | 150 55 80
A 383 | 433 | 483 | 533 | 583 | 633 | 683 | 733 | 783 | 833 | 883 | 933 | 983 | 1033 | 1083 | 1133 | 1183 | 1233 | 1283 LC 480 | 480 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1200 | 1200 | 1440 | 1440
B - - - - - - - - - - - - - - - - - - - A 683 | 733 | 783 | 833 | 883 | 933 | 983 | 1033 | 1083 | 1133 | 1183 | 1233 | 1283 | 1333 | 1383 | 1433 | 1483 | 1533
C 91.7 B - - - - - - - - - - - - - - - - - 360
D 26 c 91.7
E 154 D 26
HEESR (kg) | 155 | 165 | 180 | 19.1 | 202 | 213 | 224 | 235 | 246 | 257 | 268 | 279 | 29.0 | 301 | 31.2 | 323 | 334 | 345 | 356 E 154
N 1742 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 HAER (kg) | 280 [ 29.1 [ 302 | 313 | 324 | 335 | 346 | 357 | 368 | 37.9 | 39.0 | 401 | 412 | 423 | 434 | 445 | 456 | 46.7 0
o LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 1712 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 - o
% N 13 13 13 15 15 15 15 17 17 19 19 21 21 21 23 23 25 25 25 A#ATAZ(ST) | 1020 | 1070 | 1120 | 1170 | 1220 | 1270 | 1320 | 1420 | 1520 | 1620 | 1720 | 1820 | 1920 | 2020 [ 2120 | 2220 [ 2320 - %
PARS ZJN
5| LA 1334 | 1384 | 1434 | 1484 | 1534 | 1584 | 1684 | 1784 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 LT 1650 | 1700 | 1750 | 1800 | 1850 | 1900 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 - 5|
< LB 100 | 125 | 150 | 55 80 | 105 | 155 | 85 | 135 | 65 | 115 | 45 95 | 145 | 75 | 125 | 55 | 105 | 156 N 15 15 15 15 17 17 17 19 19 21 21 21 23 23 25 25 25 -
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 LA 1584 | 1634 | 1684 | 1734 | 1784 | 1834 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 -
i) A 1333 | 1383 | 1433 | 1483 | 1533 | 1583 | 1683 | 1783 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 LB 105 | 130 | 155 60 85 110 | 135 65 115 45 95 145 75 125 55 105 | 155 - |
ER B - - - - 360 | 360 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 LC 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 - 3]
) c 91.7 111.7 A 1583 | 1633 | 1683 | 1733 | 1783 | 1833 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 - 15
D 26 50 B 360 | 600 | 600 | 600 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 -
% E 154 106 c 91.7 111.7 - %
WEES (kg) | 36.7 | 378 | 389 [ 400 | 41.1 | 42.2 | 444 | 466 | 508 | 53.0 | 552 | 574 | 59.6 | 61.8 | 640 | 66.2 | 684 | 70.6 | 72.8 D 26 50 -
— E 154.0 106 -
> EL 7 =] =33 51 7 =] N Ak, =]
B EHENEERE T2 AR E ph AR E] RO & HRES HRHRE] WEER (ko) | 478 | 489 | 500 | 511 | 522 | 553 | 564 | 586 | 60.8 | 66 | 672 | 694 | 716 | 738 | 76 | 782 | 804 | -
SSA-20S300 SSA-20S300 SSA-20S300
== | 0ad 1 kg === Load 25 kg Load 50 kg == \/ertical === Horizontal
<60 é0 LEL
4 — —
S Q2 2
<40 E4 =40 LMSSA-20S300-[ - JC1C]CI-CI0].11-S-S-A0000
.2 = @©
= = o
o = = HARAERA
S 20 22 520 %ﬁﬁﬁ;s&ﬂ
g - BFUE HEEIP
<9 0 0 1:;%@1? 1742 (mm)
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 28HF 100~2600:8&hF
Payload (kg) Stroke (mm) Offset(mm) 100~2300: 28 F

- BEH>50kgkE, FBIKBEMEREETRE(2HP.Y)
- ROBEEENEEV=-1m/s BTEEM30000kmAIES
- ATRERERSS, REEEHTEERETE0.02/300mmA



A HIWIN HIWIN 65

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

= . » S S s =
SSA-20F5|-M BENF | j5 [ mme[smmeeme 8 T SSA-20RFI-M #BHTF | IE [*W[E[ e o
S =2 w8 | (N | (N | (mis)l | kg | (mm) | ae S 5= w0 N | (N | ms) | kg) | (mm
2= 10 = #nzt 362 1023 2.2 7.3 100~2600 \‘ /2= 100 = #030 362 1023 2.2 7.3 x2 100~2300
SSA-208300 | 1T 72 O £RJIRKHEAN : SSA-205300 | 1T #% O £RFIRAHEN
100~2600 O EFAES 100~2300 O &A=
O EEHEERAN T O BEHEFERN T
O SNEBREBREE O NEBEBRE
O BhgtERA O gt
2-M4x0.7PxBDP, (Stroke <900)
6-M4x0.7Px6DP, (Stroke>900)
2-M4x0.7Px6DP,(Stroke <1200) B B
6-M4x0.7Px6DP, (Stroke>1200) ) \ 001 [
B B ~ 0 . 40 \ 40 ® \ ® 20 g A ~
\ aol 3 | <
g 3 /( L [ v ” . } ) o g Memeem— °°
: T Wi T . ]
| ) by 40(TYP) ‘ 4-M4x0.7Px8DP 4-M4x0.7Px8DP L, 40(TYP)
) ) 0l | i 60 _| 3x40=120 60 _| 3x40=120
40(TYP. ; g
( 60 |3 1‘10—1 gp|  \EM4OTPXEDP X1 Index(optical) iR bR MR BRI WAL
x40= 2xN-275.5 THRU, @10x6DP For HIWIN drive(2m or 4m) X2 Index(optical) | ({4
r SR AR BRI ) © 94.7 28 H7 x8DP X1X2 +Limit M b{ M
2xN-5.5 THRU, 210x6DP %;Dé For HIWIN drive(2m or 4m, ol |10 —\ 2 A Bl
9.7 28 H7 x8DP Index(optical) N |facecs S =] /[ o (4 | _
3 10 = == ) p @8 H7 x8DP 3 ﬂ | \ N / / N N N N N / N x N F;;\}-;VXI[: drive
- \ 77 = S e 77 ] = | i ==
’_1 L L — Y // Y rS S s Y // s Y b i . \
©| | <t| o0 P
H i L ‘ ‘ l SIS l‘ & 3 X1 -Limit \\ \\ ] X2 -Limit ]
= 85
§ ug E § E — \\ \\ — l 4 8 g né [gl: \ l l 1 i L8 1T X80P
ac o T T T ki T T id
° 85 = /] i i
: 89 v LA Se 7/ 7/ =
§§ \ M // M M : M - // M 8-M5x0.8Px10DP 120 X1 Near home limit X2 Near home limit 8-M5x0.8Px10DP
< - ‘ 228 HTX10DP 2-28 H7X10DP 120
Near home limit 120 8-M5x0.8Px10DP 17] ] p6l 154 pg | N2 TDAEE 17 |bd 154 b4
17_| 6 154 D8\ 2-28 H7x10DP 240 240
240 (N-3)x120=LC L8
(N-3)x120=LC L8 LA 33
—LA 32 X1+ Direction =—> <=3 X2+ Direction
+ Direction —> LT
LT 10(-Stopper) ST+10 (+Stopper)
LT 5(-Limit) ST+5 (+Limit)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ) ST(Effective stroke) N 175
ST/2+5 (-Limit) ST/2+5 (+Limit) — ( l —
ST/2 (4 Effective stroke) ST/2 (§ Effective stroke) 4'3\\ \K I
/[ /[ 3 ) o ® o ) o ]
|| [ | | 175 ST(Effective stroke)
I \\ | \\ ST+5 (+Limit) 5(-Limit)
= 7/ = 7/ e ST+10 (+Stopper) 10(-Stopper)
20S300-1-M 20S300-2-M
17#2 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950
LT 450 500 550 600 650 700 750 800 850 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 BRITIE (ST) 120 170 220 270 320 370 420 470 520 570 620 670 720 770 820 870 920 970
N 5 5 5 7 7 7 7 7 9 9 9 1 11 1 1 1 1 13 13 LT 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 1600
LA 384 434 484 534 584 634 684 734 784 834 884 934 984 1034 | 1084 | 1134 | 1184 | 1234 | 1284 N 7 7 9 9 9 1Al " 1" 1 1" 11 13 13 13 13 13 15 15
LB 105 130 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50 75 LA 684 734 784 834 884 934 984 1034 1084 1134 1184 1234 1284 1334 1384 1434 1484 1534
LC 240 240 240 480 480 480 480 480 720 720 720 960 960 960 960 960 960 1200 | 1200 LB 135 160 65 90 115 20 45 70 95 120 145 50 75 100 125 150 55 80
A 383 433 483 533 583 633 683 733 783 833 883 933 983 1033 | 1083 | 1133 | 1183 | 1233 | 1283 ILE 480 480 720 720 720 960 960 960 960 960 960 1200 1200 1200 1200 1200 1440 1440
B - - - - - - - - - - - - - - - - - - - A 683 733 783 833 883 933 983 1033 1083 1133 1183 1233 1283 1333 1383 1433 1483 1533
HWaER kg) | 16.7 17.7 19.2 20.3 21.4 22.6 23.7 24.8 26.0 27.1 28.2 29.4 30.5 31.6 32.8 33.9 35.0 36.2 37.3 B - - - - - - - - - - - - - - - - - 360
172 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 HEES (kg) | 30.3 31.5 32.6 33.8 34.9 36.0 37.2 38.3 39.4 40.6 41.7 42.8 44.0 45.1 46.2 47.4 48.5 49.6
NG LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 1712 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 2100 2200 2300 - )
o N 13 13 13 15 15 15 15 17 17 19 19 21 21 21 23 23 25 25 25 BRITIZ (ST) | 1020 1070 1120 1170 1220 1270 1320 1420 1520 1620 1720 1820 1920 2020 2120 2220 2320 - o
% LA 1334 | 1384 | 1434 | 1484 | 1534 | 1584 | 1684 | 1784 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 LT 1650 1700 1750 1800 1850 1900 1950 2050 2150 2250 2350 2450 2550 2650 2750 2850 2950 - %
§|J LB 100 125 150 55 80 105 155 85 135 65 115 45 95 145 75 125 55 105 155 N 15 15 15 15 17 17 17 19 19 21 21 21 23 23 25 25 25 - §|J
— LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 LA 1584 1634 1684 1734 1784 1834 1884 1984 2084 2184 2284 2384 2484 2584 2684 2784 2884 -
A 1333 | 1383 | 1433 | 1483 | 1533 | 1583 | 1683 | 1783 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 LB 105 130 155 60 85 110 135 65 115 45 95 145 75 125 55 105 155 -
E B - - - - 360 360 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 LC 1440 1440 1440 1680 1680 1680 1680 1920 1920 2160 2160 2160 2400 2400 2640 2640 2640 - E
gﬁi HWEES (kg) | 384 39.6 40.7 41.8 43.0 441 46.4 48.7 50.9 53.2 55.5 57.7 60.0 62.3 64.5 66.8 69.1 71.3 73.6 A 1583 1633 1683 1733 1783 1833 1883 1983 2083 2183 2283 2383 2483 2583 2683 2783 2883 - ;Ei_
*E . = . < LE B 360 600 600 600 600 600 600 600 600 840 840 840 840 840 1080 1080 1080 - *E
v B EINEE AR E TR Edh4RE R & & ae I HhiRE BWAER (ko) | 508 | 519 | 53.0 | 542 | 553 | 564 | 576 | 59.8 | 621 | 64dk | 666 | 689 | 712 | 735 | 757 | 780 | 803 | - v
SSA-20S300 SSA-20S300 SSA-20S300
e=| 0ad 1 kg == Load 25 kg Load 50 kg === \/ertical === Horizontal
— 60 60
5 ) ) 1S5
Ew 4 =40
5 = 3 LMSSA-20s300-[]-[JILIC]-CI0.LIC]-M-S-A0000
® g <
=20 E=p) F20
e 2
(9] =2
2 BINE B
0 0 0 1EHF E2RIP5&11
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 2: 87
Payload (k Stroke (mm Offset(mm =
Y ko) (mm] (mm] 1712 (mm)
N = N [Pp— 100~2600:E&)F
- BRH-50kgh, FBKREMERENETRRSHP.)

100~2300: &8+
1m/s BT EFn30000kmBIEH

ROBHENEEV=
S, REREHTEERET0.02/300mmA

- AT RIRFEER



bb HIWIN HIWIN 67

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

== BiE | EEH)  BEMEN ReRE BBHEE| 178 :3:3 BiE | B | BEMED | RRRE | BBHMEE | 171
SSA‘ZO?‘\gU'S E@J? ER (N) (N) (m/s) (kg) (mm) "\. / SSA'ZO%?U‘S 2@_’? #ERY (N) (N) (m/s) (kg) (mm)
S-S | {172 O eRamk MOt | oub | 1% | 22 | 83 [100-2900 v SASED | FTRE O eRAEAH BORX | s | 1535 | 22 | 83x2 [100-2000
100~2500 O &mALER 100~2000 © =&RAIEE
O WA B T4 O WA AR T4
O AR ERR O SR ERAE
O Wit O BhstEiER
2-M4x0.7Px6DP (Stroke<750)
2-M4x0.7Px6DP, (Stroke<1200) 6-M4x0.7Px6DP.(Stroke>750)
6-M4x0.7Px6DP,(Stroke>1200) B «© B
B B | m am |

m;\

‘ 4-M4x0.7Px8DP ‘ 40(TYP) ||
125 | 3x40=120

125 3x40=120,

4-M4x0.7Px8DP

40(TvP) [ | 4-M4x0.7Px8DP

‘ 125 3x40=120, X1 Index(optical

2xN-@5.5 THRU, Z10x6DP

For HIWIN drive
2m or 4m

FEHR / REHR BEHR ) WEEE/ EREE

X2 Index(optical) /E For HIWIN drive
2xN-5.5 THRU, &10x6DP AR / WHE R ° c  @BHTx8DP —— YAX2 +Limit — (2m or 4m)
28 H7 x 8DP For HIWIN drive(2m or 4m) It J0 ) ‘ H )4 H A Ef o=,
N * & o LK LK o LK
E B 1% 2 {pdextoptial A ZBHTXBDP 4o o g M= g%g" D= V%‘
= ¢ b=l
§ 3 'ﬁ%%ﬁ% - gl L [[log] 4q e ¥ .
£ | - N o) 2 g - u N
ol e o s g §2 X7 Limit X2 -Limit
SIEF 38 5% ® e Eg o === - - =, of| \28 H7 x8DP
gg - m L —— 185 T I 8-M5%0.8Px10DP
En z§ - s 8-M5x0.8Px100P 47| []Ip E D 17 | E D ——
5 e,_v , 85 2.3 THRU, 370 370 2-23 THRU
- homﬁ 17 D E BEX0 BPX100P 28 H7x10DP 120(TYP) X1 Near home limit X2 Near home limit, o8 H7x10Dl;’
2:23 THRU, @8 H7x10DP — (N-9)x120=LC LB
223 THRU, £28 AOA0DR, (N-3)x120=LC 18 A 33
LA = X1 + Direction — > <= X2 + Direction
+ Direction —> LT
LT 10(-Stopper) ST+10 (+Stopper)
72 5(-Limit) ST+5 (+Limit sio
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) | ]
ST/2+5 (-Limit) ST/2+5 (+Limit) E ELE
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) :
1 (] (] °® o (] o |
E E a_ 240 ST(Effective stroke)
:i . . . . . | ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
205500-1-S 205500-2-S
1R (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 | 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 BRITAZ(ST) | 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
N 7 7 7 7 7 9 9 9 9 9 11 11 11 11 11 13 13 13 15 LT 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 | 1530 | 1580 | 1630 | 1680 | 1730 | 1780
LA 514 | 564 | 614 | 664 | T4 | 764 | 814 | 864 | 914 | 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 11 11 11 11 11 13 13 13 15 15 15 15 15 15 17
LB 50 75 | 100 | 125 | 150 | 55 80 | 105 | 130 | 155 | 40 85 | 110 | 135 | 160 | 65 90 115 | 20 LA 964 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 | 1464 | 1514 | 1564 | 1614 | 1664 | 1714
LC 480 480 480 480 480 720 720 720 720 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50
A 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 LC 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1440 | 1440 | 1680
B - - - - - - - - - - - - - - - - - - - A 963 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 | 1513 | 1563 | 1613 | 1663 | 1713
c 97.1 B - - - - - - - - - - - - - - 600 600
D 26 c 91.7
E 284 D 26
Wass 206 | 216 | 231 | 242 | 254 | 265 | 27.7 | 288 | 30.0 | 31.1 | 323 | 334 | 346 | 357 | 369 | 38.0 | 39.2 | 403 | 415 E 284
172 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 - HWEEE (k) 39.2 40.4 41.6 42.7 43.9 45.0 46.2 47.3 48.5 49.6 50.8 51.9 53.1 54.2 55.4 56.5
LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 | - 1712 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000
g N 15 15 15 15 15 17 17 17 19 19 21 21 21 23 25 25 25 27 - ERITIR(ST) | 940 990 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 1940 | 2040 B
% LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | - LT 1830 | 1880 | 1930 | 1980 | 2030 | 2080 | 2130 | 2180 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930 P
5| LB 45 70 95 | 120 | 145 | 50 | 100 | 150 | 80 | 130 | 60 | 110 | 160 | 90 20 70 | 120 | 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25 5|
LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 | - LA 1764 | 1814 | 1864 | 1914 | 1964 | 2014 | 2064 | 2114 | 2164 | 2264 | 2364 | 2464 | 2564 | 2664 | 2764 | 2864
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 | - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
E B - - - - 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 | 1080 - LC 1680 1680 1680 1680 1920 1920 1920 1920 1920 2160 2160 2400 2400 2640 2640 2640 E
Bl c 91.7 111.7 - A 1763 | 1813 | 1863 | 1913 | 1963 | 2013 | 2063 | 2113 | 2163 | 2263 | 2363 | 2463 | 2563 | 2663 | 2763 | 2863 2|
38 D 26 50 - B 600 600 600 600 600 600 600 840 840 840 840 840 840 1080 | 1080 | 1080 18
E 284 236 - c 91.7 111.7
% WEaEE | 426 | 438 ] 449 | 461 | 472 | 484 | 50.7 | 53.0 | 583 | 60.6 | 629 | ¢5.2 | 67.5 | 69.8 | 721 [ 744 | 767 | 790 | - D 26 50 %
s e q ~ . E 284 236
B BNNEE AR E 1712 BRIR E R AR E Rl & B RE 7 BhARE] WEEE kg) | 577 58.8 60.0 61.1 68.3 69.4 70.6 71.7 72.8 75.1 77.4 79.7 82.0 84.3 86.6 88.9
SSA-20S500 SSA-20S500 SSA-20S500
=== | 0ad 1 kg ===Load 25 kg Load 50 kg === \/ertical === Horizontal
= 60 60
wn
z Q B g sREA
= 40 Ed e 40
;«i z g LMSSA-20S500-[1-CJC]C10]-CI0.C[]-S-S-A0000
o
2 20 32 20 I
S . . . BIHE %%%l?fp.s&n
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 LEBT 178 (mm)
Payload (kg) Stroke (mm) Offset(mm) 2487 100~2500: B2 &hF

100~2000: 837
- EB#-50kgl, FEKREMEREETHERZP.)

- ROBHEENREV=1m/s BITEZ30000km A EHE
- ATRFERELRSS, REEEETEEREZET0.02/300mmpAy



68 HIWIN HIWIN 69

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

= . » S S s =
SSA-20F5|-M BENF | j5 [ mme[smmeeme 8 T SSA-20FFI-M SENF | 52 [[=ne| e emae o
S =2 w8 | (N | (N | (mis)l | kg | (mm) | ae S 5= w0 N | (N | ms) | kg) | (mm
2= 10 = #nzt 544 1535 2.2 9.7 100~2500 \‘ /2= 100 = #030 544 1535 2.2 9.7x2 100~2000
SSA-208500 | 1T 72 O £RJIRKHEAN : SSA-208500 | 1T #E O £RIEAHES
100~2500 O E#RIES 100~2000 O EERIED
O EEHEERAN T O BEHEFERN T
O NBEBRAE O NBEBRAE
O BhgtERA O gt
2-M4x0.7Px6DP, (Stroke <750)
6-M4x0.7Px6DP, (Stroke>750)
2-M4x0.7Px6DP, (Stroke £1200) B B
6-M4x0.7Px6DP,(Stroke>1200] |
B B 0 i L l I 0‘ 0
\\ - ~ 40]°7 K\ 40l T \\ [ 140 ~
5 il [ l [ il - 3 I } } } } __|_ 3
H ﬂL_J 201571 \U 40 ~| 40(TYP i : 7] 77 40(TYP) ,‘ * il
| 3 401vp) || 4-M4x0.7Px8DP e 4-M4x0.7Px8DP
| 2l | 1) 125 | 3x40=120 125 | 3x40=120
77 1/ X1 Index(optical N N
40(TYP) 4-M4x0.7Px8DP FE M EEHR ) B HELAER LG
7‘5310:1 20 e 2xN-25.5 THRU, @10x6DP " For HIWIN drive(2m or 4m) For HIWIN drive
X2 Index(optical) 4 (2m or 4m)
S3E A ERHAR o 4L 28 HT x8DP X1X2 +Limit =®=F:D/
2xN-@15.5 THRU, &10x6DP For HIWIN drive(2m or 4m 2 10 2 A 33
947 . A ° o [} o o] ° o [} ° o |
@8 H7 x8DP
g 10 28 R x8DF ) Index(optical) @8 H7 x8DP 3 ﬂ . b 4 P — S & /[ rs (l/ \a Y = rY S & {| 28 H7 x8DP
- 77 5] 77 °
ﬂ b \hx = Y /{ Y Y Y Y Y {/ S Y i 8 0 l :F g ’(U; X1 Near home limit }] X2 Near home limit )
3 L ‘ ‘ l &Y I & 8 X1 -Limt | X2 -Limit
i . ° 85
ge | HAE B we N K Sk ] ) A
N o< £§ i i i Jl T /] d
° o5 5S a 1/ 71/ = =
4 ° g o | /] A 8-M5x0.8PX100P ‘ ‘ 8-M5x0.8Px10DP
2§ il * ¥ ¥ ] - 185 L 2.28 H7x100P 2.8 H7x10DP 185
S 7 N 7 17 26 284 p6 17 26 284 26
o o 185 2]34 L | \eMox0epxtone 370 370
Near home limit (N-3)x120=LC LB
- 370 2-28 H7x10DP A 3
(N-3)x120=LC L8
LA 33 X1+ Direction—> <= X2+ Direction
. . LT
+ Direction :> 10(-Stopper) ST+10 (+Stopper)
— 5(-Limit) ST+5 (+Limit)
L1L2. ST(Effective strok 240
ST/2+10 (-Stopper) ST/2+10 (+Stopper) (Effective stro e/) Iy
ST/2+5 (-Limit) ST/2+5 (+Limit) up— [ || [l | s
ST/2 (} Effective stroke) ST/2 (} Effective stroke) | \\ \\ L
/ / // o // °® o / / o
(| | e [ (| 240 ST(Effective stroke)
I \\ 1 I \\ ST+5 (+Limit) 5(-Limit)
8 - i 290 1} ] ST+10 (+Stopper) 10(-Stopper)
20S500-1-M 20S500-2-M
1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 630 680 730 780 830 880 930 980 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 AT (ST) 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
N 7 7 7 7 7 9 9 9 9 9 1" 1 11 1 1 13 13 13 15 LT 1030 1080 1130 1180 1230 1280 1330 1380 1430 1480 1530 1580 1630 1680 1730 1780
LA 514 564 614 664 714 764 814 864 M4 964 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 1" 1" 1" 1 1" 13 13 13 15 15 15 15 15 15 17
LB 50 75 100 125 150 55 80 105 130 155 60 85 110 135 160 65 90 115 20 LA 964 1014 1064 114 1164 1214 1264 1314 1364 1414 1464 1514 1564 1614 1664 1714
LC 480 480 480 480 480 720 720 720 720 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50
A 513 563 613 663 713 763 813 863 913 963 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 I'C 720 960 960 960 960 960 1200 1200 1200 1440 1440 1440 1440 1440 1440 1680
B - - - - - - - - - - - - - - - - - - - A 963 1013 1063 1113 1163 1213 1263 1313 1363 1413 1463 1513 1563 1613 1663 1713
HaEE (kg) | 223 23.4 24.9 26.1 27.3 28.5 29.7 30.9 32.0 33.2 34.4 35.6 36.8 38.0 39.1 40.3 41.5 42.7 43.9 B - - - - - - - - - - - - - - 600 600
17#2 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 - HWEEE (k) 42.9 44.1 45.3 46.5 47.7 48.9 50.0 51.2 52.4 53.6 54.8 56.0 57.1 58.3 59.5 60.7
o LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 - 1712 900 950 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 )
o N 15 15 15 15 15 17 17 17 19 19 21 21 21 23 25 25 25 27 - BT (ST) 940 990 1040 1090 1140 1190 1240 1290 1340 1440 1540 1640 1740 1840 1940 2040 o
% LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | - LT 1830 | 1880 | 1930 | 1980 | 2030 | 2080 | 2130 | 2180 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930 %
’§|J LB 45 70 95 120 145 50 100 150 80 130 60 110 160 90 20 70 120 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25 ,§|J
- LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 - LA 1764 1814 1864 1914 1964 2014 2064 2114 2164 2264 2364 2464 2564 2664 2764 2864
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
E B - - - - 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 | 1080 - LC 1680 1680 1680 1680 1920 1920 1920 1920 1920 2160 2160 2400 2400 2640 2640 2640 E
gﬁi HWEEE kgl | 45.0 46.2 47.4 48.6 49.8 51.0 53.3 55.7 58.1 60.4 62.8 65.1 67.5 69.9 72.2 74.6 77.0 79.3 - A 1763 1813 1863 1913 1963 2013 2063 2113 2163 2263 2363 2463 2563 2663 2763 2863 ;,51
*E < =10 < N B 600 600 600 600 600 600 600 840 840 840 840 840 840 1080 1080 1080 *E
v aHENEELEE T2 El R E 4R E IR =Ea7: 1=l WaBE (ko) | 619 | 630 | 662 | 654 | 666 | 678 | 690 | 701 | 713 | 737 | 761 | 784 | 808 | 831 | 855 | 879 v
SSA-20S500 SSA-20S500 SSA-20S500
=] 0ad 1 kg === Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 6 60
5% ) ) LEL
£ £ 240
5 = 2 LMSSA-20S500-[_J-[J[J]C]-LI0C].C]-M-S-A0000
g F S
220 o2 F20
e 2
[S) =2
8 & DrBE il
0 0 0 1:BEF A2RP.5&11
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 2: 487
Payload (kg) Stroke (mm) Offset(mm) 4712 (mm)
N = N [Pp— 100~2500:B88)F
- EB#>50kghF, FBKEBEMERENETRE(ZHP.) 900028
R 100~2000: 88 F
1m/s BT EFn30000kmBIEH

ROEHEENRE

V=
- ATHREREERES, REEEHTEERRE0.02/300mmAy



70 HIWIN

MM16TC04-2202

HIWIN 71

Standard Single-Axis Linear Motor Stage

SSA_ 2 0 ?\ §|J _ S %@J ? BE | EEHH BERD | SeRE | BENEE 712 ) SSA_ 2 0 ?\ §|J _ S ‘E‘E@J% BE | EEHN BN RRdEE BBHNEE| 78
LR LY (N) (N) (m/s) (kg) (mm) 2 / 72J~ > L] (N) (N) (m/s) (kg) (mm)
SSA'Z[]S7[][] ?i. *E @ 2%@]%*}&7] SO 725 2048 2.3 (A 100~2400 ~N & SSA'ZUS7["] ?i_ *E © ﬁ%ﬂjskjﬁb #oR 725 2048 2.3 11 x2 100~1800
100-2400 © EBAHER 100~1800 © EMmE
O EEHEERAN T O BEHEFERN T
O NBEERTERE O NBE BRI 2-M4x0.7Px6DP, (Stroke<550)
6-M4x0.7Px6DP, (Stroke>550)
2-M4x0.7PxBDP, (Stroke<1100) X ) _B _ °°lH B___ . .
6-M4x0.7Px6DP,(StroBke>1100) E . . T*1a0 s .
| I il M~ ™~
° 40 1°1] AR IT° 140 ° — | i 1 - i
‘ 40(TYP) ___‘ 4-M4x0.7Px8DP 40(TYP) ,_,‘ 4-M4x0.7Px8DP
1] 175 | 3x40=120 175 | 3x40=120
orve) || 4-M4x0.7Px8DP X1 Index(optical) For HIWIN drive .
175 3x40=120 FEMLR MR o or 4m SR WAL ) RS
2xN-@75.5 THRU, &10x6DP ! pi— For HIWIN drive
FELR RS 28 HT x 8DP | X2 Index(optical) — 2m or 4m
@8 H7 x 8DP ) C X1X2 +Limit W
- ﬁ;ﬂ)é For HIWIN drive(2m or 4m) ,“.’\* 10 2 A 33
o c 2xN-@5.5 THRU, @10x6DP Index(optical o 03 - [ 03 03 E% 03 03 (3 - ¥
g 1o ) el A @8 H7 x8DP 13 R °T ~ 47 T4 =4 _ L= T L M
he]
i ¥ - - M M - ©| 10| ol 3 A - n
g / B SRS ISR W o N
o s I3 3 E XT -0t X2 -Limit 8 17 xB0P
89 ¢ S8 eime L 25U BTG S~ = T =G o
3 g = = = — YA ]
82 iy 8-M5x0.8Px10DP 235 \\ 235 | | 8-M5x0.8Px10DP
En gg — — 17, D E D 17 D /- D
T Limit 235 223 THRU, 470\ - {410
Near home limit 120(TYP) 17 D £ D @8 H7x10DP 120(TYP) \X1 Near home limit X2 Near home Ilmlt/ 2-73 THRU,
: 470 (N-3)x120=LC Lg 28 H7x100P
2-273 THRU, @8 H7x10DP (N-3)x120=LC LA 33
LA X1 + Direction —> <= X2 + Direction
+ Direction — > LT
LT 10(-Stopper) ST+10 (+Stopper)
LT/2 5(-Limit) ST+5 (+Limit)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) ‘-¢—
ST/2+5 (-Limit) ST/2+5 (+Limit) E 5 I E
ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke)
e | M1 cee . | L. |
E _— a._ 200 ' ' ST(Effective stroke) '
. N .. N . | ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
20S700-1-S 20S700-2-S
1752 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
LT 680 730 780 830 880 930 980 1030 1080 1130 1180 1230 1280 1330 1380 1430 1480 1530 ARATIZ (ST) 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840
N 7 7 7 9 9 9 9 9 1 1 11 11 11 13 13 13 15 15 LT 1230 1280 1330 1380 1430 1480 1530 1580 1630 1680 1730 1780 1830 1880 1930
LA 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 | 1464 N 1 13 13 13 13 15 15 15 15 15 15 17 17 17 17
LB 100 | 125 | 150 55 80 105 | 130 | 155 60 85 110 | 135 | 160 65 90 115 20 45 LA 1164 1214 1264 1314 1364 1414 1464 1514 1564 1614 1664 1714 1764 1814 1864
LC 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1440 | 1440 LB 160 40 65 90 115 20 45 70 95 120 145 50 75 100 125
A 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 LC 960 1200 1200 1200 1200 1440 1440 1440 1440 1440 1440 1680 1680 1680 1680
B - - - - - - - - - - - - - - - - - - A 1163 1213 1263 1313 1363 1413 1463 1513 1563 1613 1663 1713 1763 1813 1863
c 91.7 B - - - - - - - - - - 600 600 600 600 600
D 60 c 91.7
E 316 D 60
WEEE (ko) | 251 | 263 | 274 | 285 | 297 | 308 | 32.0 | 331 | 343 | 354 | 36.6 | 377 | 389 | 40.0 | 412 | 423 | 435 | 446 E 316
1742 (ST) 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 HWAES (kg)| 482 49.4 50.5 51.7 52.8 54.0 55.1 56.3 57.4 58.6 59.7 60.9 62.0 63.2 64.3
LT 1580 | 1630 | 1680 | 1730 | 1780 | 1830 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 1712 850 900 950 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800
N N 15 15 15 15 17 17 17 17 19 19 21 21 21 23 25 25 25 27 BT (ST)| 890 940 990 1040 1090 1140 1190 1240 1290 1340 1440 1540 1640 1740 1840 N
o LA 1514 | 1564 | 1614 | 1664 | 1714 | 1764 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 LT 1980 2030 2080 2130 2180 2230 2280 2330 2380 2430 2530 2630 2730 2830 2930 o
% LB 70 95 120 | 145 50 75 100 | 150 80 130 60 110 | 160 90 20 70 120 50 N 17 19 19 19 19 19 21 21 21 21 23 23 25 25 25 2
gl LC 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 LA 1914 1964 2014 2064 2114 2164 2214 2264 2314 2364 2664 2564 2664 2764 2864 gl
A 1513 | 1563 | 1613 | 1663 | 1713 | 1763 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 LB 150 55 80 105 130 155 60 85 110 135 65 115 45 95 145
B - - - 600 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 LC 1680 1920 1920 1920 1920 1920 2160 2160 2160 2160 2400 2400 2640 2640 2640
i1 c 91.7 111.7 A 1913 1963 2013 2063 2113 2163 2213 2263 2313 2363 2463 2563 2663 2763 2863 [
£ D 60 120.0 B 600 600 600 600 840 840 840 840 840 840 840 840 1080 1080 1080 £
i) E 316 196.0 g 917 117 35
% WEEE ko) | 458 | 469 | 481 | 492 | 504 | 515 | 527 | 550 | 603 | 626 | 649 | 672 | 695 | 71.8 | 741 | 764 | 787 | 81.0 D 60 120 %
E 316 196
B ENEEARE TIRBREfh4RE RO B e iR E HWAEE (kg)| 655 69.6 71.8 72.9 74.1 75.2 76.4 775 78.6 79.8 82.1 84.4 86.7 89.0 91.3

SSA-20S700 SSA-20S700

==| o0ad 1 kg == Load 25 kg

SSA-20S700
== \/ertical === Horizontal

Load 50 kg

=60 3 60
0
o Z, £ RIS IREA
c — o
'Lé £ _§ LMSSA-20S700-[ - 11C10]-CIC].JC1-S-S-A0000
o ©
% 20 s 1 &20 HARAERA
<< 0 0 0 BruE %E/%EE?EI;P.S&H
0 10 20 30 40 50 40 0 1000 2000 0 100 200 300 400 EET #742(mm)
Payload (kg) Stroke (mm) Offset(mm) 2. BT 100~2400: B8 F

100~1800:£¢
- BEH-50kgk, BRKBERRENETRISEP.) LES

- ROEHEENREV=1m/s BITESM30000kmAEH
- ATRFBERSS, REEEHTEERRT0.02/300mmA



79 HIWIN HIWIN 73

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

- - il - _ _
== BE | EFEHH BN | ReRE BEEE | 178 i S EiE | BN | BEREEH  RRRE BEgEES | 718
SSA-20&5I-M EEF | & 07N T P om e SSA-20R%FI-M &F)F | 55 [0 "mar e o
SSA-20S700 ?i’ *E 8 2;@}%7@&77 o 725 2048 2.3 128 100~2400 2, SSA-20S700 ?i. *E g 2§§j§j@&b #030 725 2048 2.3 12.8x2 |100~1800
~ &= - AEAMES
100~2400 S — 100-1800 O JEEHS RN T
O S E RS O HEEEREE
O BhEMIRF O BhEtiRs

2-M4x0.7Px6DP,(Stroke <550)

6-M4x0.7Px6DP, (Stroke>550]
B B

2-M4x0.7Px6DP,(Stroke <1200)

6-M4x0.7Px6DP,(Stroke>1200) / eol [
B B N ® 40T‘T 4OIoI—i T.T40 0 N
© < |_ <
. Iy | il . 3 — 3
40 401171 ({__m ~ - 1/ 7] -
\ 3 40(TYP) ._.‘ 4-M4x0.7Px8DP 40(TYP) ,_J 4-M4x0.7Px8DP
)/ I . B 175 3x40=120 175 3x40=120
40(TYP) || 4-M4x0.7Px8DP i
5 40120 ~ SR AR R For HIWIN rive(am or 4m SR8 (R BRI o N ae
P — 2xN-25.5 THRU, @10x6DP /%?* X2 Index(optical) /;/Z-- om or 4m
" : i 947 _ ZBHTX6DP N FY b X1X2 +Limit p— /
2xN-@/5.5 THRU, @10x6DP For HIWIN drive(2m or 4m o 0 2 X1 Index(optical A all 4]l 33
94.7 i 10 X1 Index(optical)
1) 28 H7 x8DP Index(optical) 28 H7 x8DP - \ s ) s o) \f>< s o ) 5 5]
©0 10 2 33 Y & & & /[ e & T & &
< // | {/{/ ﬂ ° = L L L ‘ =
3 ' e Y B S o
ﬂ o = L L ‘ ‘ 8 0| l :r'_ 3 k<) X1 Near home limit 3] X2 Near home limit
° \ ] 5 ] & 3 X1 -Limit H X2 -Limit ““}f_28 H7 x8DP
©| 10 | « =) . Limit ac
SRS I & ki ~Limit \\ \\ A 4 H % g O \ \ l l LZ@
° 85 <€ L L i —— i // i // 3 T k. k: k:
° § 9| EIZ] \ \ l l 7 ES
S o] 5SS q [N
4 £5 T ] My M - A AV T ] 8-M5x0.8Px10DP 235 I\ 228 H7x100p 235 | \2-28 Hrx100P 8-M5
= o 8-M5x0.8Px10DP, 8-M5x0.8Px10DP.
Near home imit 2 ! 8540 8Px100P 17] | g 384 26 17| bd 384 26
—carTeme T 17 | 126 384 6| 470 470
470 2-2/8 H7x10DP (N-3)x120=LC L8
(N-3)x120=LC - L8 A 3
LA 33
— irecti + Directi
+ Direction — > X1+ Direction—> T <= X2+ Direction
LT 10(-Stopper) ST+10 (+Stopper)
L1z 5(-Limit) ST+5 (+Limit)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) - 200
ST/2+5 (-Limit) ST/2+5 (+Limit) ST(Effective S"°/ke) /
ST/2 (3 Effective stroke) ST/2 (3 Effective stroke) [R— L L [P——
/L /L \ \‘
[ e ( . .. 1) .
. \ \‘ . 290 ST(Effective stroke)
/ 7/ ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
20S700-1-M 20S700-2-M
1752 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800
LT 680 730 780 830 880 930 980 1030 1080 1130 1180 1230 1280 1330 1380 1430 1480 1530 BRITRE(ST) 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840
N 7 7 7 9 9 9 9 9 " " 1" 1" 1" 13 13 13 15 15 LT 1230 1280 1330 1380 1430 1480 1530 1580 1630 1680 1730 1780 1830 1880 1930
LA 614 664 714 764 814 864 M4 964 1014 1064 114 1164 1214 1264 1314 1364 1414 1464 N 11 13 13 13 13 15 15 15 15 15 15 17 17 17 17
LB 100 125 150 55 80 105 130 155 60 85 110 135 160 65 90 115 20 45 LA 1164 1214 1264 1314 1364 1414 1464 1514 1564 1614 1664 1714 1764 1814 1864
LC 480 480 480 720 720 720 720 720 960 960 960 960 960 1200 1200 1200 1440 1440 LB 160 40 65 90 115 20 45 70 95 120 145 50 75 100 125
A 613 663 713 763 813 863 913 963 1013 1063 1113 1163 1213 1263 1313 1363 1413 1463 e 960 1200 1200 1200 1200 1440 1440 1440 1440 1440 1440 1680 1680 1680 1680
B - - - - - - - - - - - - - - - - - - A 1163 1213 1263 1313 1363 1413 1463 1513 1563 1613 1663 1713 1763 1813 1863
HWEEE k) | 27.4 28.6 29.7 30.9 32.1 33.3 34.5 35.7 36.8 38.0 39.2 40.4 41.6 42.7 43.9 45.1 46.3 47.5 B - - - - - - - - - - 600 600 600 600 600
1712 (ST) 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 2100 2200 2300 2400 HWaEE kg) 52.9 54.1 55.3 56.5 57.6 58.8 60.0 61.2 62.4 63.5 64.7 65.9 67.1 68.3 69.5
o LT 1580 1630 1680 1730 1780 1830 1880 1980 2080 2180 2280 2380 2480 2580 2680 2780 2880 2980 1712 850 900 950 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 )
o N 15 15 15 15 17 17 17 17 19 19 21 21 21 23 25 25 25 27 BRATIE (ST) 890 940 990 1040 1090 1140 1190 1240 1290 1340 1440 1540 1640 1740 1840 o
%\ LA 1514 1564 1614 1664 1714 1764 1814 1914 2014 2114 2214 2314 2414 2514 2614 2714 2814 2914 LT 1980 2030 2080 2130 2180 2230 2280 2330 2380 2430 2530 2630 2730 2830 2930 ?‘
N N
’§|J LB 70 95 120 145 50 75 100 150 80 130 60 110 160 90 20 70 120 50 N 17 19 19 19 19 19 21 21 21 21 23 23 25 25 25 ,§IJ
= LC 1440 1440 1440 1440 1680 1680 1680 1680 1920 1920 2160 2160 2160 2400 2640 2640 2640 2880 LA 1914 1964 2014 2064 2114 2164 2214 2264 2314 2364 2464 2564 2664 2764 2864
A 1513 1563 1613 1663 1713 1763 1813 1913 2013 2113 2213 2313 2413 2513 2613 2713 2813 2913 LB 150 55 80 105 130 155 60 85 110 135 65 115 45 95 145
E B - - - 600 600 600 600 600 600 840 840 840 840 840 1080 1080 1080 1080 LC 1680 1920 1920 1920 1920 1920 2160 2160 2160 2160 2400 2400 2640 2640 2640 E
gﬁi HWAEE kg) | 48.7 49.8 51.0 52.2 53.4 54.6 55.8 58.1 60.5 62.8 65.2 67.6 69.9 72.3 74.7 77.0 79.4 81.8 A 1913 1963 2013 2063 2113 2163 2213 2263 2313 2363 2463 2563 2663 2763 2863 ;,51
*E < = < < EE B 600 600 600 600 840 840 840 840 840 840 840 840 1080 1080 1080 *E
v BB NEEARE TR EEERh 4R E] EINzErzvali b e WaER (ko) | 706 | 718 | 730 | 742 | 754 | 766 | 777 | 789 | 801 | 813 | 836 | 860 | 884 | 907 | 931 v
SSA-20S700 SSA-20S700 SSA-20S700
== | 0ad 1 kg ==Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 60
5 ) ) LEL
£ @ ]
c 4o E2 540 LMSSA-20S700-[]-JICIC]-CIC].L]-M-S-A0000
g g S
@20 21 &'20
jJ}
O > =
g BTHE AR HERA
0 0 0 1EET ESRIP5a1
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 2.8 1
Payload (kg) Stroke (mm) Offset(mm) 712 (mm)
N = N [Pp— 100~2700: 8817
- BEE#E>50kghy, FAKRERRNEETRIRSRP. 100~2400: 88 F

1m/s BT EFn30000kmBIEH

ROBHENEEV=
S, REREHTEERET0.02/300mmA

- AT RIRFEER



74 HIWIN HIWIN 75

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

SSA-ZO?‘EJ-S ““@:,? BiE | EiEtS | ERES | RREE |BBHEE| 1712 SSA_ZO??U_S ‘E‘E@J BiE | St | B | RRRE | BEHEE | 172
S =21 mE | N || e | ba) | ) | = SHF w0 N | (N | ms) | kg) | (mm
2= 10 - = #ot 91 364 5 4.2 100~2600 k 4= 10 “ = 10 91 364 5 4.2 x2 100~2300
SSA-20C100 | 1T 32 O maMmmAmN T \ ssA-200100 | 1778 omammmmnTe | B0
100~2600 O EESERFIEE 100~2300 O EERBEFFIEE
O SNEEBRTE O ANEBERRTE
2-M4x0.7Px6DP,(Stroke<900)
2-M4x0.7Px6DP,(Stroke<1200) .
6-M4x0.7Px6DP (Stroke>1200) E-M4x0.7PxBDP, (Stroke>900)
B B I B i B i
~ ° 401°1 4017 174 1°140 i ~
N N
° 401°7 | - I i -
I 40(TYP) \ 4-M4x0.7Px8DP 4-M4x0.7Px8DP \ 40(TYP)
60 _| 3x40=120 60 _| 3x40=120,
40(TYP) ‘ 4-M4x0.7Px8DP X1 Index(optical For HIWIN drive(2m or 4m)
60 _| 3x40=120 58 i R For HIWIN drive(2m or 4m) RS/ WG RS
2xN-@5.5 THRU, 210x6DP FEWR ) BALR 1 x '"d::):z “‘E’" h
. )| +Limi
28 H7 x 8DP /—|*|—|ﬂ€ For HIWIN drive(2m or 4m) 6 R A < Rela ¥ 33
Index(optical) 28 H7 x8DP = = = ﬁ# < e
2 . 33 o O = miy = O
% P, g
g Q By ©| 1] o D ° RS
S S| N B = 8 8 © 5 9
I N — Ny 2g
o} g g XT -Cimit X2 -Limit 28 H7 x8DP
P o 8
2t EallUe =TG- T == o
88 ©n 5e = —_——— = =
g; C 8:M5x0.8Px10DP_—7| MM 120 E‘ b X1 Near home limit X2 Near home limit 120 /] 8-M5x0.8Px10DP
— 0 17 | D E D
120 240
Near home limit 17 |1p E 120(TYP) 233 THRU, 223 THRU,
—~e=arome ™ 120(TYP) 240 28 H7x10DP @8 H7x10DP
2-273 THRU, @8 H7x10DP (N-3)x120=LC L8
(N-3)x120=LC A =
LA o
irecti X1 + Direction —> <~ X2 + Direction
+ Direction—> LT
LT 10(-Stopper) ST+10 (+Stopper)
LT/2 5(-Limit) ST+5 (+Limit) ;
- 75
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) ‘
ST/2+5 (-Limit) ST/2+5 (+Limit) E E#
\ ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) \ :
1 ° o °® o o o |
hﬁ==;;==ﬁ 175 ST(Effective stroke)
:i | ST+5 (+Limit) 5(-Limit)
e e e e = ST+10 (+Stopper) 10(-Stopper)
20C100-1-S 20C100-2-S
1752 (ST) 100 | 150 [ 200 [ 250 [ 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1752 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950
LT 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 AXITREST) | 120 | 170 | 220 | 270 | 320 | 370 | 420 | 470 | 520 | 570 | 620 | 470 | 720 | 770 | 820 | 870 | 920 | 970
N 5 5 5 7 7 7 7 7 9 9 9 11 11 11 11 11 11 13 13 LT 750 | 800 | 850 | 900 | 950 | 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 | 1400 | 1450 | 1500 | 1550 | 1600
LA 384 | 434 | 484 | 534 | 584 | 634 | 684 | 734 | 784 | 834 | 884 | 934 | 984 | 1034 | 1084 | 1134 | 1184 | 1234 | 1284 N 7 7 9 9 9 11 11 11 11 11 11 13 13 13 13 13 15 15
LB 105 | 130 | 155 | 40 85 | 110 | 135 | 160 | 65 90 | 115 | 20 45 70 95 | 120 | 145 | 50 75 LA 684 | 734 | 784 | 834 | 884 | 934 | 984 | 1034 | 1084 | 1134 | 1184 | 1234 | 1284 | 1334 | 1384 | 1434 | 1484 | 1534
LC 240 | 240 | 240 | 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 LB 135 | 160 65 90 115 20 45 70 95 120 | 145 50 75 100 | 125 | 150 55 80
A 383 | 433 | 483 | 533 | 583 | 433 | 483 | 733 | 783 | 833 | 883 | 933 | 983 | 1033 | 1083 | 1133 | 1183 | 1233 | 1283 LC 480 | 480 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1200 | 1200 | 1440 | 1440
B - - - - - - - - - - - - - - - - - - - A 683 | 733 | 783 | 833 | 883 | 933 | 983 | 1033 | 1083 | 1133 | 1183 | 1233 | 1283 | 1333 | 1383 | 1433 | 1483 | 1533
c 91.7 B - - - - - - - - - - - - - - - - - 360
D 26 c 91.7
E 154 D 26
EER (ko) | 161 | 175 | 194 | 209 | 224 | 239 | 254 | 269 | 284 | 299 | 31.4 | 329 | 344 | 360 | 375 | 39.0 | 405 | 420 | 435 E 154
1742 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 [ 2100 [ 2200 [ 2300 [ 2400 | 2500 | 2600 #WAEE (kg) | 293 | 308 | 323 [ 338 | 353 | 36.8 | 383 | 39.9 | 414 | 429 | 444 | 459 | 474 | 489 [ 504 | 519 | 534 | 549
LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 1712 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 -
N N 13 13 13 15 15 15 15 17 17 19 19 21 21 21 23 23 25 25 25 A%4TA2(ST) | 1020 | 1070 | 1120 | 1170 | 1220 | 1270 | 1320 | 1420 | 1520 | 1620 | 1720 | 1820 | 1920 | 2020 | 2120 | 2220 | 2320 - N
4 LA 1334 | 1384 | 1434 | 1484 | 1534 | 1584 | 1684 | 1784 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 LT 1650 | 1700 | 1750 | 1800 | 1850 | 1900 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 - o
% LB 100 | 125 | 150 | 55 80 | 105 | 155 | 85 | 135 | 65 | 115 | 45 95 | 145 | 75 | 125 | 55 | 105 | 155 N 15 15 15 15 17 17 17 19 19 21 21 21 23 23 25 25 25 - %
gl LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 LA 1584 | 1634 | 1684 | 1734 | 1784 | 1834 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 - gl
A 1333 | 1383 | 1433 | 1483 | 1533 | 1583 | 1683 | 1783 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 LB 105 | 130 | 155 60 85 110 | 135 65 115 45 95 145 75 125 55 105 | 155 -
& B - - - - 360 | 360 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 [ 840 [ 1080 | 1080 | 1080 LC 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 - &
c 91.7 111.7 A 1583 | 1633 | 1683 | 1733 | 1783 | 1833 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 -
£ D 26 50 B 360 | 600 | 600 | 600 | 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 - £l
i) E 154 106 c 917 117 . b3z}
pod WEEE (ko) | 45.0 | 465 | 48.0 | 49.5 | 51.0 [ 526 | 556 | 58.6 | 63.6 | 66.6 | 69.6 | 72.7 [ 75.7 | 78.7 | 81.7 | 847 | 87.8 | 90.8 [ 938 D 26 50 - 1%
_ E 154 106 -
> EL 7 [=] % 533 [=] » =Lk, =]
B B BN R Hh AR E T2 R E AR E 1m0y E BRE 77 B AR E] HAER (ko) | 565 | 58.0 | 595 | 61.0 | 625 | 68 | 695 | 725 | 755 | 786 | 816 | 846 | 87.6 | 90.6 | 937 | 967 | 99.7 | -
SSA-20C100 SSA-20C100 SSA-20C100
= | 0ad 1 kg ===Load 25 kg Load 50 kg == \/ertical === Horizontal
— 60 6 60
R
2 — —
£ & [ =0 |
£, g, %, LEL
.9 > @
® 3 < LMSSA-20C100-[]-JJJ0-0I0].CIC]-S-S-A0000
@ 20 £2 © 20
- [a
IS 2 HARAERA
Q
< HSREP5&11
0 0 0 BFHE neR
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 LEHT 1732(mm)
Payload (kg) Stroke (mm) Offset(mm) 2887 100~2600:BFHF
- g 1 £ b = P 100~2300:85F
- BEH-50kgE, BIRIBEMRAREIETRIRSAP.) =

- ROBEEENEEV=-1m/s BTEEM30000kmAIES
- ATRERERSS, REEEHTEERETE0.02/300mmA



74 HIWIN

MM16TC04-2202

HIWIN 77

Standard Single-Axis Linear Motor Stage

- ERH-50kgl, FEKREMBELEETRER(ZHP.)
- ROBBEENREV=1m/s BITEFM30000km A4
- ATEREERSS, REREEETFEERZE0.02/300mmA

= ! S S s =
SSA-20 ?‘ §|J -M B8 @J ? BE [WMEn BWMEN BRER BUSHE] FR | o = SSA-20 ?‘ § |J -M ﬁ@] BE | EERD | | BRRE | BRSEE | TR
S =2 w8 | (N | (N | (mis)l | kg | (mm) | ae S SHF w0 N | (N | ms) | kg) | (mm
2= z0 . = #nzt 91 364 5 5.1 100~2600 \‘ /= 10 e & #ok N 364 5 5.1x2 100~2300
SSA-20C100 | 1T 72 O BEHEEANTH ) SSA-20C100 | 47 %2 O BEHREMRR T
100~2600 O EESERFIEE 100~2300 © {EEREN B (E
O SNEEBRTE O ANEBERRTE
O PHEMRA O PR
2-M4x0.7PX6DP, (Stroke <900)
2-M4x0.7Px6DP, (Stroke £1200) 6-M4x0.7Px6DP,(Stroke>900)
6-M4x0.7Px6DP, (Stroke>1200 B B
[-¢]
B \ B - “ /L i /L i -
\ o ~ 1°740 \ 41°T1 \ 1°T40 ~
® £ /{ l / [ ® 3 3
m__, \ M* _ \{__,m ~ [ ) )/ . ¢ j—
<
] | | < 40(TYP) | 4-M4x0.7Px8DP 4-M4x0.7Px8DP ‘._.m
7] W - t 7] 60 _| 3x40=120 60 _| 3x40=120
40(TYP) M40 7PXEDP > cal B WL FEAS / WAL ER LR
60 _| 3x40=120 In g\ ) ‘ —
2xN-25.5 THRU, @/10x6DP. or HIWIN drive(2m or 4m ' — 1
B HEEE 947 A X2 Index(optical) _ |
F{ For HIWIN drive(2m or 4m T ZBHT X80P, | N X1X2 +Limit |} |
94.7 8 H7 x8DP 2xN-26.5 THRU, @10x6DP :ﬂ:qj/—(—z e < = : — = -
3 10 ) \ Index(optical) 28 H7 x8DP 33 L \BA N J / N N N N N /k N For HIWIN drive
- 7 77 sdie s S | 77 ﬂ ° = H H = 2m or 4m
b Xb e // & & e e // & e & e '
# ° ) l l l l ©| 10 < ® k= - \]
: : SR I- NS g X1 -Limit X2 Hlimit - A\
— 5 c
o ) Y |2 \ver— | — cossoe
B s - = K k2 = T i = E i kK
° 85 o N /] /] i
4 ° §o £JLIJ \ ] \ ] Q/ 5e r
5 - i il hl M 8-M5x0.8PX10DP X1 Near home limit X2 Near home limit 8-M5%0.8Px100P
ae / O / 120 2-28 H7x10DP 2-2/8 H7x10DP 120
Near home limit 120 | 8-M5x0.8Px10DP 17| | 26 154 126] 17_| gl 154 26
17__| 26 154 26 2-78 H7x10DP 240 240
240 — c
N-3)x120=L
(N-3)x120=LC B (N-9) LB
LA 33 LA 33
+ Direction —> X1+ Direction —> . <~ X2+ Direction
L L2 10(-Stop.pe.r) ST+10 (+St.op.par)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) 5(-Limit) ST+5 (+Limit)
ST/2+5 (-Limit) ST/2+5 (+Limit) ~ ST(Effective stroke) ) 175
ST/2 (3 Effective stroke) ST/2 (3 Effective stroke) — ( | r—
[
{ = | { X - ) f — ;
\\ \\ 175 ST(Effective stroke)
= 7/ - ] - ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
20C100-1-M 20C100-2-M
1742 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950
LT 450 500 550 600 650 700 750 800 850 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1350 BATIZ (ST) 120 170 220 270 320 370 420 470 520 570 620 670 720 770 820 870 920 970
N 5 5 5 7 7 7 7 7 9 9 9 " 1" " " " " 13 13 LT 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 1600
LA 384 434 484 534 584 634 684 734 784 834 884 934 984 1034 | 1084 | 1134 | 1184 | 1234 | 1284 N 7 7 9 9 9 " " " 1" 1" " 13 13 13 13 13 15 15
LB 105 130 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50 75 LA 684 734 784 834 884 934 984 1034 1084 1134 1184 1234 1284 1334 1384 1434 1484 1534
L'C 240 240 240 480 480 480 480 480 720 720 720 960 960 960 960 960 960 1200 | 1200 LB 135 160 65 90 115 20 45 70 95 120 145 50 75 100 125 150 55 80
A 383 433 483 533 583 633 683 733 783 833 883 933 983 1033 | 1083 | 1133 | 1183 | 1233 | 1283 LC 480 480 720 720 720 960 960 960 960 960 960 1200 1200 1200 1200 1200 1440 1440
B - - - - - - - - - - - - - - - - - - - A 683 733 783 833 883 933 983 1033 1083 1133 1183 1233 1283 1333 1383 1433 1483 1533
HEaEE (kg) | 17.3 18.7 20.6 22.1 23.6 25.2 26.7 28.3 29.8 31.4 32.9 34.4 36.0 37.5 39.1 40.6 42.2 43.7 45.2 B - - - - - - - - - - - - - - - - - 360
1712 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 | 2600 HAaE= (kg) | 309 32.4 33.9 35.5 37.0 38.6 40.1 41.6 43.2 44.7 46.3 47.8 49.4 50.9 52.4 54.0 55.5 57.1
g LT 1400 | 1450 | 1500 | 1550 | 1600 | 1650 | 1750 | 1850 | 1950 | 2050 | 2150 | 2250 | 2350 | 2450 | 2550 | 2650 | 2750 | 2850 | 2950 1712 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000 2100 2200 2300 - 8
%\ N 13 13 13 15 15 15 15 17 17 19 19 21 21 21 23 23 25 25 25 BT (ST) | 1020 1070 1120 1170 1220 1270 1320 1420 1520 1620 1720 1820 1920 2020 2120 2220 2320 - g
’§ﬁ LA 1334 | 1384 | 1434 | 1484 | 1534 | 1584 | 1684 | 1784 | 1884 | 1984 | 2084 | 2184 | 2284 | 2384 | 2484 | 2584 | 2684 | 2784 | 2884 LT 1650 1700 1750 1800 1850 1900 1950 2050 2150 2250 2350 2450 2550 2650 2750 2850 2950 - ,§|]
= LB 100 125 150 55 80 105 155 85 135 65 115 45 95 145 75 125 55 105 155 N 15 15 15 15 17 17 17 19 19 21 21 21 23 23 25 25 25 -
LC 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 LA 1584 1634 1684 1734 1784 1834 1884 1984 2084 2184 2284 2384 2484 2584 2684 2784 2884 -
E A 1333 | 1383 | 1433 | 1483 | 1533 | 1583 | 1683 | 1783 | 1883 | 1983 | 2083 | 2183 | 2283 | 2383 | 2483 | 2583 | 2683 | 2783 | 2883 LB 105 130 155 60 85 110 135 65 115 45 95 145 75 125 55 105 155 - E
gﬁi B - - - - 360 360 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 LC 1440 1440 1440 1680 1680 1680 1680 1920 1920 2160 2160 2160 2400 2400 2640 2640 2640 - ;’51
*E WEEE kgl | 46.8 48.3 49.9 51.4 53.0 54.5 57.6 60.7 63.7 66.8 69.9 73.0 76.1 79.2 82.3 85.3 88.4 91.5 94.6 A 1583 1633 1683 1733 1783 1833 1883 1983 2083 2183 2283 2383 2483 2583 2683 2783 2883 - *E
*g B 360 600 600 600 600 600 600 600 600 840 840 840 840 840 1080 1080 1080 - *g.
7 =] 2=F0 F59 2 [=] A Lk, =]
BHENEEHRE TIREBREdh4RE R & & ae I HhiRE WAER (ko) | 586 | 602 | 617 | 632 | 648 | 663 | 679 | 71.0 | 740 | 771 | 80.2 | 833 | 864 | 895 | 925 | 956 | 987 | -
SSA-20C100 SSA-20C100 SSA-20C100
==| o0ad 1 kg ==Load 25 kg Load 50 kg === \/ertical === Horizontal = E
v
£ z Es LMSSA-20c100-[]-J0IO-0I0.LIC]-M-S-A0000
< 40 E4 =40
2 z g
e S =
20 L2 © 20 =
- : 8 BFHE HARAERA
S 1:BE8F B2RP.5&11
0 0 0 .85 7
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 742 (mm)
Payload (kg) Stroke (mm) Offset(mm)

100~2600:BFF
100~2300: 837




781ﬂWWV

MM16TC04-2202

IHWWV79

Standard Single-Axis Linear Motor Stage

2= BE | EEHN | EEED RERE BEBHEE| 712 BiE | EEHESN | EEED | RERE | BEBHEE | (712
SSA-ZO?&?U—S E@J? FEJQ LrlNl FI?Nl K[?/s] (kg) B [:wjm] SSA-ZO%W-S %@J? EE (N) FTﬁN] EEl?/sl (kgl - (1r-nIml

<

4= 30 . . #HoR 145 580 2.8 6 100~2500 - s= 10 . & o 145 580 2.8 6x2 100~2000
SSA-20C200 | 1T 72 O EEHBEARTH . SSA-20C200 | 9T 72 O BEHERERAR T o
100~2500 O EESERFIEE 100~2000 O EERBEFFIEE
O SNEEBRTE O ANEBERRTE
2-M4x0.7Px6DP (Stroke<750)
2-M4x0.7PxBDP, (Stroke<1200) 6-M4x0.7Px6DP, (Stroke>750)
6-M4x0.7Px6DP, (Stroke>1200) B | B
B B § 5
~ N~
ol l’: I
40
L ‘ 40(TYP) || 4-M4x0.7Px8DP ‘ 40P || 4-MAx0\7Px8DP
125 | 3x40=120 125 | 3x40=120
‘ 4ovp) || 4-M4x0.7PX8DP X1 Index(optical For HIWIN drive
125 | 3x40=120 P EEie ) WS 2m or 4m B WRELE R
2xN-@5.5 THRU, 210x6DP X2 Index(optical) :Dé For HIWIN drive
2xN-@5.5 THRU, ©10x6DP FE AR | WELR ) c 28 H7 x 8DP jj» X1X2 +Limit — (2m or 4m)
For HIWIN drive(2m or 4m) © 10 2 A [ 33
@8 H x 8DP ﬂ#—‘—’é -
0 C Index(optical | 4 | ]=N=‘j/ E — a < . = 'h%hﬂ: 2 = = = ‘v#‘
8 10 ) T(‘p—) - ZBH7X8DP o, ° =] - - = °
N =
PR | 3
£ x 0O aa Qg v ol L2 o S °
g & - Y T & & Es° J N
So 3 E XT Lt X2 -Limit
ol v | o 3 =8 _ = - - @8 H7 x8DP
SIr P Ny g2 L (0 B : e — of N\EATET
3% » 1\ N
86 185 | \ 185 | |
en -EE,_ C - 8-M5x0.8Px10DP_~7,| [T[p E D 17 o I E D 8-M5x0.8Px10DP
=< 185 2-73 THRU 370 \ [ 370
-Limit_ i N X1 Near hi limit X2 Near home limit 2-23 THRU,
Near home limit 120(TYP) 1z E 28 Hrxtopp | 120(TYP) Wt Near hame / @8 H7x10DP
= 370 (N-3)x120=LC LB
2-3 THRU, @8 H7x10DP (N3)x120-LC LA 33
LA X1 + Direction —> <= X2 + Direction
+ Direction —> T
LT 10(-Stopper) ST+10 (+Stopper)
T2 5(-Limit) ST+5 (+Limit)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) ST(Effective stroke) | 240
ST/2+5 (-Limit) ST/2+5 (+Limit) E = i E‘—
‘ ST/2 (1/2 Effective stroke) ST/2 (1/2 Effective stroke) ‘
‘# %‘ il L Sman 2 . |
" E y 240 ST(Effective stroke)
il o odo o e | ST+5 (+Limit) 5(-Limit)
1
ST+10 (+Stopper) 10(-Stopper)
20C200-1-S 20C200-2-S
1742 (ST) 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450 | 500 | 550 | 600 | 650 | 700 | 750 | 800 | 850 | 900 | 950 | 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 | 630 | 680 | 730 | 780 | 830 | 880 | 930 | 980 | 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 ERITR(ST) | 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
N 7 7 7 7 7 9 9 9 9 9 1 1 11 11 1 13 13 13 15 LT 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 | 1530 | 1580 | 1630 | 1680 | 1730 | 1780
LA 514 | 564 | 614 | 664 | 714 | 764 | 814 | 864 | 914 | 964 | 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 11 11 11 11 11 13 13 13 15 15 15 15 15 15 17
LB 50 75 100 | 125 | 150 | 55 80 105 | 130 | 155 | 60 85 110 | 135 | 160 | 65 90 115 | 20 LA 964 1014 | 1064 | 1114 | 164 | 1214 | 1264 | 1314 | 1364 | 1414 | 1464 | 1514 | 1564 | 1614 | 1664 | 1714
LC 480 | 480 | 480 | 480 | 480 | 720 | 720 | 720 | 720 | 720 | 960 | 960 | 960 | 960 | 960 | 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50
A 513 | 563 | 613 | 663 | 713 | 763 | 813 | 863 | 913 | 963 | 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 LC 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 | 1440 | 1440 | 1440 | 1440 | 1440 | 1680
B B B B B B B B R B B B B B R B B B B B A 963 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 | 1463 | 1513 | 1563 | 1613 [ 1663 | 1713
c 91.7 B - - - - - - - - - - - - - - 500 500
D 26 C 91.7
E 284 D 26
WEEE (kg) | 204 | 219 | 238 | 254 | 269 | 285 | 30.0 | 31.6 | 33.2 | 347 | 363 | 37.9 | 39.4 | 41.0 | 425 | 441 | 457 | 47.2 | 488 E 284
1752 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 - HWEEE ko) | 403 41.9 43.4 45.0 46.5 48.1 49.7 51.2 52.8 54.4 55.9 57.5 59.0 60.6 62.2 63.7
LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 - 1712 900 950 1000 | 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000
N N 15 15 15 15 15 17 17 17 19 19 21 21 21 23 25 25 25 27 - BRITIR(ST) | 940 990 1040 | 1090 | 1140 | 1190 | 1240 | 1290 | 1340 | 1440 | 1540 | 1640 | 1740 | 1840 | 1940 | 2040 N
o LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | - LT 1830 | 1880 | 1930 | 1980 | 2030 | 2080 | 2130 | 2180 | 2230 | 2330 | 2430 | 2530 | 2630 | 2730 | 2830 | 2930 o
% LB 45 70 95 120 | 145 | 50 100 | 150 | 80 130 | 60 110 | 160 | 90 20 70 120 | 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25 %
gl LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 - LA 1764 | 1814 | 1864 | 1914 | 1964 | 2014 | 2064 | 2114 | 2164 | 2264 | 2364 | 2464 | 2564 | 2664 | 2764 | 2864 gl
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
& B - - - - 600 | 600 | 600 | 600 | 600 | 840 | 840 | 840 | 840 | 840 | 1080 | 1080 | 1080 | 1080 - LC 1680 | 1680 | 1680 | 1680 | 1920 | 1920 | 1920 | 1920 | 1920 | 2160 | 2160 | 2400 | 2400 | 2640 | 2640 | 2640 &
c 91.7 11.7 - A 1763 | 1813 | 1863 | 1913 | 1963 | 2013 | 2063 | 2113 | 2163 | 2263 | 2363 | 2463 | 2563 | 2663 | 2763 | 2863
£ D 26 50 - B 600 400 600 600 600 600 600 840 840 840 840 840 840 1080 | 1080 | 1080 155}
i) E 284 236 - c 91.7 1.7 35
1% WEES (ko) | 504 | 51.9 | 535 | 551 | 56.6 | 58.2 | 613 | 644 | 706 | 737 | 768 | 79.9 | 83.1 | 862 | 89.3 | 92.4 | 95.6 | 98.7 | - D 26 50 1%
E 284 236
: 3 4=30F533 » 4, BEE (k 65.3 66.9 68.4 70.0 77.5 79.1 80.7 82.2 83.8 86.9 90.1 93.2 96.3 99.4 | 102.6 | 105.7
B ENRE AR E TR EhAR E RO B EaE D HhiRE L]

SSA-20C200 SSA-20C200 SSA-20C200
60 @ | 0ad 1 kg @== Load 25 kg Load 50 kg @ \/ertical @=== Horizontal
4 60
5 MRS R A
\; 40 _
£ £ E LMSSA-20€200-]-0J000-00.CI0-S-S-A0000
= =2 o
E z 3 HHASAER
= <} =20 =
] ] & FHSRIP.5&11
< = BFUE
0 o | " ; 0 1:;%@1? 1742 (mm)
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 AR 183:%%&%;
Payload (kg) Stroke (mm) Offset (mm) =

- EBE-50kgEF, FEKIREMRNZNETRER(ZHP.)
- RO BN REV=-1m/s B1TEF30000kmAY L
- ATHAEELSS, REREETEERSEE0.02/300mmA



80 HIWIN

MM16TC04-2202

HIWIN 81

Standard Single-Axis Linear Motor Stage

BiE | EEHESN | EEED | RERE | BEBHEE | (712
SSA-ZOJ%W-M %@J? Ei (N) FTﬁN] EEl?/sl (kgl - (1r-nIml

= = g
? (== F BE | St | RS | RRRE | BBHEE iz f i ;
SSA‘ZO/ \§IJ_M E@J Zjﬁ LFIN] ﬁFﬁNl ﬁ[?/s] (kg) B [2m] ;{\/
100~2500 .

/=30 . . WO | 145 580 28 7.4 /=100 . . @Ok | 145 580 2.8 7.4x2  |100-2000
SSA-200200 | 1THE O WAMEmANTH SSA-200200 | T2 O BAMEMMRNTH
100-2500 © EEmEse 100~2000 © fEEBmEE
O SNEEBRTE O ANEBERRTE
O BhsEMRA O BhFELRA
2-M4x0.7Px6DP, (Stroke <750)
6-M4x0.7Px6DP, (Stroke>750)
2-M4x0.7Px6DP,(Stroke <1200) B B
6-M4x0.7Px6DP, (Stroke>1200)
o]
B B /L 1 [
=) ~ ° 401°1 \\&LL \\ 1° 140 * He~
LJ . // / . L] g I N g
MHK 40 T ﬁ \{ 40 ~ . e Mo e } } } \ . Pt 1}
l g 7/ 7/
) L. | 1) 40(TYP) J 4-M4x0.7Px8DP 40(TYP) ,_J 4-M4x0.7Px8DP
71 ] 125 | 3x40=120 125 | 3x40=120
40vP) || 4-M4x0.7Px8DP ! Indox(ontical > X
125 | 3x40=120 % S A RS For HIWIN drive(2m or 4m) I AR / TSR AR R
> or rive(2m or 4m; For HIWIN drive
EEHE/ B 1 - f :D<
/ S AR WHEHR . 2xN-25.5 THRU, @10x6DP *—‘—’é / X2 Index(optical) frﬁ (2m or 4m)
2%N-235.5 THRU, 10x6DP ﬂ;oé For HIWIN drive(2m or 4m o —27 28 H7 80P X1X2 +Limit =®=|F:|j/
4T g 7 xeDP Index(opical) == 28 HT xBDP T A 33
&Ll 10 > 33 - = s ] //// //// \*ﬂ,. < 5 —
= s - s o] S 4 S S 4 S S -4
Y | R PR | EPS— 1 = | l = 28 HT 80P
i Gl [ :
: 1 of 1 Lo, 5 X1 Near home limit \D X2 Near home limit
<1 38 B Limit \\ \\ Limit & 5 r J & wﬁ X1-Limit X2 -Limit
Q= NI 3 -Limi imi ° 85
. 85 s 8 Sy ) ) .
e 25 — 1 \ 1 \ [:,( =E k K K3 K K3 ki K K2l i K K
S - =5
4 E"E’ K K T // T T T T T // T £S " = — -
s 7 o 7/ ! L o 2.8 H7x10DP L ‘ 8-M5x0.8Px10DP
185 ‘ M0 5P 100P 8-M5x0.8Px10DP 185 ‘ 2-2/8 H7x10DP 28 HTx 185
17__| 2§ 284 26| 17 26 284 6| 17| 126 284 26
Near home limit
E— 370 2-¢/8 H7x10DP S0 _ 70
(N-3)x120=LC - LB (N-3)x120=LC B
LA 33 LA 33
+ Direction —> X1+ Directionc—> <~ X2+ Direction
LT LT
LT/2 10(-Stopper) ST+10 (+Stopper)
ST/2+10 (-Stopper) ST/2+10 (+Stopper) 5(-Limit) ST+5 (+Limit)
ST/2+5 (-Limit) ST/2+5 (+Limit) ST(Effective stroke) 240
ST/2 (} Effective stroke) ST/2 (} Effective stroke) /[ /
/ —— — ——— _
(——— | \ \ :
1 | e o8 o e
\) \) ” d v —
[] 7 LX X ] ] ST(Effective stroke)
ST+5 (+Limit) 5(-Limit)
ST+10 (+Stopper) 10(-Stopper)
20C200-1-M 20C200-2-M
17#2 (ST) 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1712 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850
LT 580 630 680 730 780 830 880 930 980 1030 | 1080 | 1130 | 1180 | 1230 | 1280 | 1330 | 1380 | 1430 | 1480 BRATIE (ST) 140 190 240 290 340 390 440 490 540 590 640 690 740 790 840 890
N 7 7 7 7 7 9 9 9 9 9 11 1 1 11 1" 13 13 13 15 LT 1030 1080 1130 1180 1230 1280 1330 1380 1430 1480 1530 1580 1630 1680 1730 1780
LA 514 564 614 664 714 764 814 864 M4 964 1014 | 1064 | 1114 | 1164 | 1214 | 1264 | 1314 | 1364 | 1414 N 9 1" 1" 1" 1 11 13 13 13 15 15 15 15 15 15 17
LB 50 75 100 125 150 55 80 105 130 155 60 85 110 135 160 65 90 115 20 LA 964 1014 1064 114 1164 1214 1264 1314 1364 1414 1464 1514 1564 1614 1664 1714
LC 480 480 480 480 480 720 720 720 720 720 960 960 960 960 960 1200 | 1200 | 1200 | 1440 LB 155 60 85 110 135 160 65 90 115 20 45 70 95 120 145 50
A 513 563 613 663 713 763 813 863 913 963 1013 | 1063 | 1113 | 1163 | 1213 | 1263 | 1313 | 1363 | 1413 ILE 720 960 960 960 960 960 1200 1200 1200 1440 1440 1440 1440 1440 1440 1680
B - - - - - - - - - - - - - - - - - - - A 963 1013 1063 1113 1163 1213 1263 1313 1363 1413 1463 1513 1563 1613 1663 1713
HWaEE kg) | 22.2 23.7 25.6 27.2 28.8 30.4 32.0 33.6 35.2 36.8 38.4 40.0 41.6 43.2 44.8 46.4 48.0 49.6 51.2 B - - - - - - - - - - - - - - 600 600
172 (ST) 1050 | 1100 | 1150 | 1200 | 1250 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 - HBWEEE (k) 44.0 45.6 47.2 48.7 50.3 51.9 53.5 55.1 56.7 58.3 59.9 61.5 63.1 64.7 66.3 67.9
LT 1530 | 1580 | 1630 | 1680 | 1730 | 1780 | 1880 | 1980 | 2080 | 2180 | 2280 | 2380 | 2480 | 2580 | 2680 | 2780 | 2880 | 2980 - 72 900 950 1000 1050 1100 1150 1200 1250 1300 1400 1500 1600 1700 1800 1900 2000
N N 15 15 15 15 15 17 17 17 19 19 21 21 21 23 25 25 25 27 - BT (ST) 940 990 1040 1090 1140 1190 1240 1290 1340 1440 1540 1640 1740 1840 1940 2040 N
o LA 1464 | 1514 | 1564 | 1614 | 1664 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 - LT 1830 1880 1930 1980 2030 2080 2130 2180 2230 2330 2430 2530 2630 2730 2830 2930 o
%{ LB 45 70 95 120 145 50 100 150 80 130 60 110 160 90 20 70 120 50 - N 17 17 17 17 19 19 19 19 19 21 21 23 23 25 25 25 %
§|J LC 1440 | 1440 | 1440 | 1440 | 1440 | 1680 | 1680 | 1680 | 1920 | 1920 | 2160 | 2160 | 2160 | 2400 | 2640 | 2640 | 2640 | 2880 - LA 1764 | 1814 | 1864 | 1914 | 1964 | 2014 | 2064 | 2114 | 2164 | 2264 | 2364 | 2464 | 2564 | 2664 | 2764 | 2864 §|J
A 1463 | 1513 | 1563 | 1613 | 1663 | 1713 | 1813 | 1913 | 2013 | 2113 | 2213 | 2313 | 2413 | 2513 | 2613 | 2713 | 2813 | 2913 - LB 75 100 125 150 55 80 105 130 155 85 135 65 115 45 95 145
E B - - - - 600 600 600 600 600 840 840 840 840 840 1080 | 1080 | 1080 | 1080 - LC 1680 1680 1680 1680 1920 1920 1920 1920 1920 2160 2160 2400 2400 2640 2640 2640 E
WaER kg) | 52.8 54.4 56.0 57.6 59.2 60.8 64.0 67.1 70.3 73.5 76.7 79.9 83.1 86.3 89.5 92.7 95.9 99.1 - A 1763 1813 1863 1913 1963 2013 2063 2113 2163 2263 2363 2463 2563 2663 2763 2863
gﬁi B 600 600 600 600 600 600 600 840 840 840 840 840 840 1080 1080 1080 ;’51
s s 4= s ~ WA ==
b3z B HEnEEARE TR R E 45 CIRS=Ea7-zvalt E WaES (ko) | 695 | 711 | 727 | 743 | 759 | 775 | 791 | 807 | 823 | 855 | 87 | 918 | 950 | 982 | 101.4 | 1046 b3z}
*ﬁ SSA-20C200 SSA-20C200 SSA-20C200 *ﬁ'
60 @=L oad 1 kg == Load 25 kg “~Load 50 kg @ Vertical === Horizontal
4 60 =
_ | AL
L40
£ % =40 LMSSA-20Cc200-[J-JJO-0.JC-M-S-A0000
S £ =
=1 = 2 hel
© > @
o = 3
% 20 8 320 =
8 2 & BFHE HiaR
1By ECRXE
2: 85T
0 0! T - 0
0 10 20 30 40 50 60 0 1000 2000 0 100 200 300 400 1782 (mm)
Payload (kg) Stroke (mm) Offset (mm)

- E8#>50kgh, FEKEEMELEETRERSHP.)
- ROBEEENREV=-1m/s B1TEFM30000km A

- ATRERERSS, REEEHTEERETE0.02/300mmA

100~2700:EBEHF
100~2400: 887



89 HIWIN HIWIN 83

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

BE ) 2%

ERENR B REAES

EEE R (Arms) 5.1 - 8.5 12 :
BEREE B EAIRIEER KN @ ~ SBLEFSRIER B2  ERERCEmEM - 5ErILE)
EtherCAT/mega-ulink
MECHATROLINK Il
S ERBNIRIEISR
S BMELRREES R 1
T REN T REISME 1
TR ERmISEE 1
. TEEE
M INERE
| PERARERESE T
I POLE4REERZ
ERRUAIZS 1
BiR{RE 1
SRR/ IR E
B L(PT)
STORZINEE
REENEE
BEFIEEER
st .
1. BT MRESEssSRERE(ESC)



84 HIWIN Standard Single-Axis Linearﬁ:ltw'ug{alg}z 85

MM16TC04-2202

E1 EEE)3s E1RISE3R0H

ED1S-VN-0422-01-00 ESC-SS-501

O 3.2kHzRERFEZEfE O TH@EFRERE T
O RIFEEINEE O ZEZBEE T R Er (men
= 7N /I8 7N
O SENEBFEIIEE O MELZEHHEE(STO) R B8 anoncos SO1: B
O REEFME O ZERZERBEEAGE » W0:Digital ~ s: fmi SS: SIN/COS+A/B+ Biss-C+EnDat
b o, R . ‘CC_ P o F: 4843 -
O IBHFAVEEPIEHIThEE Analog ~ Tamagawa * EnDat#IBiSS-C IR ma )
piul--| e 1. EtherCAT ~ mega-ulink ~ MECHATROLINK Il B 4R4RELE ©
ESITE 1: STOR 238 2 IR X R B IS E BRI R R G
V. BE&GSRAKE REEBEL o
E: EtherCAT . ,
H: mega-ulink }Eﬁ_ﬁﬁ,%%
L: MECHATRONLINK Ill A ACEM
P: PROFINET 0: @AANAC- LM~ DM~ T™)
. . FTRINRE ACERR
1 EXSEREE Pl 3.2kHzRRE 2 e 6: ;%Ezg};iﬁ%g 2: 100 Vac - 240 Vac
— — N: EASTRINAE
EENEE R B RS ERBENEES - T :
" " B Emnme ACER
vy 64 \\\‘ I 'Il/ 122 04: 400W 2: B/ =48 toowst1kwieBs)
g \\ ’ [085.050*1US1UU‘135100‘18$1UU‘ZUCWO\ZUCZOO] 3: :$H (2KWEE AR 2k WEREHSR)
times hlgher \ - 10 100 TkW
1 7 — 23 : 3 (085100~105200~135200~185200~18C100~18C200+~20S300)
~ 201 2kW
s bits ’, bits $ T ~ _’150 (135300 185300~205500+205700)
/7 1 N //[“‘\\ \\ 15
- N \ -20
131,072 pulses/rev 8,388,608 pulses/rev -25
-30
e o o .
F—RESR it ESR g E %{3 E — 3 ) 2 k |—| Z Zg %EE ?.
-45
i SoHERY B BNaRE A REERHE [
#MITUEIHA TE@J.:H%LE& I~ BRE R AU AMREZTBEBNMTENRERR  IRESEEEFENG DD it
MEEHELR - ETIE A RIEMAE B o 5B REEAERAASIEFIE SR o ISR B MEE I
H3HA o o T b
& dh
esban TEETE
A - 106 . SR ™
/ . 7 RRRRIRAS R FETER
i _
] = PV — ARASFE TG
L Ll " ]
fiBH< ' SR
/ 098 - -
f BRI
/ ﬁiﬁmgﬁ 07 Please download from
/ _ 30%1?%%&%*,;@ 09 —L www.hiwinmikro.tw
- 12HzH H ok
/ - BOHZ B IR | sTomEA

@::

N — EEE HEGEE
: 50pin SCSHEEA

|—- BEPHERITHEEN &

5 T

SR AE1EEBNSSAES » B ATEES R B i i e iE 8 AR AR RN - URIES || ';J or ==
HUBEPI I RER o (Tamagawa) RFIARFESR N - AR SRS SEER A ME §
352 > AR RIEE TARIER(EE > MAELL(SIN/COS) ~ ggﬁﬁ

EnDat#IBiSS-CE4RIGES ©

AR (PLCIES B ) A EERIES (B A e

ARgA S
i Bne) -

) - SIN/COS o

2= (ESESRES) AqB(*) /TS(% L%L@innﬁ ERIRA)

B sl - EnDatl®) [ /BIEWESR

: 1 or
j,_q,‘—' j‘q,u BiSS-C(*) ]

EE’ HiES HigiES !

% l

BiE BiE2 BiE :3:7)

FE(*):BTHESC-SShRAS




86 HIWIN HIWIN 87

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

400W AmES ST SR E AR RS

fEAE R B i maes P
g B
AR AU
/ ' Cl i
50 50 ) (75 160 g = 52
6, 38+0.3 o +U. 's_"‘,-
3 LO— T [
it/ lxt %u'h /
_ (I 7/ Lo
l ﬂ]””””[ﬂ”[ﬂ“””””” Excellent Smart Cube(ESC) J?%ﬁ,
s 25 o o)
o % | \ v HH KA
‘ 7 RAHHER +5.0V+5%
| ‘FE%L 00 gqgonoooe BABHER 650 mA
=y T Rees v L BN EARAE s @
2 x M4, 2T Oeb s 7
2xM SR Hall U/ V/ W S’Rl[e\‘fe/r(z:agfe/ A/ B/ Index BiSS-C | Tamagawa En/D;at22.1
— s . 1 MHz
RAEIER 2 kHz (AR EI409642) 4 MHz 5 MHz 4 MHz
e AHTTE o
‘ 203 i BRAEHREE - - - 64 bits
DHHE H \___oeasodnchang ] BWARSRIE 5V CMOS / TTL ZBSE (RS422) ZENNSE (RS485)
U080 5 ij EERERERR (TS) PTC
BIERE 0°C to + 45°C
(75 190 N N
EN (R -20°C to + 65°C
i 2SR P20
¢ ] 00ooo0anao
i ok @y
| :
- (B 0ngrmpooon
B a7 mi HIWIN & 5% R
[\:ZL B {i: mm ESCARIE23 B4R HEOOEJUDA100 ESCIEIZE 1 ERBN 2RSS IEIRIR(1M) (CN7)
2kW | ‘
1EER ‘ ¥ Em R
j*tﬂ ﬂmﬂﬂﬂﬂﬁﬁﬁﬁﬁﬁﬁﬁﬁ% j'tﬂ "mﬂ ﬂﬂ Hﬁﬁﬁﬁﬁm%%;‘iﬁ‘—éﬁ“éﬁﬂg
=1 00800:= — 108005
/ 00n00Banaa000an / 0on00Ba0aoe0000
! =) ED 0000008 0 = EE‘ / nnannfm
i (75) 190 %- (75) 190

. (00000000000000000000

168
159+03

168
159+0.3

q U

E2)
a5
&
[
(i3

BE{iI: mm




88 ﬁ{mﬂzoz HIWIN 89

Standard Single-Axis Linear Motor Stage

E1#R1&:RAA

HEEEIMES 4L00W TkW 2kW EEEhRTHE 4LOOW TkW 2kW
AEEE AC 100 ~ 120 Vrms , 50~60 Hz (B IS
B ) " SRR
BT EE (Line to Line) AC 200 ~ 240 Vrms , 50~60 Hz IR ﬁ%ﬁﬁ%ﬂ@;ﬁ
prm—— oo ‘ s - IS (WERITEIE)
%atu EIRILAE +5.1 Vdc£5%, 700 mA
B | . g,a,; e AC 200 ~ 240 Vrms , 50~60 Hz e ERTIIERER FRATEE 123 bit (BERE S REIEH TUARASES) S5 15 MHz
B —iETEE (Line to Line) o ot —
e aneE AqBEAZHEENSE (MALEBITTLANGE) SAERAMASEES 5 MHz
BER A Arms) 146 | 33 13 = sa EERTREAL /IR
o 1 @/AC 100 ~ 120 Vrms , 50~60 Hz - 28 2 REEREGE  BERGE
1 @/AC 200 ~240 Vrms , 50~60 Hz (B EEE -2,147,483,648~2,147,483,647 (32 bit)
. HER 3 @/AC 240 Vrms max. ZEEARASEE AIEBEA(ESEE20 M counts/s
it BAEEE (W) 400 1k 2 ERGLEE EEEE ARSI ISR IR 3 IAR (ESC)
(5=
2= [N
R BB (Arms) i = i | SIERFIEIE B REELR(AGB ~ sin / cos) 2 BHSE MSATE R BT R S BT
Rz
BT E (Arms) 2.5 5.6 12 i SHMIEBAGNY 4 TEZEREGERY 5 BRI TRERE S -
HEST el i (a)21TI2 R85 — Rz
e | msemss PN
I IGBT PWM 2RI B4 2 | md R
e & |esnEns
PWMEREASEZR 16 kHz 8 kHz it TXiE) 1. R B BTIRMLIARIES (AqB) 2B (IEFENRML - BABHHIEE18 M count/s
AIEECEE AC/DM/LLM A/B#8 3. EEELLFIE S o 10 {E4RFESREE (L (encoder counts) it = 1EIEER4RRESSEE (] (emulated
LEDYRAERESE ATYBPIM $EIS / AIBPIE  ERENSS LS encoder count) Hith
LED L BB 4B TEELE e BB o )
B Eh e NS G SSIEERAT 20 mo -+ 12 USB2.0 (Mini USB type) BT B EIEBThunde g TR ST W B R R B LR (E
PIERENRS BN 23 B FE - 100hm/10W A KBS THA > S WA MBS £7511 51 05 (A 4RI T1 5 11 5)18)
LB VBB 2/ BRAREE 112 bit/ S BRI 10V / 450 2% / BRABIE £ 10 mA % 24.V/5 mA (B ARIIL)
YRR B M AT B ) At SABAZ L SN AT B EAE % 501 2I05AER24 V/0.1 A
Bl 5 Pulse/Direction , CW/CCW, AqB 0 (B ML)
. FRRETER HEES MEBBHE (PT) B A B S B BB SR U BB MR
AR ERHA KB REA — 400 W: EmPVERIE) 4 IR S BN
RAMAER Z8: 5 Mpps / BBl: 200 kpps - - 1 kW/2 kW/4 KW: R EI4E SR BT SMB IS B £ B &
B EEERLL AR ARPESSEE(L AR :1-1,073,741,824  4REEBREE(iI:1~1,073,741,824 % AEREI4ER - 40 Ohm / 40 W 12 Ohm /60 W
PO — T & HEE B HV > 370 Ve
N =
gl [EzE7 14 kOhm 5 RARAE 4 EAfRE +HV < 360 Vdc
% REEL ik +10 Vdc BEER(RE 390 Vdc
BE BRI ASEE 100 Hz SERCINAE BEFIRIENHEIEHITHAE
& 16 bit A/D B A (V-REF+/-) 12EBRE 0~45°C
R iz N E R EESS IR -20°C~65°C
e 14 kOhm % B IR VEBR{ETE 205 85%RH (R4E5EE)
BT il 50 +10 Vdc }i = #4R1,000 MR
RAHASER 100 Hz REN /\F20.5 G $BER10E500 Hz> HARSER TR Al & @& E A
R 16 bit A/D A (T-REF+/-) EYRhE SR IP20

E2)
2%
£
Ac
(i3




90 HIWIN HIWIN 91

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

D18Y5EERER

D1 E&Ehas
D1-36-52-2-0-00

O 100-240VAC EREIA
O 4% STP/DIR > CW/CCW > A/B BitiA& TS ( =8 / Bims T ) s .
O i 10V BERBATIES - ERREERIRES / AR SEEH | REH
B . AT S
O MEIERENE. MHRBLE 36:36A 00:4
B E B R FRAE
SZERRRS232 (EE @A E) 0: EIMIEER R
E:EtherCAT (CoE) 1:High profile (H1)
F:EtherCAT (mega-ulink] . .
J HAEE
RS ESFANE 2:E/=#H220Vac
2:Analog
3:Digital
={E(ETHR SELLARIESS A RN ERRUA T 2 RN E 4:Resolver
DI H—EBRANE S FENRE(ETA o (87 (ERERRES R » (REM{EESEEMRITE > DI Bt | GRS ET R AIRMAR B A SRR REXN AR RKEREEES -
LUE AR IARERINGE » FPCREATERHAE BIRF KU TERES] o
BEEREE > KR KRERERSRERR 2 REE
miE B REREH RS EF o
D1EEEh st (ARG s IR R = METNRE » W HIRHSIZE16000MHERES -
FEAIEINSEM E B R R AIEHIERE T LEER RV E (B EERIREL ©
nalysis i nalysis ACC ﬂ.:,f:. — Duu
J e e iy = o L] — ez vccs) P
w - ol =B ke el
= 35 / = 35 _jg\;&gg MTEE X E
§ 30 % 30 = 7 (2FE)
w > B KL : \EE LED
£ Tg // . : . % /_/ i}?;}‘éfﬁReady/Error
10 // 10 ? 1 > —%ﬁﬂ}%ﬁ%%&(MC) -
5 5 - : E-ﬁt PC
0 0 ; .. fatos e . EFIRS-23281258
RenishaaAnalysis-ﬁ;U " . zugg(ésﬁ) RenisnaaAnalysis-ﬁ:n b . zugmsw e e () Lightening
#BIERD EER Anm
1EAERY e
Bl Y 5101 [ A iy il 5201 C H 3
2] ] ® 5 = (maRt)
oHa, Snen E] Ell—
| o L |
% o N é v B E
i e 2 : m < 2 n o
S —@ o, |EE "L"@/
& H @_ i Tl s
N — 4 LooE ey :
4 N = %ﬁ!’* C = UVWEBRORAIE s/ B RIEE
(RIE B RIR AR () l@/&%g IR AR IRLR ()
EE (1£82) /
4 -
I 1T ~ g




E2)
2%
£
Ac
(i3

99 HIWIN

MM16TC04-2202

D1ARISERER (B RER & RIEFMV3.0)

HEYD1 D1-36
BEHE 100 - 240 Vac £10%
) SASREE 47 to 63 Hz
2 s 100r30
= R B +24 Vdc £10%
PERIARE TR 1A minimum
I BEER 12 A_amp [8.5 A_rms] [&: SMEHEERR]
% BRI B 36 A_amp [25.4 A_rms]
| GERIEE SRR | 18 maximum
EEEh 2Rt Rr 1~2
EEsEERME 3~4 b
FEEZES AR | IGBTPWM  EREEEH
ZEHISERR 13 bit AC RIFRBE ; BUFIE ; BIEFE
YREEHSTRLED BBBhaikAs | ALE® © Error; 4%f® : Servo ready
5 ARz (19> 19M] [110 > 11OM] ZENERATK 19 ~ 110 EEiRERA
AR 4E < R0 Pulse/Direction ; CW/CCW ; AqB
| BA | pE| DA s o
wl B | AMGE -
BR| e | w0
wTELER LI EHIZR R E 2 IR
e :Jigﬁiﬁ552.12%586;6/1;C70[’J2t05unt5 : 1~2147483647
stk AT | 10
EEEEEE | +10 Vdc
A
PON PFEIEE | 2.2 us
FRITE | 12 bits
% PWM | 19 : PWM = 0% -100%
5 - 100% | 110 : AMA=1/0
& f;;\i PWM | 19 : PWM = 50% = 50%
PN 50% 110 : #EINAE
SEFEE | 36.5 KHz minimum 2 100 KHz maximum
AREEPRE] | 220 ns minimum
T ELER L EHI2R R IE 2 B PWM

HEID D1-36
fALEA DT FEREZEHIER
#
7
% (U< EREZEHIER
=
=
SOEER | LARHIBREI BERPWM
RIFER +5 Vdc + 5% @400 mA
4 BAfSSE (A2 /A2 B>/B>Z> /7> RSL22EBNSE
4= i 7=} 5 MHz line frequency > 4fZ58220M count/s
£ | g WAJRE | 1Vep(sin/cos) - EBEN
& $EE 1 MHz maximum line (cycle) frequency
R |t
fRTEE | ®RK 65528 counts/cycle
Sin/Cos » ZEN=5%
Resolver
Reference 3KHz » 6 Vpp 100 mA
-2147483648~2147483647(32 bits) » {BEiE RZE
(TR L gz E] 2 ‘ (32 bits) » (B EZEME R ZETEL
HERE > RETIIEREF
ABABMEFSR EiEiS S AR S As A ST SR e LT HI2s > &
N KR18M counts/s © B{UAqBE#HIL » AEENSREL o ZHE5E
Z;;; Eifbypass EIERES - AETMRBY, -
. T | mEs e SRS R R I SR L R L AOTE
4R hE
RS BSR4 1002 (ns) o
i
B®RA18 M counts/s EfiiAqBEHIH » AZEBNATFEL o
itk fRAfE A AL 4R EE28MIgrating period/4 ( ¥ grating period
Zgé% =40 um > BIAEEARISISH HABRITEE = 10 pm/count) o
o EEBh 22U B BB EAR DS 23 51U 50 M i AR 15 23 86 HH Al i 88 HH BT3B
B/ D 100EFD (ns) o
K18 M counts/s EXfiiAqBEAIH » ZEBEIREIL ©
Al EARIS e A PSR IS 23 B 2 &I TLEBIEREE » 218
A EE AR Index sEEEHL ©
HEMEEMS > 217122 B—Bindex (Z48) i o
B RIS 238

HiFEEEMS » A TVMERRZ— !
(1) 2F2E2E—E index ( Z48) #H -
(2) 8—BE—@E index ( Z1B ) &L o

EEBhes1Z N B R AR B2 5TL 5 1 R AR B5 23 Al HH B3 880 HH B FE 38
R 2466.67 us ©

I EMEIR

HHZE120° Z BIHBI{E57 HA > HB > HC

HIWIN

Standard Single-Axis Linear Motor Stage

93




E2)
2%
£
Ac
(i3

9 HIWIN

MM16TC04-2202

HEID1 D1-36
VSRR es > iirsEReE | 0.1 Hz~200 Hz
_ BRERE 0~50 °C (BIBIE#BIB55°C » FoaFIBBTREER )
= WEBE | 20°C-65°C
ii R 0to 90%RH (FAE )
5 3 SSIR1000M LU F
f b 16 (10 to 500 Hz)
|PE4R IP20
RENRIR BARR KRR @M R A

52 1,250 g (min)

Rt 191.6 mm X 139.8 mm X 64.8 mm

HhR FIECE U.L. Spec 94 V-0 Flammability Rating

HEID1 D1-36
i N RS232 SRS IEAR
B E 2T > #1589 600~ 115,200 bps > ZiEHIIRT
Gl TLHC14 SEERASHESREAA
2 ESQUETIN Inputs [11~16 10111 » 112] [19 » 1101 10 {EEMLEA
X = B9 0 110] AAREE AR > EAU—RRI/0FRE
Ii(\) s 0.3 Adc max » +40 Vdc max (open drain)
N [01~03]
[ e Brake [04] » 1 Adc max
EAERBEE 32K Bytes
BHHGFRE 800 Bytes
% SRR TFBLBIBUEE [ 32 bits
2 ERBAIAE 1 16 K32 bits » W B IBERERIEIE
R HITHEER 66.67 us
w STHM Al T4 task
B} | BRXRREEES | AFIf else > while 8 > forl@E > goto K tillEE ¢ EHIT2 IR
(PDL) EHT SEREAHYENT  BEENT  LRERT
Z2TRSH BEHBLockKUnlock 159 A1#EHI2 TIEXMES
R FORERSE | 87 17 ~1FBEB {24 ~proc® 124 Fio
ErR %
= EBERE +HV > 390 Vdc
i RREEEE R +HV < 380 Vdc
= Hysteresis 10V + 0.5Vdc
H HiEERE 1880 uF
¥EB% > IBEEE(> 400 Vdc + 5%) » IRFEREBK > HRiGRERE
TReEHH| » BIEIRRIERE - lBE2SIEE (IGBT >80°C+3°C) » BiEBA
» BEARRE (< 60Vdc) » 12T BRIREIFE
w8 EREE AR
= wEsX BIRER  SREGMAIESE > WERSRZEE
W EFERE 5%5,000 24
T EeRCE Flash ROM » fH g2
I BB um > count
BE ReEh AR REBER IR BLSTA B AR B » SMNEBE A S SRRREN

HIWIN

Standard Single-Axis Linear Motor Stage

95




96 HIWIN HIWIN 97

MM16TC04-2202 Standard Single-Axis Linear Motor Stage

D2T-LM BBENES . B
D2T-0423-S-B5-0L

RIS AR IEIRAR (D)

" e o ORERBERK
- REEEHRIEE

BREZEEEN - .
D FEEBH wme Bl
= - ; " 04 * 4LOOW OL : 43 BERTYIER
AN ERAINEE (085050+105100~135100+185100
IBHREIINAE 200100200200
B Feain b R R AR TS 25 1 (085100~105200+ 135200~ 185200+ AR as 7T
PDLZ FE4IE= 18C100~18C200~20S300) 5 BLAITTL (AgB)
(A BRI FRERIRER)
BAEIR HAE
23 : B/=#8220Vac 5 ° 400W
RN E C: kW
S . BEGTRIME
400W ‘ 135.5 E : EtherCAT
5 F : mega-ulink
Standard PoAnAfnaag
A | i3 | ISR R AR AG B S ERERIR Rt AR ERIERALE o
a :, \HREH | = |
o 5.41.8:0.1 60 = D2T-LMAREC 4R [E]
ag) ’m——. =4 w0 5 41.8+0.1 180
F s lid AxlinlninlejuRalafinlalals] ‘Q 60 &
HH[HH”HHHH H T [gl| —enszzzimece)
[ ;;T:JI il
o . : o
o S | — R
=| 0 ol5
S 1 [ <4 1 SU RDY LCDEERE
7 H < — BRI EMC) WS RS
- 4U0zgpogone
SER AEH88EE Dg Hg B "
E ‘ Label L For @ — BHAR(L) SEELED
g e @ gﬁ?%ﬁ'\Ready/Error
g T 1 ® (CoEHTEASTAT)
ez U mi
T1KW 181 | ¥ 3 = EIEPC
| M o 1 R
Standard £% 101 % Ml © 1 Fres
= PONTELE © 14 B o3
& ImEhoniry = = -
R s N Q1 AL TR
=] —_—— \._ = I g : | www.hiwinmikro.tw
_ 6528101 . 227 - 1 <t | I
L _ E n JBIZIT
X —_L—_ @ : iE%8850pin SCSI
ﬂfﬂﬂmﬂﬂ%ﬂﬂﬂﬂ Ed (RS
m_; o ﬁ{ﬁg‘“ o — .
™ | e .
Sio li 3 27 ay;gga%:ﬁ:
3 el &) DC24v %I“I
2 (GhERIR )
= . [] ! |
5 = R ‘ | |
\ T | I
% < ST N deots \\ e
i
%




98 HIWIN

MM16TC04-2202

HIWIN 99

Standard Single-Axis Linear Motor Stage

D2T-LM#REEREA (2 REREIREFMV1.2)

RAWA | E2RR  BCR | RE/SH) 2002407 S0/60H: O VSFATHIR EEDBIZ AT & A SO RIIRE « FEEEA AT AL 2 59
220v B R B.CHE E848> 200~240V » 50/60Hz e DURFHEEEES o
B BAZ: 400W; CHE: 1.0KW — BEERS RS ()E—RE MR (4EiERER
e EEE R BAE: 2.5Arms ;CAE: 5.1A rms . = (BIE—RE R (GREES (7)EERER... %
R P— P — & P8 (VERRE QREHE QERE WBEERE..S
. ol g PWMEA EESSHA | EEASTLUPWMBAGEILEM » SHAREHRGS A o
I S »e *ﬁ ‘ﬁn?A \ ';E @é’ B H 3 % Ear—1 ?A Hl o
- BIERE: 0°C~40°C (EIBIEIBIA5SC - MR BIBIE T RIEE) | EHEA mEmewA | o ARERESRR ) SHARELAKD SR
= 1B . -20°C~65°C (+/-10Vdc > 12-bitsfRAfTEE)
BB RE 0 to 90%RH (45 EE) FREER FISREREAA
— O S— , (VABREREY (25— HE —1M3iR (3)4BRRBIR
mE HEHR10002RUT EHIEA (E—RE MRS (5 RE B (o)GIERRIR. .. 2
REs 16 10 to 500Hz) 2 T (VERRSEE QBEHE EEHY BEERE .S
- R STRE LR I i PWMESA HERSWA | SEHSALPWMEAIEZE LR SMATRE hEI R AR o
= TSI IGBT PWM Ze RIS @ 424 i S sEmon, | EPSILBLEESREL SHTREILAIRE-
B I S
% Bl BATTL g [ +/-10Vdc » 12-bits BRAREE)
ERRRIHA s 5M pulse/sec (EIESRAT] ; 20M count/sec (PI{&5at) R ERAITAE FIRERERAESH
i 91 R TE SR A A BT AGBIE T iR AR S 2R O g Ea AMERRE (B CHESEZEEREAA18M count/s)
- i (B EEs iRt (QUBEE (>390Vdct5%  (MIBREBA
papmg || 10EEA P ()REER R (5) 12T B FRARAIR 3% () BRIt
B | SEEE R (7)EBEN221E8 (IGBT> 80°C+3°C) (Q)EBEFRE
o vt |18 A OUFIESRSVERRES (0GB ES (1) RFEEREAR S
AIl |
e | IS - RS 08 RERSLRENSEE
o sl el e e BARAREAE: 32KBytes
g | WAB | 28 (EHAE Em e
Lol e AU L il T FEOBWUR: (TR 32bits (2)EHEAE 16 8 32bits
KEEEE | ZEIAR i AIE S HEE AR AIA) IRA R BIE AR TR s o (Q)SZIRFEM K IER
BERE EARBERE REMEEERAREEME. f2stiE i8R (PDL) FTIBRA - 86.6Tus
@R UsB IR, 115200bps PIRIRS $T4fBitask
AR 28 = LD 22 H HEif+ else > whilel@[E  forilE[E ~ gotoMKetillFH5 < HEHIFZTUMIE
ER/E TR =gl SR & SEEAENEET  BEEET LREET
T BELockKUnlockiE S RIIZHIZ TIEXMED
et [1111‘15}":::%'] B ()R (3)HRAE e S MEFTRERS: (1)E87: 17F7T (212HA: 24 F7T Blproc &: 24 F7T
GIE/EEES)  (SE/AREEE  (GEE/ BB Pk BIRE RS IIEE S e s e
BERELESS  (2FEREE (3)E— B = 1 i 77 RE#L: £ 55,000 7
PR A WEFERILEE GIEEREE R ERR (I EREBBKR(Error Mapping) | HTFMIE: Flash ROM, IEREAEEE
(7R (85 ERRIRS. .. (L. count
PEE ERRRE REZHE QICHY WDEESHY 2 BB ;A ED R R B A S S e R A A%
o BAWA | HESBNESAEHBA: 250kpps ®E AR RAREEERE-
?EE MBS PR SR Line driver/ T EIZEFHZENEIA: 4Mpps ( AqBEFE16M cnt/s) O BT E +HV > 370Vde
1& AR H . . S AR BRI +HV < 360Vdc
WB EER/ AT (Pulse/Dir) (ITER/RE (CW/CCW)  (31A/BH8 (AqgB) iy——— :
& AR =18 T BEREERE B#E: 820uF ; CHE: +HV <360 Vdc
Mepien | o
5B R %%%Eﬁ BRERLL : pulses/counts
% gﬁgﬁ";@j\] pulses: 1~2,147,483,647 ; counts : 1~2,147,483,647
55 TEAKE | TRERAS: 1-500
4




100

HIWIN

MM16TC04-2202

BRI A=

HHWN101

Standard Single-Axis Linear Motor Stage

SSA-08,10,13,18,20 SSA-18,20 SSA-18,20
#oLEiE #ONEE \HOXEE
Signal Color Signal Color Signal Color
White Black-2 White
u Brown u Black-1 u Brown
Gray Black-3 Grey
GND Shield GND Green / Yellow GND Shield
T+ Yellow T+ Black-5 T+ Yellow
T- Green T- Black-6 T- Green
Shield Shield Shield
=| e
it BER el A 412 [
BROWN g 12~24V
—
BLACK  _e OUTPUT
~._BLUE o OV
13 PR A A
,\ L Work Function Signal Color
—
/ ‘ “Limit/-Limit | power 12v-24v Brown
"‘7 , / Near home oV Blue
sensor
Output NPN / PNP Black
v VAN
A 5 88 LH AR 2R (T & Hh AR 4A1)
o] EEEE D-Sub 15-pin D-Sub 9-pin
. el Bf BiSS-C
D-Sub |.1ﬁ.‘ nne. ADH E,G.K p
9-pin I3 1 Sin- : -
[si 31
(Male) v 2 Cos- ov MA+
3 VO+ - MA-
4 5V Z- 5V
.52 16
D-Sub | T F '] 5 5V B- 5V
15-pin @ _T 6 - A- SLO+
(Male) | 7 - 5V SLo-
8 - 5V ov
9 Sin+ ov ov
Eg 10 Cos+ - -
Einy 11 Vo- - -
9]
28 12 ov 7+ -
£ 13 v B+ -
Fc 14 - A+ -
(G5 5 - - -
Plug housing | Shielding Shielding Shielding




102 HIWIN

MM16TC04-2202

HIWIN 103

Standard Single-Axis Linear Motor Stage

BRI AR S 2R

BB ML B ARESES

E2)
2%
£
Ac
(i3

[ IvES - [ IvES
Housing - Signal scsl BIZRUAES Housing Sellr Signal scsl ERIERCA
(F) otor g 20P(M) D1EEEH22 (F) ¢ 20P(M) D1EREHSE
1 Brown T+ 14 1 Brown T+ 14
2 Blue T- 15 2 Blue T- 15
D-Sub . D-Sub .
15P (F) Color Signal 7 5 15P (F) Color Signal 7 5
Brown | Brown 5V 3 |
7 Green v 3 12 White ov 2
White o) 9 Green V1+ 16 o)
2 Yellow o 2 ﬂ:lb: 1 Yellow V1- 17 a:tbj
14 Gray A+ 4 10 Blue V2+ 18
6 Pink A- 5 HERESE(E - KERRMR 2 Red V2- 19 HERIER(A D HIERZ R
13 Blue B+ 6 3 Violet VO+ 8
5 Red B- 7 - BE ] Grey Vo- g — HE
12 Black Z+ 8 0.4M 2M Y 15 Inner Shield 20 0.4M 2M 4M
4 Violet z 9 D1 HEOOVJQ81100 | HE0OVJQ84200 | HEO0VJQ84400 Case | Outer Shield 1Case D1 HE00VJQ86300 | HEOOVJQ85600 HE00VJQ85700
3 White/Green Ezf:;i:r 18
15 Inner Shield 20
Case Outer Shield 1
S FHLES ’%/Eﬁ‘ﬁ%ﬁﬁ%%%
Housi .
O[LJFF>]II'\9 Color Signal zgg[shllll }’Eﬁlh
OIS 1 Brown T+ 14 D15E§1J%§
Housing . SCSI |, _\,_ 2 Blue T- 15
(]) | Coler | Signal | Hoppy) §i1u7‘c§/ﬁzz’|’$ﬁﬁﬁ%%§ DSub :
15P (F) Color Signal
1 Brown T+ 14 @52
2 Blue T- 15 Im ~ Brown 5V 3 14 o
R e 12 Whit ov 2 )
D-SUb | eglor | Signal D15EEh2s ite ,
15P (F) 9 Green Vi+ 16
©
Brown 1 Yellow V1- 17
7 5V 3 B .
Orange J 10 Elude V2+ 12 ERRGEI2E
White o 2 el V2-
Vv B 1=
2 Black 0 2 | ’ 3 Violet VO+ 8 ©
14 Green A+ 4 1" Grey VO- 9 A ) )
6 Yellow A- 5 Q 15 Inner Shield 20 o b
13 Blue B+ 6 B ETERUAISE Case Outer Shield 1,Case Bh=
5 Red B- 7 a2 D-Sub 1ol Signal
12 Violet Z+ 8 B 9P(F) olor
© 3 N o8
S S P — L B w3 HIEEIES (A DIE RIS
3 Pink | Eqcoder 18 y 2 White | HallA 1 wE
arm © FeEnaR
15 Inner Shield 20 = 3 Grey | HallB| 12 0.4M M Y
Case Outer Shield 1 4 Yellow | HallC 13 :
D-Sub . 5 Green | OV 0 D1 HEOOVJQ86400 | HEODVJG85800 |  HEQOVJQ85900
9P(F) Color Signal HRERIER(E-C KL B4R MER Case Shield 1
1 Brown 5V 3 wE
2 White Hall A 1" L]
3 Grey | HallB 12 0.4M ™M M
4 Yellow Hall C 13 D1 HEO0VJQ81000 HE00VJQ87200 HEO0VJQ87400
5 Green ov 10
Case Shield 1




E2)
2%
£
Ac
(i3

104 HIWIN

MM16TC04-2202

(AN ES NV 5
LN BRI R E1/D2TEEEN2S
D-Sub ignal  R-36210
15p [F] olor Iigna [F]
7 Brown |=; 1274
8 Pink B ! Al
2 White
9 Black o 2 o
11 Orange | PS+ 3 BOF
3 Clear PS- 4
14 Green A+ 5 HRERIERR(EG KL R4Z MR
6 Yellow A- 6 P
13 Blue B+ 7 EmEae ol
5 Red B- 8 0.4M 2M iM
12 Violet Z+ 9 D2T/E1 HEOOEJ6DFHO0 | HEQOEJ6DF200 | HEOOEJ6DF400
4 Gray Z- 10
15 Inner Shield 2
Case Outer Shield Case
[ARES
D-Sub | | signal [HDIVGA
a R y-E) M4 N
15P (F) 26Pin(M) BINBP/HIERESE  E1RREsetEiRa(ESC)
7 White v .
8 Green z
2 Brown
v 1 9 o
9 Yellow 0 : /] \
14 Grey Vi+ 19
6 Pink vi- 20 © o
13 Blue V2+ 21 = =
5 Red v2- 22
12 Black VO+ 3 oo
J Viotet Vo- ) HERIERS(E G K)IERAZ M5R
11 White/Green E+ 7 BE
3 Brown/Green E- 17 feEha 0.4M M iM
15 Inner Shield 15 HEODEP.(TDBQOU HEOOEKTDB200 | HEODEKTDB400
Case Outer Shield Case &1
[ARVES
D-Sub : [HD)VGA
1sp(F) | Color | Signal o pinim)
7 White | . B M AR RS S E14RHSes FSRERR(ESC)
8 Green Q‘:[tc/
2 Brown
9 Yellow o 13 - O:;G
14 Grey Vi+ 19 /| \
6 Pink vi- 20
13 Blue V2+ 21 © @
5 Red V- 2 S EWRRCRZE =
12 Black VO+ 3 B
4 Violet Vo- 12 ©
1 White/Green E+ 7 A4
3 Brown/Green E- 17 @)
15 Inner Shield 15
Case Outer Shield Case
D-Sub } HIERIEES(E G KIERAR Mm%
9P(F) Color Signal
41
1 Brown 5V 5 EEEN2s i
2 White | HallU 8 0.4M M 4M
3 Grey HallVv 18 E1 HEOOEKTDAQOOQ HEOOEKTDA200 | HEOOEKTDA400
4 Yellow HallW 9
5 Green ov 14
Case Shield Case

HIWIN

Standard Single-Axis Linear Motor Stage

TS FELL LB /R N/ ETRIEES E14RAEaRSRERAR(ESC)
D-Sub : [HDIVGA
15p(F) | Color | Signal 1o miiv) B :.:.&_mj:.
4 White | 4 Ale SR
5 Green 5
12 Brown o 13 ® ©
13 Yellow 14 Em= = ©
9 Grey V1+ 1
1 Pink Vi- 10
10 Blue V2+ 2 HFEARISES(A D H)IERAR M 5%
2 Red V2- 1
3 Black | Vo« 3 — BE
11 Violet VO- 12 ’ 0.4M oM M
C1355e ['j"u”t‘:rri:'lzll‘j S:Se E1 HEOOEK1DAQOD | HEODEK1DA200 | HEOOEK1DA400
[ARES
o K AY 2 =
55w | oo | gmat | HONGR SR EVRRE S NSREHAR(ESC)
15P (F) 26Pin(M)
4 White 4
5 Green v 5 Q‘:[D;/ :.:.&_ﬁ
12 Brown ov 13 Vd & © \
13 Yellow 14
9 Grey Vi+ 1 5 ©)
T e | Ve T - ERE A .
2 Red V2 1 Bl
3 Black | VO+ 3 i _ ] 7
11 Violet | VO- 12 “ o |’A -
15 Inner Shield 15 .
Case Quter Shield Case
[;;:S[:]b Color Signal %EE%%E%%S[A\D]LEE.@&%E
1 Brown 5V 5 BER
2 White | HallU 8 mmE 0.4M M WM
3 Grey | HallV 18 :
7 velow T Harw 9 E1 HEOOEJVDAQOO | HEQOOEJVDA200 | HEOOEJVDA4OO
5 Green oV 14
Case Shield Case
RBECEB(Biss-CIRISEE  E1/4RRESSHISEERa(ESC)
AT @ma/ :.:Xm
A M
D-Sub | Gignal | (HDIVGA
9P (F) el 9 26Pin(M) 5
(e)
4 Brown 5y 4 =:mis = b
5 Brown 5
8 White ov 13
? | Green 1 HREEIES (PIERRS
% Gray DATAS 23 3 J1R 1S K AR
7 Pink | DATA- 24 B
2| Violet | CLK+ 7 R o Py ™
3 Blue CLK- 17 :
Cose Outer Shield Case E1 HEOOEKSDAQOO | HEOOEKSDA200 | HEOOEKSDA4O0

105




MEMO MEMO




MEMO




B iRt BEE AT o il

HAREER : 20194038 F—hRFN1T
20224028 FIUARENTT

1. HIWIN R4 HIREME MR - F7BERE AR E RS -

2. FBUGRFRHENE - RRERGREREREMER  BREEANRMERIMNANRIEFH LS
1EBYIER -

3. AR BHE FEBMBIZERMRMEER > HWIN RAGERBEHE - FZHO HIWIN
SEERBREIHOMNESR » EIRBERERAEERMPE RO » EREHIEEERS
BizF ~ £16 - REBEERHBZA °

Copyright © HIWIN Mikrosystem Corp.



HIWIN.

SRMEZRIBZIRAS

EE BSE
HIWIN GmbH
OFFENBURG, GERMANY
www.hiwin.de
www.hiwin.eu

BE #F-RR-25E - REF.
SRAb - R - dLpE . =S
8 - BEE

HIWIN JAPAN

KOBE « TOKYO « NAGOYA « NAGANO
TOHOKU « SHIZUOKA « HOKURIKU «

HIROSHIMA « FUKUOKA « KUMAMOTO, JAPAN

www.hiwin.co.jp

B Zme

HIWIN USA
CHICAGO, U.S.A.
www.hiwin.us

FAF K

HIWIN Srl
BRUGHERIO, ITALY
www.hiwin.it

FEBHORABTREEREZE > BABITIEAN

It B

HIWIN Schweiz GmbH
JONA, SWITZERLAND
www.hiwin.ch

% milsh
HIWIN s.r.o.

BRNO, CZECH REPUBLIC
www.hiwin.cz

EE SERHIHETE

HIWIN FRANCE
STRASBOURG, FRANCE
www.hiwin.fr

IR

HIWIN SINGAPORE
SINGAPORE
www.hiwin.sg

BE KR SR

HIWIN KOREA
SUWON - CHANGWON, KOREA
www.hiwin.kr

FRE B

HIWIN CHINA
SUZHOU, CHINA
www.hiwin.cn

U@y mik
Mega-Fabs Motion Systems, Ltd.

HAIFA, ISRAEL
www.mega-fabs.com

AR BRAERLE

HIWIN MIKROSYSTEM CORP.
408528 PTG B I E [E 5T IR 65
Tel: 04-23550110

Fax:04-23550123

www.hiwinmikro.tw
business(@hiwinmikro.tw

Copyright © HIWIN Mikrosystem Corp.
©2022 FORM MM16TC04-2202 (PRINTED IN TAIWAN)




